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ẋ = f(t, x, u), t ∈ [0, T ], x(0) = x0 ∈ Rn, u ∈ U ⊂ Rr. [1]

*���� ��� ������� ������ U � ��� �����
� ����� x0� f 
�� ��� ������
� ���� T

�� ! ��� 4�� ������ u �	 
 �������� 	������ �� ������ �� U � �� ����
�� ����
����������	 τi� 0 < τ1 < τ2 < . . . � ��� 	�
�� ����	 
�������� ��

x(τj+) − x(τj−) = g(τj , x(τj−)) [2]
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	����
	��� 
		�������	 �� ��� ���� �����	 τi 
�� 
	 ������	" 7���� τi−1� ����
τi� i > 1� �	 � �������
��� ��	�������� �� [τi−1,∞) ���� �
�
����� &�����	���'
λ(i) > 0� 	� ��� ���	��� �� τi = τ ≥ τi−1 �	 λ(i)e(−λ(i)(τ−τi−1))� 2��������
τ1 �	 � �������
��� ��	�������� �� [0,∞) ���� �
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����� λ(1)� �� �	 
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max
u(.,.)

E[

∫ T

0

f0(t, x, u)dt+
∑
τj<T

g0(τj , x(τj−)) + h0(x(T−))] [3]
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�� 809 �%�
�	 x(t, ω) := xu(t, ω)� ��� 	������� �� ��� �%�
����	 �� 8.9�8=9� ���
u = u(t, ω)� 4�� �������� xu(t, ω) �	 ���	������� �� 	������ 8.9 	����		�����
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 ������� û(t, x, p) 	��� ��
�

û(t, x, p) �
 ���3�	 H(t, x, u, p) := f0(t, x, u) + pf(t, x, u) ��� u ∈ U. [4]

&�� ���	 �
 ���3
����� t, x, p 
�� ��	� �
�
�����	 �� ��� ��������' 4��� ��� �	
����� ���� ��� 	���
���� ��
�
�����	��� �%�
����	� &,���� Hx�g0x�h0x ������
��
�����	 ���� ��	���� �� x� gx� �	 
 +
����
� �
��� ���� ��	���� �� x� 
��
I �	 ��� �������� �
��� �'

ẋ(t) = f(t, x, û(t, x, p)) [5]

ṗ(t) = −Hx(t, x, û(t, x, p), p) + λ(j + 1)p

−λ(j + 1)[g0x(t, x) + p(t; t, x+ g(t, x); j + 1)(I + gx(t, x)],

[6]

���� �����
�� ���������	

x(s) = y, p(T ) = [h0x(x)]x=x(T ;s,y,j) [7]
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��	 �����	���" >��	� 8@9#8A9 
�� 	����� �� [s, T ] ��� j = N �
�� ����� �
	� λ(N + 1) = 0 
�� 8B9 ������	 �� ṗ(t) = −Hx(t, x, û(t, x, p), p)�
4�� 	������� �
�� x(.)� p(.) ���
���� �	 ������� x(t; s, y, N)� p(t; s, y, N)�
4��� 8@9#8A9 
�� 	����� �� [s, T ] ��� j = N − 1� �� ���	 �
	�� ��� (���� �����
���� p(.; ., ., N) �	 ��	����� �� 8B9� 4�� �
�� �� 	�������	 ���
���� �	 �������
x(t; s, y, N−1)� p(t; s, y, N−1)� 4��� 8@9#8A9 
�� 	����� �� [s, T ] ��� j = N−2�
���� p(.; ., ., N − 1) ��	����� �� 8B9� ��� 	� ��� 4�� �������	 u(t; s, y, j) :=
û(t, x(t; s, y, j)� p(t; s, y, j))� j = 0, 1, . . . � 
�� ��� �
����
��	 ��� ��� �����
�
�������	� &���� ����� ����
������
���� �
����
��	 ��� �����
����� 	�� <��
�(
= �����'�:� �
�� ��� 	�������	 x(t; s, y, j), j = 0, 1, 2, ... ��
�
�����	��� 	����
����	� &
�� u(t; s, y, j), p(t; s, y, j)� ��
�
�����	��� �������	� ��	��������� ��
��
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������ ��������	'� >��
���� (x(t; s, y, j), p(t; s, y, j)), j = 0, 1, ... 
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���� ��
�
�����	��� �
��	� 
�� (x(t; s, y, j), u(t; s, y, j), p(t; s, y, j)) ��
�
�����
�	��� ������	� &��������	 ��� ���� 1� ����
�1 
�� �	�� ��	��
� �� ��� ����
1��
�
�����	���1�'

��	
�� � ��
�
��������� �������  ���� 
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C�� �	 	��� ��
� ��
�
�����	��� ������	 ���� ��	� �� ����
������
���� �
����
�
�� �������	� &1�
����
��1 6 �
����
�� ��� �����
����'� >�� ��� ����� ����
��
� ����� (0, x0)� ��� ��
�
�����	��� ������ x(t; s, y, j)� u(t; s, y, j)� p(t; s, y, j)
���� ��	� �� ����
������
���� ��������	 x(t, ω)� u(t, ω)� p(t, ω)" �	 
��
�	�
ω = (τ1, τ2, . . .)� >�� t ≤ τ1, x(t, ω) = x(t; 0, x0, 0)� >�� τ1 < t ≤ τ2�
x(t, ω) = x(t; τ1, x(τ1−, ω) + g(τ1, x(τ1−, ω)), 1)� 5��������� �� ���	 �
��
���� �� �����
�� �� �
�� ��
�� ��� τj < t ≤ τj+1, x(t, ω) = x(t; τj , x(τj−, ω) +
g(τj, x(τj−, ω)), j)� >����������� &��� τj < t ≤ τj+1'�
u(t; τ1, . . . , τj) := (u(t; τj, x(τj+, ω), j)� p(t; τ1, . . . , τj) := p(t; τj , x(τj+, ω), j)�
�� ���	 �
���� 
 ������ x(t, ω), u(t, ω), p(t, ω) �	 ���
���� 	��� ��
� ����		
��
���������	 	����!�� ����� &4������ .' 
�� 	
��	!��� *���� u(t, ω) �	 
 �
��
���
�� ��� �����
����� �� ��� ���������� u(t; s, y, j) ����	 ��	� �� 
� �����
�
������� u∗(t, ω) �� ������� 8.9#809� &����� �� �
� ���� ��
� �� ���	D'� �� �
��
��� ���������� u(t; s, y, j), j = 0, 1, ... �����
� �� ��� �������� �

!�
	��� � 5��	���� ��� �������"

maxE[

∫ T

0

−u2/2dt+ ax(T )], ẋ = u ∈ R, x(0) = 0,

���� 
 ��		������� ��� 
 	������ ���� ���
��	 ���� �� x(t) 
� τ ∈ [0,∞)� ����
τ ����� � �������
��� ��	�������� ���� �����	��� λ� &���� ��� ���� ����� τ �	

E



��	�������� ���� ���	��� λe−λτ '�

4�� �
 ���� ��������� ����	 û = p� 
�� ��� ��
�
�����	��� �%�
����	 ���
j = 1 &���� 
���� 
 ����' ������	 ṗ = 0� ẋ = p� ���� p(T ) = a� *���� t
���� ������ ������� ����� *����� u(t; s, y, 1) = p(t; s, y, 1) = a� x(t; s, y, 1) =
y + a(t− s)�

?� �� ��� j = 0� ��� ��
�
�����	��� �%�
����	 ������" ẋ = p� ṗ = −λa + λp�
���� p(T ; s, y, 0) = a� 4���� p(t; s, y, 0) = a+Ceλt ����� C �	 ���������� ��
p(T ; s, y, 0) = a� 	� C = 0� 
�� p(t; s, y, 0) = a� 4��	� u(t; s, y, 0) = a �	 ���
������� 
�	� ������ ��� ����� ����� 	����� ��� ���� 
	 
 	�����	�� ��F�����
���������	 ���	����� ����� &4������ =' 	����� ��
� ��� �����
� ������� �
	
���� ������

?� �� ����
�� ax(T ) �� ��� ��������� �� ax(T )2/2� ���� 1 − aT > 0�

�	 
����� û = p, p(t; s, y, 1) = p(T ; s, y, 1) 
�� x(t; s, y, 1)) =
y + p(T ; s, y, 1)(t − s)� ?��� p(T ; s, y, 1) �	 ���������� �� ��� ���������
��
� ax(T ; s, y, 1) = a(y + p(T ; s, y, 1)(T − s)) = p(T ; s, y, 1)� ����� ����	
p(T ; s, y, 1) = ay/(1 + a(s − T ))� 	� u(t; s, y, 1) = ay/(1 + a(s − T )) 
��
x(t; s, y, 1) = y + ay(t− s)/(1 − a(T − s))�

C�� �	 !�� ��� ��
�
�����	��� 	�������	 ��� j = 0� 4�� ��
�
�����	��� �%�
�
����	 ������ ṗ = −λa(x+ 1)/(1 + a(t− T )) + λp� ẋ = p � >��� ���	 �
�� ��
�%�
����	 ��� ��������� 	����� ����� ��$������
� �%�
���� ��� x ������	"

d2x/dt2 = −λa(x+ 1)/(1 + a(t− T )) + λdx/dt. [∗]
:� ����� ����� ��
� ���	 �%�
���� �
	 ��� 	�������

x(t; s, y, 0) = −1 + (Cβ(t) +D)(1 + a(t− T )), [∗∗]
����� β(t) =

∫ t

T
eλσ/(1+a(σ−T ))2dσ 
�� ����� C 
�� D 
�� ��� 
�����
��

&������
����' ���	�
��	� 4�� �����
�� ���������	 
�� x(s; s, y, 0) = y 
��
p(T ; s, y, 0) = ax(T ; s, y, 0)� 	�� &���
����� ẋ = u = p'� �� ��� ẋ(T, s, y, 0) =
ax(T ; s, y, 0)� ?��� [∗∗] �����	 ��
� ẋ(T, s, y, 0) �%�
�	 Cβ̇(T ) + (Cβ(T ) +
D)a = CeλT + aD� 	� ��� �� � �� �
	� �%�
���� ������	 CeλT + aD =
a(−1 + D)� >��� ���	 �%�
���� 
�� x(s; s, y, 0) = y� ��� ��� ������
����
���	�
��	 �
� �� ���������� ��� 
�� (s, y)� ����
���� ������ 
�� ����	
�
�� �
������� �� 	�F��	 �� !�� � ������ ������
	 ��� C 
�� D �� ����	
�� (s, y)� ��� (s, y) = (0, 0)� �� ���	 �
	� ��� ��� �%�
�����	 ������ CeλT +
aD = a(−1 + D) 
�� x(0; 0, 0, 0) = −1 + (Cβ(0) + D)(1 − aT ) = 0�

@



���� ����� C 
�� D �
� �� ����������� 4�� !�	� �%�
���� ������
����
����	 C = −ae−λT � 
�� ��	������ ���	 �
��� ��� C �� ��� 	����� ���	 ����	
D = 1/[1−aT ]+ae−λTβ(0)� 4�� �
����
��	 ��� ��� �����
� ������ �	 ����� ��
�	� u(t; 0, 0, 0) = (d/dt)[−ae−λTβ(t)+1/{1−aT}+ae−λTβ(0)](1+a(t−T ))]

	 ���� 
	 �� ���� �
	 ��������� :��� 
 ���� �
	 �������� 
� 	���
τ � �� �	� ��� ������� u(t, ω) := u(t, τ) := u(t; τ, x(τ−; 0, 0, 0) + 1, 1) =
a(x(τ−; 0, 0, 0) + 1)/(1 + a(τ − T )) ���� ���� ��� ���	 ������� �	 ���	�
��
�� t, t > τ'� &?��� ��
� ���� ��� ��
�
�����	��� ������	 �� �
�� ���
���� ����

������
���� �������	�'

4� ����� [∗∗]� ��!�� w(t) �� w(1 + a(t− T )) = x+ 1� 4���
(dw/dt)(1 + a(t− T )) + wa = dx/dt 
��
(d2w/dt2)(1 + a(t− T )) + 2(dw/dt)a = d2x/dt2� 	�
(d2w/dt2)(1+a(t−T ))+2(dw/dt)a = −λa(x+1)/(1+a(t−T ))+λdx/dt =
− λaw + λ(dw/dt)(1 + a(t− T )) + λaw� 
��
d2w/dt2 = [λ − 2a/(1 + a(t − T ))]dw/dt� ������
���� ���	 	��
�
��� �%�
�
����� �� ��� dw/dt = Ceλt/(1 + a(t − T ))2� 	� w(t) = Cβ(t) + D� *��� C

�� D 
�� ��� ������
���� ���	�
��	� ,� ��!������ �� w(t)� x(t; s, y, 0) =
−1 + w(t)(1 + a(t− T )) 
�� 8GG9 ������	�

-� 	�F����� ���������	 
���� ����H I�	� ��� ���
�	� ��� 	��
� �
��� �����
���� �	 ����� �
���� ��
� ����
��� 
 ������� ��� �	��� ����
���� �	 �������
�� ���	 � 
���� 4������ 0 ����� �	 
�����
����

!�
	��� �

maxE{∫ 1

0
−u2/2dt + x(1)}, 	������ �� dx/ds = u ∈ R, x(0) = 0, x(τj+) −

x(τj−) = x(τj−).

:� 
		��� ��
� 
 �
 ���� �� N < ∞ ����	 �
� ������ 
�� ��
� τj �	
� �������
��� ��	�������� �� [τj−1,∞) ���� �����	��� λj, 
�� λj ��$������ ��
���������
���� �� ��� ������� ����� �� ��
� x �	 ��� �
��� �� 
� ����	���;	
	���( ������� �� 
 ��	�
��� !��� ����� ��� 
�� ���� �
(�	 
� ����������
�
�� ���� 
� ��������� �����	� ��� ����� �� ��� 	���( ������	� 2�������� 
��
��
��� �� ��� 	���( &�	��� u �= 0) �	 ��	���� &4�� �
���� ���	 �	 �
(�� �
��
�� �	 ���
�
����' 4�� ��	� ������������	 ��� ���������	 
�� � ������� !�	�� 	�
�� �
� ��
���� ��
� λj �	 
 �����
	��� 	�%������

2
 ���3
���� �� ��� *
�������
� �����	 û = p, ����� u(t; s, y, j) = p(t; s, y, j).
�� ���
��	 �� !�� p(t; s, y, j). ?��� (d/dt)p(t; s, y, N) = 0, 	� p(t; s, y, N) =
p(1; s, y, N) = 1. �� �	 ����������� �� ��� 	�
����� ����� (s, y). 4��	 ���� 
�	�

B



�� 	��� �� ���� ��� j < N, 	� �� ���� (s, y) �� ��� 	�����	 ��� ��� 
������
��������	� ?� �� (d/dt)p(t;N − 1) = −2λNp(t;N) + λNp(t;N − 1), �����
�
	 ��� 	������� p(t;N − 1) = 2− eλN (t−1). &4� ��������� ���	 	������� 
�	�
p(1) = 1 �
	 ���� �	���' 4�� ������
 �	 �
	��� ���
���� �� �	��� e−λN (t−1) 
	
������
���� �
���� &���� �� ����������� �� ���� 	���	 �� ��� ��$������
� �%�
�
���� �� ���	 �
����'� 4�� ������ �	 	���� �� ���
�� �� ��� �� � �
����
�����
C�� �	 !�� p(t;N − 2) :

(d/dt)p(t;N − 2) = −2λN−1p(t;N − 1) + λN−1p(t;N − 2) =
−2λN−12 + 2λN−1e

λN (t−1) + (λN−1)p(t;N − 2).


	��� e−(λN−1)(t−1) 
	 ������
���� �
����� ���� ����������� �� ���� 	���	 ��
���	 �
����� 
�� ��
��
������ �� ���

e−λN−1(t−1)· (d/dt)p(t;N − 2) − λN−1e
−λN−1(t−1)p(t;N − 2) =

− 4λN−1e
−(λN−1)(t−1) + 2λN−1e

(λN−λN−1)(t−1).

4�� ����#�
�� 	��� �� ��� !�	� �%�
���� �%�
�	 (d/dt)[e−(t−1)p(t;N − 2)], 	�
������
���� �� ���� 	���	 �����	

e−λN−1(t−1)p(t;N − 2) =
4e−(λN−1)(t−1) + 2λN−1(λN − λN−1)

−1e(λN−λN−1)(t−1) + C,

����� C �	 
� ������
���� ���	�
��� 2���������� �� eλN−1(t−1) �� ���� 	���	�

�� �	��� p(1, N−1) = 1 ����� p(t;N−2)] = 4+2λN−1(λN −λN )−1eλN (t−1) +
(1−4−2λN−1(λN −λN−1)

−1)eλN−1(t−1). �� �����
�� �� ���		 ��
� p(t;N − j)
�
	 ��� ��������� ����" p(t;N−j) = 2j +

∑
0≤i≤j−1 a

i
je

λN−i(t−1)� C�� �	 �����
��
� p(t;N − (j + 1)' �
	 
 	����
� ����� :� �
��

(d/dt)p(t;N − (j + 1)) = −2λN−jp(t;N − j) + λN−jp(t;N − (j + 1)) =
−2λN−j2

j − 2λN−j ·
∑

0≤i≤j−1 a
i
je

λN−i(t−1) + (λN−j)p(t;N − (j + 1)).


	��� ��� ������
���� �
���� e−λN−j(t−1) �� ��� ��$������
� �%�
���� ��� p(t;N−
(j + 1)) �����	 ��
� p(t;N − (j + 1)) �
	 ��� ����" p(t;N − (j + 1)) =
2j+1 +

∑
0≤i≤j a

i
j+1e

λN−i(t−1), � ����� ��� i ≤ j − 1�

ai
j+1 = 2λN−ja

i
j/(λN−j − λN−i), i < j. [a]

4�� �
	� ���F����� �� ��� � ���		��� ��� p(t;N − j), aj−1
j � �	 
� ������
����

���	�
��� �� �	 ���������� �� p(1;N − j)) = 1� 	�

A



1 − 2j −
∑

0≤i≤j−1

ai
j = aj

j+1, [b]


	��� 8
9 ��� ai
j+1, a

i
j , ..., a

i
i+2, �����	

ai
j+1 = ai

i+1Πi+1≤m≤j2λN−m/(λN−m − λN−i), ß < j. [c]

4�� ���F�����	 ak
k+1, k = 0, 1, 2, ..., N−1, 
�� ���������� �� ��� ���������

��$������ �%�
����� ���
���� �� ��������� 8�9 
�� 8�9"

ak+1
k+2 = 1 − 2k+2 −

∑
0≤i≤k

ai
i+1Πi+1≤m≤k+12λN−m/(λN−m − λN−i). [d]

>��	�� 
	 p(t;N − 1) = 2− eλN (t−1)� �� ��� a0
1 = −1. 4���� 8�9 ����	 �	 
��

ak
k+1, k = 1, 2, , ..., , N − 1� ,� 8�9� ��� 
�� j, j < k − 1 �� (��� 
�� aj

k� 4��	�
�� (��� p(t, N − j) = u(t, N − j)� � 	�F����� ��������� �
	�� �� ����
�����
&<��
�( 0 �����'� ����	 ��� �����
���� �� u(t, N − j), j = 0, 1, 2, ..., N � &��
�� ��� 
		���
��� ����
������
���� ������� u(t, ω))�

�� <��
�( =� �� 	
� ��
� ��
�
�����	��� �
��	 ���� ��	� �� ����
������
����
�������	� C�� �	 ���� 	��� �������	 �� ��� 	���
���� 2
�(�� �������	 
��	��

��	
�� " ���
�
��������� ��
�����  ���� #
���$ �

���
�� ��
�
������

:��� ���	�������� ��� ��
�
�����	��� �������	 u(t; s, y, j) �� ��� ������

����� �� ��	� ����� ���
�� ��
�

u(t′; s, y, j) = u(t′; t, x(t; s, y, j), j), t′ > t > s [8]

�� �
��� ��� 
�� ����� j� ���� û(t, x, p) �	 ���%�� 
�� C1� ��� 
�� �����
�����
� ����� (s, (y, p̂)) 	�������	 �� 8@9 
�� 8B9� 
�� ���%��� ?� �� ��� p̂ �� 

�
�
����� �� �� ���������� �� p(T ) = h0x(x(T ; s, y, j))� ����� ���	 ������
���� ����	 
 ���%�� �
��� �� p̂� 
���� 	��� ������	�
���	� 8J9 ���� �����

C�� �	 ��	��		 8J9 
 ������ ����� �����	� ��
� ��� 	������� 	�
�� �� (s, y, j)�
&	���� j �	 ���������� �� ��
�	 ��
� � 
���� j ����	 �
�� 
���
�� ��������
�� [0, s)'� 4�� ������� u(t; s, y, j) ���� &���������' ��	�����	 ��� �����
� ���
�
����� ���� s ��� �� 
�� ���� t′ ≥ s� ��� ������� �
��� u(t′; s, y, j) 	�����
�� �	�� 
	 ���� 
	 �� ������� ����	 ������ C�� x �� 
 ����� ��
� �	 ��
����

J



�� x(.; s, y, j) 
� ���� t� 
�� 
		��� ��
� ���� 
� ���� t ���� j ����	 �
�� ���
������� �� 
 ���� t′ ≥ t �� �
�� ���� ��� ���	��������	 ��� ����� ������� �
���
�� �	�� �
���� u(t′; s, y, j) 
�� u(t′; t, x, j) = u(t′; t, x(t; s, y, j), j)� 4��	� ���
�
���	 	����� ��������� 
�� ��
� �	 ��
� 8J9 ��%���� ���� �� ��� C������ �� �
��
�����
� t′ = t = s� ����� 
		����� 8J9� �� �
� 	
� ��
� u(t, x, j) := u(t; t, x, j)
�	 ��� ������� �
��� �� �	� ���� �� 
�� 
� ����� (t, x, j)� � ������� �� ���
���� u(t, x, j) �	 �
���� 
 2
�(�� �������� 4��	� ��	� ������ ��
�
�����	���
�������	 ���� ��	� �� 2
�(�� �
����
�� �������	� �

��	
�� % �&�
�

�����
��
��� ��
�
����������� 

� #
���$ ��
������

>��	�� 2
�(�� �������	 
�� ����
������
���� �������	 ���� �� ����
���� 7����
��
� j ����	 �
�� �������� 
� τ1, . . . , τj � 
 ����
������
���� ������� u(t, ω)
�
(�	 �� ��		���� �� �
����
�� ��� 	�
�� x 
� ���� t �� �	��� 8.9 
�� 8=9� ��
	��� 
 ����� (t, x)� ��� ������� �������� ���	�����	 ��� ������� �
��� �� ��
u(t;ω)� ��� 1���(��� 
��
�1� �� �� u(t+, ω)� �� ����	�� ���� �� ��$����� ω;	
&���� ��$����� τ1, . . . , τj' �� ��
��� ��
� �	 �� ��� 	
�� ����� (t, x)� ��$���
��� ������� �
���	 &��������� �� ω' �
� �� ���	������� *������� ��� 
����
	�	��� �
	 ��� �������� ��
� ��� ������ ����������� �� ��� 	�	��� ������	
���� �� t, x 
�� j 
�� ��� ���� ��� ����	 τ1, . . . , τj �
�� ��������� :�
�
� ��������� � ���� �����
� ���
����� 
� ���� s �� ������ ���� �� (t, x, j)�
4��	� 
� �����
� ������� u∗(t+, ω) ���� ���	����� ��� 	
�� ������� �
��� 
�
(t, x)� ����	��������� �� ��� ��� 	�	��� �
�� �� x 
� ���� t� ����� ��
� j
����	 �
�� ��������� *����� �����
� �������	 �
� �� � ������ �� �� �� ���
���� u∗(t+, x, j)� ���� 2
�(�� �������	� :� 	
� �� <��
�( 0 ��
� ��
�
�����
�	��� �������	 ��	� ����� ����� 2
�(�� �������	� 
	 ��� ���	�	����� ���������
8J9 ��	� ����� ����	� 4��� 
�	� ����� ����
������
���� �������	� 
	 �� 	
� ��
<��
�( =�

�� 2
�(�� �������	 u(t, x, j) 
�� ������ ��� �	 ��
���� ��
� ���	� 
�� ��	�����
���� 8.9� ����� ���� 
�� 	����� �� [s, T ] ��� �����
� ��������� (s, y)� 4�� 	��
������	 ���
���� 
�� ������� x(t; s, y, j)� &���� 	
��	�� x(t; s, y, j) = y)� 
��
�����	������� �������	 
�� u(t; s, y, j) = u(t, x(t; s, y, j), j)� &?���
��� ����

����
���
��� 	
��	�� ��� ���	�	����� ��������� 8J9�' �	 �� <��
�( =� 	����
����	 x(T, s, y, j) ���� ��	� �� ���
������
���� 	�������	 x(t, ω)� 
�� ���� 
�	�
�� ����
������
���� �������	 u(t, ω)(= u(t, x(t, ω), j), t ∈ (tj ,j+1 ]� �

4�� 	������� ������ 
���� �����	 ��
�
�����	��� �������	 u(t; s, y, j)� �����

�	� ���� ��	� �� ����
������
���� �
����
�� �������	 u(t, ω) ���� �����	�����
��� 	�������	 x(t, ω)�

/



��	
�� ' �!������� ����
��
�� �
 (�

4�� ��������	 f0, f, g0, g �
� �� 
������ �� ������ � �������� �� j� �� f0


�� f � j �
	 �
��� K 
	 ���� 
	 �� ���� �
	 ��������� &���� �� (0, τ1)'� ���
�
��� . ���� � 
���� ��� ���� �
	 ��������� &���� �� (τ1, τ2))� ��� �
��� =
���� � 
���� ��� ����	 �
�� �������� &���� �� (τ2, τ3))� 
�� 	� ��� 4� 	���
����� 	��� 	�
������	� ��� τ0 = 0, ω0 = 0� 
�� ��� ωj := (τ0, ..., tj)� 4��
��$������
� �%�
���� �	 ���	

ẋ = f(t, x, u, j), t ∈ (τj , τj+1), x(0+) = x0, u ∈ U, [9]

��� ���� ��������� �	� ��� j > 0�

x(τj+) − x(τj−) = g(τj, x(τj−), j), [10]


�� ��� ��������� �	

E[
∑

j

∫ min{T,τj+1}

min{T,τj}
f0(t, x, u, j)dt+

∑
τj<T

g0(τj , x(τj−), j) + h0(x(T−))]. [11]

4�� 	������� ��������� ��� �	�	 ��� ���� ���
����	���	"

û(t, x, p, j) �
 ���3�	 H(t, x, u, p, j) := f0(t, x, u, j)+ pf(t, x, u, j) ��� u ∈ U.
[12]

ẋ(t) = f(t, x, û(t, x, p, j), j) [13]

ṗ(t) = −Hx(t, x, û(t, x, p, j), p, j) + λ(j + 1)p

−λ(j + 1)[g0x(t, x, j + 1) + p(t; t, x+ g(t, x, j + 1), j + 1)(I + gx(t, x, j + 1))],

[14]

���� �����
�� ���������	

x(s) = y, p(T ) = [h0x(x)]x=x(T ;s,y,j). [15]

>��� ��� ��� ���	 � ������ ���������� �� j ���� �� 
		����� :� 	�
�� 
�	�

.K



��%���� ��
� ��� 
 �
�� x(t, ω), , u(t, ω) �� �� �
���� 
���		���� � ��� ���%�
���
���	 supt,ω |x(t, ω)| <∞ 
�� supt,ω |u(t, ω)| <∞ �
�� �� �� 	
��	!��� �

") ������� 
�����
� ��
�����
� 

� ��*���
� ��
�����
�

C�� 1����1 &�����
��� ���������� ' ��
� ���������� � ���� 
 !���� &�� ������

��� ' ������ �� �����	� 
�� ��� 
�	� ��
� 
���	� 	������ ���� ���� ����
������
.�

+�����	 � �&�����
� ��
�����
� ,��� �
�� �		��� ��
� x∗(t, ω)� u∗(t, ω)�
�	 
� �����
� �
�� �� ������� 8.9#809� 	��� ��
� u∗(t, ω) �	 �������� 4����
��� �
�� ω� ����� � �	�	 
 ����
������
���� �������� t → p(t, ω)� ���������	
�� t ������� ��� �����	 τi �� ω� ��$������
��� ����� 	��� ��
�� 
�	�� ��� ����
t > τj � j = 0, 1, 2, ....�

u→ f0(t, x
∗(t, τ1, . . . , τj), u, j)+

p(t, τ1, . . . , τj)f(t, x∗(t, τ1, . . . , τj), u, j)

�
	 
 �
 ���� 
� u∗(t, τ1, . . . , τj) �� U � [16]

2�������� t→ p(t, τ1, . . . , τj)� t > τj � 	
��	!�	

ṗ(t, τ1, . . . , τj) = −f0x(t, x
∗(t, τ1, . . . , τj), u∗(t, τ1, . . . , τj), j)

−p(t, τ1, . . . , τj)fx(t, x
∗(t, τ1, . . . , τj), u∗(t, τ1, . . . , τj), j)−

λ(j + 1)[g0x(t, x
∗(t, τ1, . . . , τj), j + 1) + p(t+, τ1, . . . , τj , t){I+

gx(t, x
∗(t, τ1, . . . , τj), j + 1)}] + λ(j + 1)p(t, τ1, . . . , τj). [17]

p(T, τ1, . . . τj) = h0x(x
∗(T−, τ1, . . . τj)). [18]

&�	 � ��
���� �
������ x∗(t, τ0, ..., τj) = x∗(t, τ0, ..., τj , T, T + 1, ...)� 
�� 	����
�
��� ��� ��� p����������' 4�� �������� p(t, τ1, . . . , τj), t > τj , �	� 	��
�
�����
�������	� 
�� ����#���������	 �� t� 
�� �������	� 
�� �����#���������	 ��
�
�� τi, i ≤ j� �

C�� �	 	�
�� �����	� ���������	 ��� 4������ . �� ����� &��� <��
�( @ 
��
<��
�( 0 �� �����	�
� &=KK=''� �� 	�F��	 �� 
		��� ��
� f0� f � g0� g� h0� f0x�
fx� g0x� gx, h0x, &� �	� 
��' 
�� 
��� 	��
�
����� �������	� ���������	 �� t� 
��
	��
�
���� ���������	 �� x 
�� �� u� 4�� !�� ��������	 f0, f, g0, g, h0 
�� C���
	����3 ���������	 ���� ��	���� �� x ���� 
 ������ �
�( κn� n = 1, 2, ... <∞,
����������� �� (t, u, j), u ∈ U∩B(0, n)� 4�� !�� ��������	 	
��	�� 
� ���%�
��
��� �� ��� ��������� ����" >�� 	��� ���	�
��	 αn, κn

|φ(t, x, u, j)| ≤ αn + κn|x|, ��� 
�� (t, x, u, j), u ∈ U ∩ B(0, n). [19]

..



>��
���� supj λ(j) <∞� ?��� N �
� �%�
� ∞�

�� ���	� ���������	 ���� ���� ��� n = ∞� ���� �� ��� �������� u∗(., .) ���� ���
�� �������� �� N <∞ 
�� αn = α, κn = κn = κ ��� 
�� n� ���� f0, f, g0, g, h0

���� ���� �� ��!��� �� B(0,Ξ)� �����
Ξ := 1 + {[α+ (1 + κ)(αeκT/κ)]/κ+ |x0|}(1 + κ)N+1eκT �

�� 
�� ���������	 �� ��� ��������� �
�
��
�� ���� ���� ���� ��� x �� B(0,Ξ)�
�� 
�����
���� 	�� �� ���������	 �� �
	� N <∞ �	 ��
�� &��� �
�� j'� f0, f � g0�
g� h0� f0x� fx� g0x� 1gx� h0x, 
�� ���������	 ��������	� 
�� ��
� supt,ω |x∗(t, ω)| <
∞�
>��� ��� ��� ���	� ���������	 
�� 
		����� &� �������	 �� ����
�� ���
�(	

�� � �������� 	�
����'

>���
���� �� 	���� 
 ������� ������� ����������� ��� �
	 �� !�� 
�� ��	�
	���� �������	 u∗∗(t, ω) 	
��	����� ��� ����		
�� ���������	 �� 4������ .� ��
��� 	��� �
����
�� u∗∗(t, ω) �	 ���	������� ���� ��
�
�����	��� �������	� �����
�� �
�� �������	� ��� �
� ����� ��
� �� ����� u∗∗(t, ω) 	
��	!�	 8.B9�8.J9�
���� ����� �	 
 ���%�� �
����
�� ��� �����
����� �� ��� (���	 ��
� ��� �����
��� ��	� �
�� 
� �����
� �������� ���� �� ��	� �� ���	 ���%�� �
����
���
&:� �
�� ��� �������� ��	���	 ���������� � �	����� �� �����
� �������	� ����

��� �������� 	����
� �� ��� >�������#5�	
�� ��	���	 �� ���������	��� �������
�������'

5�������� ���� ���	 ����		
�� ��������� �	 
 	�F����� ���������� �
	�� ��
����
����" -�!�� Ĥ(t, x, p, j) = supu∈U H(t, x, u, p, j)� 4��� ��� ���������
������� ����	�

+�����	 � ���*���
� ��
�����
 �
��� �
 ��
�
$�� � �����	� ���
������ (x∗(t, ω), u∗(t, ω), p(t, ω)) 	
��	!�	 ��� ����		
�� ���������	 8.B9#8.J9�
���� ((x∗(t, ω), u∗(t, ω)) 	
��	����� 8/9� 8.K9'� �����	�� ������������ ��
�
x → h0(x) 
�� x → g0(t, x, j) 
�� ����
��� 
��� ��� �
�� j, ωj� t > τj , x →
Ĥ(t, x, p(t, ωj), j)� 
�� x→ p(t, ωj)g(t, x, j) 
�� ����
��� 4��� (x∗(t, ω), u∗(t, ω))
�	 �����
�� �

4�� ����
���� ��������� �� Ĥ(t, x, p(t, ωj), j) ����	 �� �
������
� ���� (x, u) →
H(t, x, u, p(t, ωj), j) := f0(t, x, u, j) + p(t, ωj)f(t, x, u, j) �	 ����
���

.=



��	
�� - ���*���
� ��
�
$�� ��
�����
� ,�� ��
�
��������� ��
�
������ N <∞�

�����
� �� 4������ =� 	�F����� ��� ��� ��
�
�����	��� ������ x(t; s, y, j), u(t; s, y, j)�
p(t; s, y, j) �� ����� 
� �����
� ����
������
���� ������� �	 ����
���� �� x →
g0(t, x, j)� x→ h0(x)� x→ Ĥ(t, x, p(t; s, y, j), j)� 
�� x → p(t; s, y, j)g(t, x, j)
��� 
�� (s, y, j)� �

������ �� �
�� ������� 	�
���� 
		�������	 ���������� ��� ����������
�� x(t; s, y, j), u(t; s, y, j)� 
�� p(t; s, y, j) �� t, s� 
�� y� 4� 
 �
��� � �����
�� �
� 
���� 	�
���� � �������� 	��� 
		�������	� �� 	
���� ��
�� �������
����� &��� � 
���� �� ��� ��������� ���
�('� �� �	 
		���� ��
� ��� ����

������
���� ������	 (x(t, ω), u(t, ω), p(t, ω)) 
��	��� ���� ��� ��
�
�����	���
������	 	
��	�� ��� 	�
��
�� 
		�������	� �� �	 �������� �� ��
� �
	 	
��

���� ��
� t → (x(t, s, y, j), p(t; s, y, j)) �	 ���������	 �� t ∈ [s, T ] 
�� ��
�
t→ (ẋ(t, s, y, j), ṗ(t; s, y, j)) �	 �������	� ���������	 �� t ∈ (s, T )�

:��� 
� ��	� N ����	 �
� ������ ����� �	 
 �����	��� ��������� ���
���
�� ��� ����		
�� ���������	� C��	��� 	��
(���� !�	� (x∗(t; τ1, . . . , τN),
u∗(t; τ1, . . . , τN), p(t; τ1, . . . , τN)) �	 ���	�������� ���� (x∗(t; τ1, . . . , τN−1),
u∗(t; τ1, . . . , τN−1), p(t; τ1, . . . , τN−1))� 
�� 	� ��� ��� �
� �� 	�	���
��3���
���	 ���������� �
	 	��� �� ��� 	������� ������ ��������� ���� 8E9#8B9 
�����

?��� 4������ . 
�	� ����	 �� ����� �	 �� ����� �� ��� ������ �� ����	 ��
�
�
� ������ &N = ∞'� ,��� �� ���	 �
	� �� �����	��� ��������� �	 
�
��
��� �
������ �� ���������� ��� 	��(	 ������	 (x∗(t; τ1, . . . , τj)� u∗(t; τ1, . . . , τj), p(t; τ1, . . . , τj))
	
��	����� ��� ����		
�� ���������	 ��� j = 0, 1, 2, ....� ��������	� �� �
� �
�
��	��
� �� ���� �� ��� 	���
���� *+,��%�
���� ��	������ �
��� ���

4�� �� � ������� ����	 
 	�F����� ��������� ��� ��%������ ����
����� 4��
��������� ��!������	 
�� ������" C��

Qx(.,.)(j) := {(t, x(t, ωj)) : t ∈ (τj, T ), ��� 	��� ωj),

Q(j) = ∪x(.,.)Qx(.,.)(j), [20]

��� ����� �
(�� ���� 
�� 
���		���� 	�������	 x(., .)� 4��	 Q(j) ���	�	� ��

�� �����	 (s, y) ��
� �
� �� ��
���� 
���� j ����	� ���	������� 
�� ��		����

���		���� 	�������	 
�� 	�
����	 �� ���	� j ����	�

�� ��� �� � ������� 
�	� 	��	 Q0(j) ⊂ (0, T ) × R
n 
���
�� ����� &��� �
��

.0



j' �
���� ��
� Q(j)� ��������	� ���	� 	��	 �
� �� ���	������� �� �
(��� ���
����� �� Qx(.,.)(j) ��� 
�� 	�������	 x(., .)� 	�
����� 
� ���� K 
� ����� 	�
��
�����	 x̂0� ����� x̂0 ���	 ������� 
 &����
�	 	�
��' ���� �
�� 
����� x0� ��
����� �
	�	� Q0(j) �
�� ��� � 
����� �� ��� ����� 	�� (0, T ) × R

n�

+�����	 " ���*���
� �
��� �
 
 ���� �, ��
�
��������� �������
��
�		��� ��
� 
 �
 ���� �� N ����	 �
� ������ �		��� ��
� h0, f0, f, g0 
��
g 
�� C2���������	� 
�� ��
� ��� �������� û(t, x, p, j) &	�� 8.=9' �	 C0×C1×C1

�� 
� ���� 	�� Q∗(j)� �		��� ��
� ���� 	��	 Q0(j)� Q0(j) ����
����� Q(j)�

�� 	�������	 x(t; s, y, j)� p(t; s, y, j) �� 8.09#8.@9� &��� ��
�
�����	��� �%�
�
����	 ���� �����
�� ���������	'� �
�� ���� ����� ��� (s, y) = (0, x0) ��
�
	� j = 0� 
�� ��� 
�� (s, y) ∈ Q0(j) 
�� 
�� j� ����� C1 × C2 �� (s, y)
��� (s, y) ∈ Q0(j)� ��� 
�� t ∈ (s, T ]� 
�� 
�� j� 2�������� 
		��� ��
�
p(s; s, y, j) 
�� py(s; s, y, j) 
�� ������� �� ������� 	��	��	 �� Q0(j)� �	�
	��� ��
� (t, x(t; s, y, j), p(t; s, y, j)) ������	 �� Q∗(j) ��� 
�� t ∈ [s, T ]� 
��
(t, x(t; s, y)) ������	 �� Q0(j) ��� 
�� (s, y) ∈ Q0(j)� 
�� t ∈ (s, T )� 
�� ��
� ��
(s, y) ∈ Q0(j)� ���� (s, y + g(s, y, j + 1)) ∈ Q0(j + 1)� 2�������� 
		��� ���
��������� L���	�	����� ���������1" >�� 
�� (s, y) �� Q(j) 
�� t ∈ (s, T ]�

(x(t; s′, x(s′; s, y, j), j), p(t; s′, x(s′; s, y, j), j)) =

(x(t; s, y, j), p(t; s, y, j)), ��� 
�� s′ ∈ (s, t). [21]

>����������� 
		��� ��
� Ĥ(s, x, p, j) �	 C0 × C2 × C2 �� Q∗(j)� >��
����

		��� ��
�

û(t, x, p, j) �	 ������� �� ������� 	��	��	 �� Q∗(j). [22]

-�!�� u(t; s, y, j) = û(t; x(t; s, y, j), p(t; s, y, j), j))� j = 0, . . . , N.4��� u(t; s, y, j) :
j = 0, ..., N 
�� �����
� �������	� �

�� �
��� �� ����
�� �
	�	� ��� C1 × C2 �� (s, y) → (x(t; s, y, j), p(t; s, y, j))

����
���
��� ����	� 	�� <��
�( =J ������

:���� ��� ��	���	 �� ��� ������� �� ������ ���� ��� 	�
��� �����		�	� ����
��
�� ������ �� ��� �����		�	 �	 ��� �
�� ��
�� �� ����� ��� ��� 	�
��� ��$���
����
������ �� (s, y) → (x(t; s, y, j), p(t; s, y, j)) �� ����� ��� 	�	��� ��	�� ��
��	� �
	�	� 	
��	�� ������� ��$������
������ ���������	 &	�� <��
�( =J �����'�

4��	 ������� ���	 ��� ��%���� ����
���� 
		�������	� �� ��� �	� ���
��������� 4������ = &�� <��
�( B' 
� 
��H 4�� 
�	��� �	 ��
� ���� ����
�
���� ����	� ���	� ����	 
�� �
	��� �� 
����� 
�� �� �
������
�� ����� �
� ��
	���
����	 ����� ����
���� ����	� ��� ����� �� �	 ����		���� �� !�� open 	��	
Q0(j) 
�� �������	 x(t; s, y, j), p(t; s, y, j) 	
��	����� 
�� ���������	 �� 4������

.E



0� &?��� ��
� �� 
 �
���� ���
�(� &<��
�( ./'� ��� ���������	 �� ��� ������
����� �� x(t; s, y, j), p(t; s, y, j) �� (s, y) 
�� 	������� ��
(�����'

!�
	��� � ��$������ 5��	���� ��� �
	� �� ��� 	��
� �
��� �������� ax(T )2/2�
C�� Q0(j) = (0, T ) × R ��� j = 0, 1� �� � 
���� .� �� ���	 �
	�� ��������	
x(t; s, y, j), p(t; s, y, j)� j = 0, 1 ���� ����� ��� �
�� (s, y)� �
���� ��� ���
%����� C1���������� 2�������� Ĥ 
�� û 
�� C2� 
�� 8=.9 
�� 8==9 �����
*����� u(t; s, y, j)� j = 0, 1 �	 
� �����
� �����������

5�������� ���� 4������ 0� ����� �	 
 	�F����� ��������� ��
� �������	 	����
����	 �� 
 	�%����� �� �
���
� ��$������
� �%�
����� ��� *+,��%�
����	 �� ���
�������� �� �
��� ��� 	�������	 (x(t; s, y, j), p(t; s, y, j)) ����� ��� 	�������	 ��
���	� �%�
����	� � ��	��		��� �� ���	 ����� �	 ��	������ �� ��� �� � 	������
�� ��� ���	��
���� �������	�

��	
�� . �+�	� 

� ��
�� ����
��
� (�	� �
��
��� �

�		��� ��
� λ(j) �	 
 C1��������� �� (t, x). 4��� ��� ���	��� �� τ = τj ∈
[τj−1,∞) �	

λ(τ, x(τ), j)e
∫ τ
τj−1

−λ(σ,x(σ),j)dσ
�

����� x(s) = x(s, ω)� ?��� 
� 
� ���
�� 	�
�� �
��
��� z �	 ������� ��������
���� 
 ����!�� 
������ �%�
����"

dz/dt = λ(t, x, j + 1){z − g0(t, x, j + 1) − z(t; t, x+ g(t, x, j + 1), j + 1)}−
f0(t, x, û(t, x, p), j), [23]

dp/dt = −Hx(t, x, û(t, x, p), p, j) + λ(t, x, j + 1)p−
λ(t, x, j+1)[g0x(t, x, j+1)+p(t, t, x+g(t, x, j+1), j+1)(I+gx(t, x, j+1))]−
λx(t, x, j + 1){g0(t, x, j + 1) + z(t, t, x+ g(t, x, j + 1), j + 1) − z} [24]

��	��
� �� !����� ��
�
�����	��� �
��	 	
��	����� 8@9�8B9 ��� N,N − 1, N −
2, ..., ��� ��� �
	 �� !�� ��
�
�����	��� ������	 x(t; s, y, j), p(t; s, y, j), z(t; s, y, j)�
��� j = N,N − 1, ... ��
� 	
��	�� 	�����
����	�� 8@9� 8=09 
�� 8=E9� ����
x(s) = y, p(T ) = h0x(x(T )), z(T ) = h0(x(T ))� �

.@



��	
�� / ������
���� (�	� ��0���

� 	����
	��� ��	����
��� Vj ∈ R
r∗ �
� �� �������� �� g0(t, x, j) 
�� g(t, x, j)�

4��	� �� ��� ����� g0(t, x, Vj, j) 
�� g(t, x, Vj, j)� *��� g 
�� g0 
��� 	���

�
����� C2 �� (t, x)� 
�� ��� ��������	� 
	 ���� 
	 ����� !�	� 
�� 	�����
�����
����	 ���� ��	���� �� t 
�� x 
��� 	��
�
����� ���������	 �� v� 4��	 
�
��� ���� ����	 τj � ��� 	����
	��� �
��
��� Vj ��)�����	 g0 
�� g� 	� 8=9 ���
��
�	 x(τj+) − x(τj−) = g(τj, x(τ−), Vj , j)� �� ��� 	����
	��� �
��
��� Vj �
	

 ��	��������� ����� ������	 �� τj � ���� ��� 	������� ������ ��������� ����
8@9�8A9 
�
�� ���(	 ���� N <∞� ������ �� 8B9 �� ����
��

g0x(t, x, j + 1) + p(t; t, x+ g(t, x, j + 1), j + 1)(I + gx(t, x, j + 1))

��

E[g0x(t, x, Vj+1, j + 1)+

p(t; t, x+ g(t, x, Vj+1, j + 1); j + 1)(I + gx(t, x, Vj+1, j + 1))|t] [25]

&4�� � ����
���� �	 ���� ��	���� �� Vj+1'�

�� ��� ��	��������� �� Vj ������	 �� 
�� τi� i ≤ j� 
�� 
�� �
����� �������	
vi�i < j� ���� �� ω� �� ��� ������� 
�� �������	 �� ��� Vj;	� 	� ω =
(τ0, v0, τ1, v1, τ2, v2, . . .), (v0 �
���� �� �$���'� 
�� ����
������
���� �������	

� ���� t ��� ������ �� ��� �������	 (τi, vi) �
���� �������� ������ t� ����
p(t, ω) ��� �%�
�	 p(t; τ1, v1, . . . τj , vj) ���� τj < t ≤ τj+1� �		��� ��
� 8./9
����	 ��� 
�� Vj � ��� φ = g0, g� 4�� ����		
�� ���������	 �� 4������ . 	����

����� �������� �� �� 8.A9 ����
��

g0x(t, x
∗(t, τ1, . . . , τj), j+1)+p(t+, τ1, . . . , τj , t){I+gx(t, x

∗(t, τ1, . . . , τj), j+1)}
��

E[g0x(t, x
∗(t, τ1, v1, . . . , τj, vj), Vj+1, j + 1)+

p(t+, τ1, v1, . . . , τj , vj, t, Vj+1){I+
gx(t, x

∗(t, τ1, v1, . . . , τj , vj), Vj+1, j + 1)}|τ1, v1, . . . , τj, vj , t)] [26]

4�� �������� p(t, ω) �	� 	��
�
����� �������	� 
�� ����#���������	 �� t� 
��
�	 �������	� 
�� �����#���������	 �� �
�� τj � 
�� �� �
�� vj � ���� ��� � ����
�
���� E[α(Vτj+1

)|τ1, v1, . . . , τj , vj, τj+1] �	 ���������	 �� τ1, v1, . . . , τj, vj, τj+1

��� 
�� �������	� 
�� �����#���������	 �������� α(Vτj+1
)� �

.B



��	
�� 1 ���,��	��
���
 �, ��� 
�����
� ��
�����
��

-�!�� µ((t,∞)|τ0, ..., τj) := exp[−λ(j + 1)(t − τj)], µ(t|τ0, ..., τj) := 1 −
µ((t,∞)|τ0, ..., τj)� j = 0, 1, 2, ....� &τ0 = 0'� 
�� p∗(t, τ1, ..., τj) 6
µ((t∞)|τ0, ..., τj)p(t, τ1, ..., τj). C�� Dµ ������ ��� ���	��� �� ��� �����
����
��	��������� µ� 
�� ��� 
 ��� 
���� 
 �������� ��
� 
 �����
���� ���� ��	����
�� ���� t� 4��� p∗(t, τ1, ..., τj) 	
��	!�	 ��� ��$������
� �%�
���� 8=A9 ������
�� �
�� ��� ����		
�� ���������	 8.B9�8.J9 ����� ��� ��������� ����		
�� ������
����	"

�		��� ��
� x∗(t, ω)� u∗(t, ω) �	 
� �����
� �
�� �� ������� 8/9#8..9� 4����
����� � �	�	 
 ����
������
���� �������� p∗(t, ω)� 	��� ��
� ��� 
�� ω� t →
p∗(t, ω) �	 ���������	 ������� ��� �����	 τi �� ω� 
�� 	��� ��
� ��� Λ0 = 1�

�	�� ��� ���� t > τj �

u→ [Λ0f0(t, x
∗(t, τ1, . . . , τj), u, j)µ((t,∞)|τ0, ..., τj)+

p∗(t, τ1, . . . , τj)f(t, x∗(t, τ1, . . . , τj), u, j)]Dµ(τ0, ..., τj)

�
	 
 �
 ���� 
� u∗(t, τ1, . . . , τj) �� U � [27]

2�������� &	���� ��� Λ0 = 1)� ��� �
�� ω� t → p∗(t, τ1, . . . , τj)� t > τj �	
��$������
��� ����� 
�� 	
��	!�	 ����

ṗ∗(t, τ1, . . . , τj) =

−Λ0f0x(t, x
∗(t, τ1, . . . , τj), u∗(t, τ1, . . . , τj), j)µ((t,∞|τ0, ..., τj)

−p∗(t, τ1, . . . , τj)fx(t, x
∗(t, τ1, . . . , τj), u∗(t, τ1, . . . , τj), j)−

Λ0g0x(t, x
∗(t, τ1, . . . , τj), j + 1)µ̇(t|τ0, ..., τj)−

p∗(t+, τ1, . . . , τj, t){I + gx(t, x
∗(t, τ1, . . . , τj), j + 1)}µ̇(t|τ0, ..., τj).

8=J9

>��
����

p∗(T, τ1, . . . τj) = h0x(x
∗(T−, τ1, . . . τj))µ((T,∞)|τ0, ..., τj). [29]

*���� p∗(t, ω) �	� 	��
�
����� �������	� 
�� ����#���������	 �� t� 
�� ������
��	� 
�� �����#���������	 �� �
�� τj � �

.A



��	
�� �2 �3�
��
� �����������
 �, (�	� ��	���

4�� ����		
�� ���������	 �� <��
�( / 
�	� ����� �� ��� ����
������ ��	����
������ �� ��� τ ;	 
�� ��� �� ��� ���� 
����� �� �
��� ��� 
���� ����	�
	
�� ���������	 8=A9�8=/9 ���� ��� 
�� ����� 	�%����� �� ���������
� ���	����	
µ̇(t|τ0, ..., τj), j = 0, 1, ..., &��� j = 0� ��� ���	��� �	 	����� µ̇(t) = µ̇(t|τ0)'� ��
N = ∞ � ��� ��� ����		
�� ���������	 �� ����� 
 ��������� &[29∗] �����' �	
������� -�!�� Θm(t, ωj) �� �� ��� ���������
� ����
������ ��
� � 
���� m
���� ����	 ����� �� [0, t]� ����� ωj� τj < t� �		��� ��� ��������� ���%�
����

Θm(t, ωj) ≤ Φ(t, j)v(t, j)m−j, [29∗]

��� 	��� ��	����� ������	 κ,Φ(t, j), v(t, j), v(t, j) ∈ (0, 1/(1 + κ))� �����
|g(t, x, j)| ≤ α + κ|x| ��� 
�� t, x, j� α 	��� ����� ��	����� ������� κ �����

�	� 
 C��	����3 �
�( �� x→ g(t, x, j), j = 1, 2, ...� ��
�� 
 	����
	��� ��	����
�
��� V �
� �� 
������� ���� ����!�
����	 
	 ��	������ �� <��
�( J�

4�� ����		
�� ���������	� ���� Λ0 = 1 
�� 	�F����� �� x→
maxu∈U{f0(t, x, u, j)µ((t,∞)|τ0, ..., τj) + p∗(t, ω)f(t, x, u, j)}Dµ(τ0, ..., τj)�
x → p∗(t, ω)g(t, x, j)� x → g0(t, x, j)� 
�� x → h0(x) 
�� ����
�� ��� t ∈
(τj , τj+1)�

4�� ������ 
���� 
�����	 
�	� �� ��� �
	� ����� f 
�� f0 ������ �� ���
τj ;	� ��������� ��� 
�� ����� (x, u)� ���	� ��������	 
�� ���
������
���� ��
(t, ω)� �� 4������ .� 
	 ���� 
	 �� 8=A9� 8=J9� �� ��� ��������	 f0, f, f0,x, fx ��
	����� ����
�� j �� τ0, ..., τj � ?��� �� ��	� 
		��� ��
� ��� C��	����3 ������
����� �	 ������� �� ω� &��� ��� C��	����3 ���	�
��	 
�� ����������� �� ω'� 
��
��
� ���%�
���� 8./9 ����	 ��� f0x 
�� fx ��� 
�� ω� 2�������� �� �	 
		����
��
� f0, f, f0x 
�� fx 
�� 	��
�
���� �������	� 
�� �����#���������	 �� �
�� τi�

4�� 	
�� 	������� ��������� 
�����	 
	 ������" C�� �	 ���
�� �� �� ��� ����	�
	
�� ���������	 8=A9�8=/9� &���� Λ0 = 1'"

>��	�� ��� û(t, x, p∗, τ0, ..., τj) �
 ���3� f0(t, x, u, τ0, ..., τj)µ((t,∞)|τ0, ..., τj)+
p∗f(t, x, u, τ0, ..., τj)� 4���� �� ��� �
	� N <∞� ���	���� ��� �%�
����	

ẋ(t, τ0, ..., τj) = f(t, x, û(t, x, p∗, τ0, ..., τj), τ0, ..., τj) [30]

ṗ∗(t, τ0, ..., τj) =

.J



−f0x(t, x, û(t, x, p, τ0, ..., τj), τ0, ..., τj)µ((t,∞)|τ0, ..., τj)
−p∗fx(t, x, û(t, x, p

∗, τ1, ..., τj), τ0, ..., τj)

−g0x(t, x, j + 1)µ̇(t|τ0, ..., τj)
− p∗(t+, τ0, ..., τj, t)[I + gx(t, x, j + 1)]µ̇(t|τ0, ..., τj). [31]

,����
�� ���������	 ��� (x(t, y, τ0, ..., τj), p(t, y, τ0, ..., τj)) 
�� 
�
��� ��� s =
τj � ��� ��� �%�
�����	 x(τj) = y� 
��

p∗(T ) = h0x(x(T ))µ((t,∞)|τ0, ..., τj .) [32]

�� �
	� N < ∞� 
�
�� ���	� �%�
����	 �
� �� 	����� �
�(�
��	� >��	� ���
j = N � 	�������	 �� ��� �%�
����	 
�� ����� ����� �� ������ x(t; y, τ0, ..., τN)�
p∗(t; y, τ0, ..., τN )� ?� �� ��� j = N − 1� 	�������	 �� ��� �%�
����	 
�� �����
����� �� ������ x(t; y, τ0, ..., τN−1)� p

∗(t; y, τ0, ..., τN−1)� &�� ���	 �
	� (�����
���� �� p∗(t; y, τ0, ..., τN−1, t) �	 ������'� 
�� 	� ���

�� 
�
�����	 	������� ������ ��������� ��� p���������	 �
���� ��
� ��� p∗�
��������	 �
� �� ������� ����� >�� ������� �� �	 �������� �

% ������	� ���� ���	�

� ��
���
�
��

C�� �	 �� � ���	���� �������	 ���� ������
� ���	��
���	� 4�� ����	 
�
��
���
�� ��� �����
� �
	� 
�� 
 ������ �������
���� 	� �� !�	� ���	���� 
 ���� 	����
�
	���
����� ����� x �	 
 	�
�
�� ��� ���� 	�3�	 
�� ���	�
��� ��� 	��
� �
���
�������� �	 3���� 
�� ����� ��� ������
� ���%�
���� ��������� x(T−, ω) ≥ x̂

�	�� �	 ����	��� x̂ 
 ����� ������� ���� 
 ������
� ��������� �	 	�������	
�
���� �
��� 
	 ����	�� �� 
 	��� ���� ��
� �
(�	 ��� ���� Ex(T−, ω) ≥ x̂� x̂

 ����� ������� ,����� �
���� �
�� ��� ���	��
���	 
�� ���
���� ���� ���
���	��
���	 
�� ����)� ��������� �� <��
�( .@ ������ 4��	� �� ��� �
�� 

	�	��� ��
�� �� 
������� �� 8/9�8..9� �������	 ��� ���������	"

x ∈ R, h0 ≡ 0, g ≡ c �= 0, x(T−, ω) ≥ x̂ 
�	�, N <∞ [33]


�� ��
� f0 
�� f 
�� ����������� �� j� ?��� �� j ����	 �
�� ���������
���� 
	 ���� 
	 �� ������� ����	 ������ x(t; s, y, j) �
	 �� �� 	������ �� 	���

 �
���� ��
� �� ����� �� ��� �� ���� ����	 ����� �� ��� ������ & 
���� t'� ��

�� 
��� �� 	
��	�� ��� ��� ���	��
���� �� ��	� N−j ����	 �
� ����� 
���� s�
���� �� t �	 ���� ���	� �� T � 	��� 
 ������ �� ����	 �
� ����� ���� ��	�����
����
������� �� c > 0� �� ����� ���� ���� �� ��������� ���� 	
��	����� ���

./



���%�
���� x(T−, s, y, j) ≥ x̂" �� ���	 ���%�
���� �	 	
��	!��� 
�� ����� 
�� t
���	� �� T � 
�� 
�	� ����� ��
� j ����	 �
�� �������� �� [0, t]� ���� �� ��� ��
���� ����	 ����� 
���� t� �� �	 �
	��� �� ���
�� x(T−; s, y, j′) ≥ x̂ � j′ > j�
&	�������	 ���	� ���%�
�����	 ���� ���� �� 
����
���
��� 	
��	!��'� �� c < 0�

 ���� ���
���� ��	��		��� �	 �	����� :� ���� ���� ���	���� ��� 	���
����	�

supu∈U f(t, x, u) = +∞ ��� 
�� (t, x) �� 
 ������������ ��
{(T, x) : x̂ ≤ x ≤ x̂−Nc} 80E9

��� ��� 	��� ���	�
�� K�

supu∈U f(t, x, u) ≤ K ��� 
�� (t, x) �� 
 ������������ ��
{(T, x) : x̂ ≤ x ≤ x̂−Nc} 80@9

C�� x̂j = x̂ ���� �� �
	� c �	 ��	������ 
�� �� �
	� 80E9� &���� �� c �	 ���
�
����'� �� ��� �
	� ����� c �	 ���
���� 
�� 80@9 ����	� ��� x̂j = x̂ − (N − j)c�
�� ���	 �
	�� �� �
�� �� 
��
��� �� 	� ��
� �� j ����	 �
�� ��������� ���� ��
��	� �
(� 	��� ��
� x(T−; s, y, j) + kc ≥ x̂ ��� k = 0, ..., N − j� &k ����	
�����
��	 �
� ����� 
�����
���� ���	� �� T � 4�� ��	� ���
����� �%�
����
�	 ���
���� ��� k = N−j� ��� �� �����
� �� �
�� �� 	��( 	�������	 x(t; s, y, j)
	
��	����� ��� ��� ���������

x(T ; s, y, j) ≥ x̂j . [36]

�	 �	�
�� ����� �	 
 	�
�(��		 ��������� ��
� ��� 
������ �������� ��	� 	
��
�	�� 
� ���� T � 4�� ��������	 p(T ; s, y, j) ��	� 	
��	�� ��� ��
�	���	
����
���������	

p(T ; s, y, j) ≥ 0,= 0 �� x(T ; s, y, j) > x̂j , j = 0, ..., N. [37]

4�� 	������� ������ ��� ������� 8/9#8..9� 8009� �	 ��� 	
�� 
	 ������� � ����
��
� ��� �����
�� ���������	 
��"

x(s; s, y, j) = y, 80B9 
�� 80A9 [38]

4�� 	������� ������ ��� ���	�	� �� 8.=9#8.E9� 80J9�

!�
	��� " maxE{∫ 3

0
(3− s)(1− u)ds}, 	������ �� ẋ = u ∈ [0, 1], x(0) = 0,

x(3) ≥ 1 ���� ����
������ 1� 4���� �	 
 ����
������ ���� �����	��� λ > 0 ��
�

 	����� ���� ���� �����
��	 �����	�

4�� ���������	 8.=9�8.E9� 80J9 ���� �� 
������� ����� 
 ����� ��� 	�������
�	 u(t; s, y, 1) = 0 �� y ≥ 1, 
�� �� y < 1� u(t; s, y, 1) = 0 ��� s < y + 2�

=K



����� u(t; s, y, 1) = 1 ��� t > y + 2� 4� 	�� ���	 ���� ��
� p(t; s, y, 1) =
p(s; s, y, 1)� >��� ��� �
 ���� ���������� ��������� u = 0 �� ����� ����
&����� 3 − t > p'� &�� 
� 
��' 
�� u = 1 
� ��� ��� &�� 
� 
��'� 5��	���� ���
�
	� ����� �� �� �
�� 
 ����� σ ∈ (0, 1) 
� ����� �� 	����� ���� K �� .�
4���� x(t; s, y, 1) = y ��� t < σ, x(t; s, y, 1) = y + t − σ ��� t > σ� ���� σ
���������� �� x(3; t, y, 1) = 1� ���� y + 3 − σ = 1, �� σ = y + 2� �� s = σ,
�� ��� �
 ���� ���������� 3 − σ = p(σ, s, y, 1)� 	� p(t; s, y, 1) = 1 − y, &p �	
����������� �� s 
�� t). 4�� ������
 ��� p(t; s, y, 1) �	 �
��� �� σ ∈ (s, 3)� ����
y ∈ (s− 2, 1)� �� ���(	 
�	� ��� σ = s�&y = s− 2' 
�� �� �	� ��� ������ ����

�� p(t; s, y, 1) ≥ 1 − y ����� 
�	� ���(� 4�� �����
� ������
 ��� p(t; s, y, 1)
�	 ���� p(t; s, y, 1) = max(0, 1 − y), y ≥ s− 2� &���� �����	 (s, y), y < s− 2�
�� �	 ��� ��		���� �� ��
�� &0�.' &�� 
����'�

4� !�� u(t; s, y, 0)� ����� 
�
��� ���� ��� �
 ���� ���������� u = 0
���� 3 − t > p &���	 �
����	 �� ����� ����� �� 
� 
��'� ����� u = 1 ����
3 − t < p &���	 �
����	 
� ��� ���� �� 
� 
��'� >�� j = 0 �� ���� ����
���	���� (s, y) = (0, 0)� ����� p(t) �	 
 	�����
�� ��� p(t; 0, 0, 0)� 	����
���
x(t) = x(t, 0, 0, 0)�

:� ���		� �� ��� ��� ��		�������� ��
� x(t)−1 ≤ 1� �� ����� �
	� p(t; t, x(t)−
1, 1) = 2−x(t)� ?��� dp/dt = λp(t)−λp(t, t, x−1, 1) = λp−λ2+λx(t, 0, 0, 0),
����� dx/dt = 0 �� 3−t > p 
�� dx/dt = 1 �� 3−t < p� :� ���		 ��
� ��� ���
�
	� ���%�
�����	 ����� �� ������
�	 [0, α), 
�� (α, 3]� ��	���������� &���	 ���� ��
���!����'� 4��	 �� ��� !�	� ������
�� x(t) = 0� 
�� 	� p(t) = 2+Ceλt ���� �
��� 	��� ������
���� ���	�
�� C� �� ��� �
	� ������
�� x(t) = D+ t� D 
� ���
����
���� ���	�
��� 
�� �� ���		 ��
� x(3) = 2 �&:� 
�� �� �
	� &,' 	� 
 ����
�
� ����� ���	� �� s = 3, ���� x(T−) �
	 �� �%�
� 
� ��
	� 2'� 4��	� D = −1�
����� ��
�	 α = 1, 
�� ����� ����	 ��
� dp/dt = λp(t) − λ2 + λ(t− 1) ���
t ∈ (1, 3)� dp/dt = λp(t) − λ2 ��� t ∈ (0, 1)� &��� �
� ���� ��
� �� �	� ���
���%�� ������
 ��� p(t, t, y, 1) ��� t < 1 �� ���	� �
	�	� 	���� 0 < 1−y = 2−x(t)
��� t < 2�' y = x(t, 0, 0, 0) − 1 ∈ (t− 2, 1)� ��� t < 1�'

4��	 �%�
���� �
	 ��� 	������� p(t) = 3− t−1/λ+eλ(t−1)/λ ��� t ∈ (1, 3)�
&��� ������
���� ���	�
�� �	 ���������� �� 3 − α = p(α)� ���� 2 = p(1)' 
��
��� t ∈ (0, 1)� p(t) = 2� &2 = p(1) ����	 
�	� C = 0'�

C�� �	 ���!�� 
 ������ �� ���������	" 4�� ��
�	���	
���� ��������� ���
%����� �� 8=@9 �	 	
��	!�� &p(3) > 0)� 2�������� 
	 3− t �	 �����
	��� 
�� p(t)
�	 ���������
	���� ��� �
 ���� ��������� �	 	
��	!�� �� u = 0 ������ α = 1,

�� �� u = 1 
�����
��	� ?��� ��
� 
 	������� �
	 �� �� ����� 	��� ��
� ���
��� ���	��
��� �	 ��� ���� ����
������ .� 4��	 ��%����	 x(T−, 0, 0, 0) ≥ 2�
4�� 	������� x(t; 0, 0, 0) = max{0, t− 1} 	
��	!�	 ��� �
���� ���%�
���� 
�� ��
��	�����	 ��� �����
� ���
����� ������ 
 ����� ����� 
 ����� �� �	� u = 0
����� t = 1� 
�� ���� u = 1� �� ��� ���� �����	 �� [0, 1)� �� ��� ���� �����	
�� [1, 3)� �� �	� u = 1 
�� ��� ���� 
���� ��� �����

=.



?��� ��
� ��� 	������� �	 ��� 	
�� ��� 
�� λ > 0� ��F����� ���������	� 	��
<��
�( .= ������ 
���� �����

!�
	��� % 5��	���� ��� �������

maxE

∫ T

0

−u2/2dt, ẋ = u, x(0) = −2, x(T ) ≥ 0 
�	�, u ≥ 0

���� 
 ��		������� ��� 
 	������ ���� ���
��	 ���� �� x(t) 
� τ ∈ [0,∞)� τ � ���
�����
��� ��	�������� ���� �����	��� λ� :��� y ≥ 0� ��������� u(t; s, y, 1) =
u(t; s, y, 0) = 0 
�� �����
�� &���� ��� p��������� �
��	����'� 	� �� ����
	���� ���� y;	 	
��	����� y < 0� 4� !�� u(t; s, y, 1)� ��� 	������� ������
8.=9#8.E9�80J9 �	 �	��� 
�� �� 	��( 
 	������� 	
��	����� x(T ; s, y, 1) ≥ 0�
�� �
��� �� ���		 ��
�� 
���� 
 ���� �
	 ��������� �� 	���� x �� 	��� 

�
� ��
� x(T ; s, y, 1) = 0 �� y ≤ 0� &4�� ���		 �	 ���!���� ����� �' �	
u = p(t; s, y, 1) ≡ p̂(s, y)� �� ����	� p̂(s, y) 	��� ��
� �� �� 	�
�� �� (s, y)�

���� y < 0� �� ��� �� (T, 0)� ����� x(T ; s, y, 1) = y +
∫ T

s
p̂(s, y)dt = 0� ��

p̂(s, y) = −y/(T − s)� 2�������� u(t; s, y, 1) = y/(s − T ), x(t; s, y, 1) =
y(t− T )/(s− T ) ��� y < 0�

4� !�� u(t; s, y, 0)� y < 0� ���	���� ��� ��
�
�����	��� �%�
����	" ẋ = p�
ṗ = −λp(t; t, x + 1, 1) + λp = λ(x + 1)/(T − t) + λp� �� x + 1 ≥ 0� ����
��� ���� λ(x + 1)/(T − t)' �� ��� 	����� �%�
����� -�$����	�
���� ��� !�	�
�%�
���� 
�� ��	������ ���� ��� 	����� 
�� !�	� �%�
����	 ���� d2x/dt2 =
λdx/dt − λ(x + 1)/(t − T )� ��� x ≤ −1� &���� ��� �
	� ���� �� ��� ����	���
�
	�'� ���� �����
�� ���������	 x(s; s, y, 0) = y� x(T ; s, y, 0) = 0� -�!����
w(t) �� w(t)(t−T ) = x+1� �� ��� dx/dt = (dw/dt)(t−T )+w 
�� d2x/dt2 =
(d2w/dt2)(t−T )+2dw/dt = λdx/dt−λ(x+1)/(t−T ) = λ(dw/dt)(t−T )+
λw − λw� 	� d2w/dt2 = (λ − 2/(t − T ))dw/dt� ������
���� ���	 	��
�
���
�%�
����� �� ��� ẇ(t) = Ceλt/(t− T )2� 
�� w(t) = D+

∫ t

s
Ceλσ/(σ− T )2dσ�

	� w(t)(t−T )−1 = x(t) = x(t; s, y, 0) = β(t; s, y) := (t−T )[D+
∫ t

s
Ceλσ/(σ−

T )2dσ]−1 = (T−t)[(y+1)/(T−s)−∫ t

s
Ceλσ/(T−σ)2dσ]−1� 
	 ���� 
	 x(t) ≤

−1� &�� �
�� �	�� x(s) = y �� ��������� -'� 4�� �%�
���� ��� x �	 	������
���� y > −1� ���� x(t; s, y, 0) = D′ + C ′eλ(t−s)� :��� x(T ) = 0� x(s) = y�
���	 ����	 x(t; s, y, 0) = β∗(t; s, y) := −yeλT /(eλs − eλT ) + yeλt/(eλs − eλT )�
��� y ∈ (−1, 0)�


����
����� ������ 
�� ����� �� ���� ���� �� (��� ��� 	������� x(t; s, y, 0)
��� (s, y) = (0,−2)� 4�� 	������� x(t; 0,−2, 0) �	 L	������� �
	���1 ��������

� ��� ����� t′′ < T 
� ����� ��� ���� x = −1 �	 ���		��� �� ������� −1 =
β(t′′, 0,−2)� 
	 ���� 
	 �� ������� ��� !�	� �����
����	 �%�
� �� 3���� �����
�����	 λeλt′′/(eλT − eλt′′) = [∂β∗(t; t′′,−1)/∂t]t=t′′ = [∂β(t; 0,−2)/∂t]t=t′′ =

(−1)[−1/T −∫ t′′

0
Ceλσ/(σ−T )2dσ]−Ceλt′′/(T −t′′)� &4�� !�	� ��
�
�����	���

==



�%�
���� ���	 ���� ��
� ẋ �	 ���������	�' 4�� ��� �%�
����	 ��������� C 
��

t′′" 4�� !�	� �%�
���� ������	 �� −1/T − C
∫ t′′

s
eλσ/(T − σ)2dσ = 0� �	���

���	 �� ��� 	����� ���� �� ������	 �� λeλt′′/(eλT − eλt′′) =
− Ceλt′′/(T − t′′)� �� λ/(eλT − eλt′′) = −C/(T − t′′)� ����� ����	 C = (t′′ −
T )λ/(eλT − eλt′′)� 
	��� ���	� ��� !�	� �%�
���� ������	

−1/T = −{λ(T − t′′)/(eλT − eλt′′)} ∫ t′′

0
eλσ/(T − σ)2dσ�

>�� t′′ = 0� ��� �����#�
�� 	��� �	 K� ����� ��� t′′ = T �� �	 −∞� &����
t′′ → T � ��� 	%�
�� ��
�(�� �
	 
 ��	����� ������ ����� ��� ������
� �������	'�
�� 
 	������� ��� t′′ 
�� ����� 
�	� ��� C � �	��

*
���� ����� C 
�� t′′� �� y < −1� ���� x(t; 0,−2, 0) = β(t; 0,−2) ��� t ��
(0, t′′) 
�� x(t; 0,−2, 0) = β∗(t; t′′,−1) ��� t ≥ t′′� 
	��� 	�F����� ���������	
�
	�� �� ����
���� &<��
�( .= �����'� �� �
� �� 	���� ��
� ��� 	�������	
x(t; s, y, 1) 
�� x(t; 0,−2, 0) 
�� �����
�� *��� ��� 	������� ������	 �� λ�

+�� ��
��
� �
� ��
���
�
�� �
��

4�� ��������� &1�
��1' ��� ���������	 
�� ����	��� :��� ����
������ .�

xi(T−, ω) = x̂i, i = 1, . . . , n′ [39a]

xi(T−, ω) ≥ x̂i, i ≥ n′ + 1, . . . , n′′ [39b]

�� 
������� �� ��� �
����� 
		�������	 �� ��� 	�	��� ��������� 	��	�%����
�� 4������ .� �� �	 ��� 
		���� ��
� f0x 
�� fx 
�� ��������� ���������	
�� (x, u)� ��������� �� (t, j)� 
�� ��
� gx(t, x, j) �	 ��������� ���������	 ��
x� ��������� �� t, j� ��
�� ��� 
�� t, x� |gx(t, x, j)| ≤ M ′

j , |g(t, 0, j)| ≤ M ′
j � ���

	��� ���	�
��	 M ′
j� 
�� ��
�

∞∑
j=1

M ′
j <∞ [40]

C�� Π �� ��� �
� (x1, . . . , xn) → (x1, . . . , xn′′)� 
�� ���

B̂ = {x ∈ R
n : xi = 0, i ≤ n′, xi ≥ 0, n′ + 1 ≤ i ≤ n′′}. [41]

4�� ��		������� �� ����� 
��� �� 	
��	�� 80/9 ������	 �� ��� ���
����� �� ���
�����		 &���� �� ��� 1��������
������1 ���������	 �� ��� �����		'� >�� � 
�����
�� f �	 
 ������� �������� &�
	� 8E= �9 �����'� �� �
���� ���� �� �
��
80/
9' 	
��	!��� ���� �
��� ����	 �� xi(.)� i ≤ n′� ����� ���	� �� T � -�!��
g0,j(x) = x� g1,j(x) = x+ g(T, x, j+1)� g2,j(x) = g1,j(x)+ g(T, g1,j(x), j+2)�

�� �����	����� gk,j(x) = gk−1,j(x) + g(T, gk−1,j(x), j + k)� :� 	�
�� ����
��	��		 	�	���	 	
��	����� ��� �� ��� ��� ���������" >�� 	��� T ′ ∈ [0, T )�

=0



R
n′′ ⊂ Π{f(t, x∗(t, ωj), u, j) − b : u ∈ U, b ∈ B̂}

��� 
�� (t, ω), t ∈ [T ′, T ] 8E= 
9

��
supj,t∈[T ′,T ],u∈U |Πf(t, x∗(t, ωj), u, j)| <∞ ��� 
�� ω� gi ≡ 0, i ≤ n′ 8E= �9

:� 	�
�� ��� ��%���� ��
� ��� 
 �
�� x(t, ω), , u(t, ω) �� �� �
���� 
���		���� �
��� ���%�
�����	 supt,ω |x(t, ω)| <∞ 
��� &��� 
�� T ′ < T '� supt≤T ′,ω |u(t, ω)| <
∞ �
�� �� �� 	
��	!��� &?��� ��� ���������� �� T ′ < T �� ��� �
	� ���%�
�����
� 
���� E � ��
��	 ����'

�� ����		
�� ���������	� x∗(t, ω) �	 
		���� �� �� ��� �����
� 	��������
,��� 
	 ��� ����� ���	��
���	 %�
��!�
����	� �� ��
������ �� ���� ��
� 8E=9
����	 ��� 
�� 
���		���� �
��	� &�� 8E=9 �
��	 ��� 	��� 
���		���� 	�������	� ��
��	� 
����
���
��� �� ���	������ 
 �
����
�� ��� �����
�����' 4�� �������
��� ���	�	�	 �� 8/9#8..9� 80/9 9�8EK9� 8E=9� >�� 	�������	 �� �� 
���		����� 80/ 9
�
	 �� ����� �	 ���� 
	 ���� j ����	 �
�� ��������� �� �
	� 8E=�9� �� �
��
�� 	���� ��� 	�	��� �� 	��� 
 �
���� ��
� ��� �%�
�����	 xi = x̂i� i ≤ n′


�� ��� ���%�
�����	 (gk,j(x))i ≥ x̂i� k = 0, . . . , N − j� i = n′ + 1, . . . , n′′

���� ��� x = x(T−; s, y, j)� 4�� ��
	�� �	 ��
�� ������� ���	� t �	 �� T � ����
���� ����	 �
� ������ �� �
	� 8E= 
9� �� 	���� ��� 	�	��� 	��� ��
� 80/9 ����	�

�������
 	����� �
 ��� �
� ��
���
�
�� �
��� ���� N < 1

�		����� ��
� f, f0, g0, g� 
�� h0 
�� C2� ��� ������ ��� !����� 	�������	
��	������ �� ���������� ���� 8.=9#8.E9 &8E9#8B9 
���� 
�	� ���(	 ����� ��� ����
��
��� ������ �	 
 ��
��� �� ��� ������
� ��������� �� p(T )" :� ���� ����
������	� &����������	'� Λi(k, s, y, j), k = 0, . . . , N − j� i = 1, ..., n′′� &����
Λ(k, s, y, j) := (Λ1(k, s, y, j), ...,Λn′′(k, s, y, j), 0, ..., 0) ∈ R

n� �� ������
�� ���
����������

p(T ; s, y, j) = (h0x(x(T ; s, y, j)) +
∑

0≤k≤N−j

Λ(k, s, y, j)gk,j
x (x(T ; s, y, j)),

Λi(k, s, y, j) ≥ 0,Λi(k, s, y, j) = 0 �� (gk,j(x(T ; s, y, j)))i > x̂i, i = n′+1, . . . , n′′.

pi(T ; s, y, j) = (h0x(x(T ; s, y, j))i, i > n′′.

Λi(k, s, y, j) = 0, i ≤ n′, k > 0, 
�� 
�	� ��� i > n′ �� �
	� [42a], [43]

4� 	���� ��� ��� ���	��
���� �������� &���� �� !�� ��
�
�����	��� �
��	' ���

�����	 8.=9#8.E9� ���� �����
�� ���������	

80/9 9�8E09 
�� x(s; s, y, j) = y [44]

=E



&>���
���� ����� �
� �� 
 ���� �� !�� 
�	� 1
�����
�1 ������	� ���	 �	 ����
������ ���� 	��	�%���� �� 4������ E ������'

<��
�( = ��	�����	 ��� ��
�
�����	��� ������	 x(t; s, y, j)� u(t; s, y, j)� p(t; s, y, j)
���� ��	� �� �����	������� ����
������
���� �������	 x(t, ω)� u(t, ω)� p(t, ω)�
�����
���� �� Λ(k, s, y, j) �����	����	 Λ(k, τ1, . . . , τj) := Λ(k, τj, x(τj+; τ1, . . . , τj), j)�
���� τj < T � &:� �
� ���� ����� Λ(k, ω) ��	��
� �� Λ(k, τ1, . . . , τj)� j =
0, 1 . . . , N � �� �� 
���� ��
� Λ(k, ω) �	 
 �������� ��
� �	 ����
������
���� 
�
���� T �'

��	
�� �� 4���� ��
������
�� ������ �
��� ��
�
��������� �������

C�� �	 ��	��		 
 ������ ���� ��� 	�
�� �����	 (s, y) �	�� �� ���	����� ���
��
�
�����	��� 	�������	�

�� ��� ���	��� �� ��	� 
		��� ��
� 
���		���� 	�������	 � �	�� ?�� 
��
��		������� ������	 ��
� ��� ������
� ���������	 
�� 	
��	!��� 
�� ���	 	��	� ��

���		������� 	����� 
�	� �� �����	���� ���� ��
���� ��� ��!������ �� Q(j)
�� 8=K9� 4�� ��	� ��������� 
		������� ������	 ��
� Q(j) �	 ��������� �	
������� 	�������	 x(t; s, y, j) ��	� �� ���	������� ��� 
�� �����	 �� Q(j)� &
	
���� 
	 ��� (0, x0) ���� j = 0'� �

�� 
 	�F����� ��������� ����� �
���� ���� 	��	 Q0(j) 
���
�� ��������	
���� �
� �� ���	������� 
�
�� �� ���	������� 
�� 	�������	 x(t, ω)� 	�
�����

� t = 0 
� 
�� x̂0 �� 
� ���� �
�� 
����� x0 
	 ��������� �� ��� ��	��	�
	��� 	��	�%���� �� 8=K9� ���
	���
���� ���� Q(j) = (0, T ) × R

n ���(	� ,��
���� ��
� ��� �� �
� �� ���� ��F���� &�� �� 	��� �
	�	 ����		����' �� !��
	��� �
���� ���� 	��	 Q0(j)� ��
� �
�� ��� �������� ��
� ��
�
�����	��� 	����
����	 �
� 	�
�� 
������� �� ���	� 	��	 
�� 	���� 	
��	�� ��� ������
� ���������	�

4� ���
�� 
 �
 ���� ��������� &����		
�� ���������'� 
 ��������� �	 ������
��
� 	�����	 ��
� L������ ������	1 �� �
���	 �� ẋ 
�� 
�
��
���" C�� Π �� ���
�
� (x1, . . . , xn) → (x1, . . . , xn”)� >�� 	��� η > 0, c > 0� 	��� �������
����
������
���� �������� z(t, ω)� �������	� 
�� ����#���������	 �� t� �����#
���������	 �� �
�� τi� ��� 
�� ω� ��� 
�� t ∈ [T − η, T ] 	��� ��
� t ∈ (τj , τj+1)�

B(ẋ∗(t, ω) + z(t, ω), η) ⊂ Π{f(t, x∗(t, ω), u, j)− b : u ∈ U ∩ B(0, c), b ∈ B̂}
[45]

�� �
	� �� 8E= 
9� ���	 ��������� ����� ������	 
����
���
����
4�� ��������� �
 ���� ��������� ���� ����
��� ���� 
	 
 ����		
�� ������

���� ��� �����
����� 4�� 
		�������	 �� f0, f, g0, g, h0 	��	�%���� �� 80/9 
��

=@



�� 4������ . 
�� 
�
�� ��	���
���� 2�������� �� �	 
		���� ��
�� ��� 	���
d̂ > 0� Πfx(t, x, u

∗(t, ω), j) �	 ��������� ���������	 �� x ∈ B(x∗(t, ω), d̂)� ����
������ �� t, ω, j� &������
���� 
		�������	 
�� 	�
��� �� <��
�( .J�'

+�����	 % �&�����
� ��
�����
�� �
� ��
���
�
�� �
���
C�� x∗(t, ω), u∗(t, ω) �� 
� �����
� �
�� �� ��� ��� ���	��
���� ������� 8/9#
8..9� 80/9 9�8EK9� 8E=9� �		��� 8E@9� 4��� 4������ . ����	 ���� ��� ����!�
�
����" 4�� ��
�	���	
���� ��������� 8.J9 �� p(T, ω) �	 ��
���� �� ��� ���������
���" 4���� � �	� ����������	 Λi(k, τ1, . . . , τj)� k = 0, . . . , N − j� i = 1, ..., n′′

	��� ��
� 8E09 ����	 ��� (Λi(k, s, y, j), p(T ; s, y, j)� x(T ; s, y, j), h0(x(T ; , s, y, j))
����
��� �� (Λi(k, τ1, . . . , τj), p(T ; τ1, .., τj), x

∗(T ; τ1, . . . , τj),Λ0h0(x
∗(T ; τ1, . . . , τj))�

2�������� �� 8.B9�8.A9� f0, f0x, 
�� g0x 
�� ����
��� �� Λ0f0� Λ0f0x� 
�� Λ0g0x�
��	���������� *���� Λ0 ∈ {0, 1}. >��
����

sup
|z(t,ω)|<1

E

∫ T

0

p(t, ω)z(t, ω)dt <∞, [46]

(z(t, ω) �
���� ���������	 
	 �� 8E@9'� �

4�� ��������	 Λ(k, τ1, . . . , τj) �
� ����
��� �� 
		���� �� �� ������� �����
����	� 
�� �������	� 
�� �����#���������	 �� �
�� �
��
��� 	��
�
����� 4��
��������� 8E@9 ���� 
����
���
��� ��	��� Λ0 = 1 �� z(t, ω) = 0.


���		 	�F����� ���������	� &4������	 @� B �����' 
�� �	��� �� ��	��� ��
�

�� �
����
��	 ��� �����
���� �
�� ���� ������ �� �	 ����		
�� �� 
���� ���
	������� ��������� ���� ��� Λ0 = 1 
�� Λ0 = 0� &��� �
���� �
��� ��%����	 ���
����	 ����!�
����	 �� 8.=9�8.E9� 8E09� ����
�� ��� ���	 ��������� �� 4������
E�'

4�� ���� 1����
���1 �
	 �	�� 
 ������ �� ����	 
���� �� �����
�� ��
� �����

�� �
	�	� �
���� � �������
� ���	� �� ����� ����		
�� ���������	 ��%���� ����
�������	 ��		 ��������
��� ��
� ��� 
���� ���	� � ����� �� 	��� ���������	

���
�	 �� �����	�
� &=KK='�

4�� 	�F����� ���������	 �� 4������ = ��� �
(�	 ��� ��������� ����� &����
�
��� �� ���� ���� ��� 
		��� 8E@9'"

+�����	 ' ���*���
� ��
�����
�� �
� ��
���
�
�� ������	��

�� �� 	��	������ ��� ��
�	���	
���� ��������� �� 4������ . ���� ��� ��� ��

=B



4������ E ��� Λ0 = 1� ���� 4������ = 	���� ����	 �� ��� ��� ���	��
����
�
	�� �

��	
�� �� ���*���
� ��
�
$�� ��
�����
 ,�� ��
�
��������� ��������

�����
���� ��� ��
�
�����	��� ������	 x(t; s, y, j), u(t; s, y, j)� p(t; s, y, j) �����

� �����
� �������� �� ��� ����
���� ���������	 �� <��
�( B ����	� �

�� ��� �� � 	�F������ �������� �� ���� 
 ��� �����
�� ���������� 4�
������
�� ��� 
 ��� �������	 ���� �� �� ��!���� -�!�� s → z(t; s, y, j) ��
�� ��� 	������� �� ��� ��������� ��$������
� �%�
���� &����
� �� z'� ����
(x(t; s, y, j), p(t; s, y, j)) �	 ��	����� ��� (x, p)"

ż(t) = λ(j + 1){z − g0(t, x, j + 1) − z(t, t, x+ g(t, x, j + 1), j + 1)}−
f0(t, x, û(t, x, p, j), j), z(T ) = h0(x(T ; s, y, j)) [47]

&�� �	 ��� 	
�� 
	 8=09 
�����' �		��� ��
� 
�� x(t; s, y, j), p(t; s, y, j) 
��
(����� ������� 8EA9 �� �	��� �
�(�
��	 �����	��� �����	 	�������	 z(t; s, y, j)�
&:��� λ(N + 1) = 0� z(t; s, y, N) �
� !�	� �� ���	������� ���� 8EA9�' -�!��

J(t, x, j) := z(t; t, x, j). [48]

4�� �����
�� ���������	 
��" >�� 
�� 
���		���� 	������� x̂(t, ω)�

sup
t,ω∈{ω:τj<T≤τj+1}

|J(t, x̂(t, ω), j| <∞, 
�� ��� 
�� ω ∈ {ω : τj < T ≤ τj+1}

lim
t→T

J(t, x̂(t−;ω), j) = h0(x̂(T−, ω)) [49]

4�� ���%�
���� 8E/9 
����
���
��� ����	 �� �
	� 8==9 ����	� 4�� ��������
��		 �������� 8==9 �
� ������� �
�� �� ���� �� ��� ���	��
���� �������	� ��
	��� �
	�	 8E/9 �	 �������

+�����	 - ���*���
� ��
�����
� ,�� 
 ���� �, ��
�
��������� ��������
���� N < ∞ 

� ���	�

� ��
���
�
��� �� 4������ 0� �
(� ��� ����
������ ��
���	" -����� 8==9� 
�� 8E/9� 
�� ����
�� ��� ���������		 �����
�����	 �� p(s; s, y, j) 
�� py(s; s, y) �� ��� ���������	 ��
� p(ρ; ρ, x(ρ; s, y) +
g(ρ, x(ρ; s, y), j), j + 1) 
�� py(ρ; ρ, x(ρ; s, y) + g(ρ, x(ρ; s, y), j), j + 1) 
��
���
��� ������� �� (s, y)� ��������� �� ρ� �������� ��� 	��	 Q(j) 
�� 
	 ���
	������ �� <��
�( ..� 
�� ��� ��
�
�����	��� �
��	 ��� 	
��	�� ��� ���	���
������
� 
�� ��
�	���	
���� ���������	 8=/9� 8E09�8E/9� ���� Λi(k, s, y, j) ����
������	 ��� i = n′+1, ..., n′′ � ���� ��� ������	���	 �� 4������ 0 
�� 	���� �
���

=A



�� ��� ��� ���	��
���� �
	� 8/9#8..9� 80/9� �

!�
	��� % ��$������

4������ B �
� 
�	� �� 
������ �� ���
�� �����
���� �� ��� �����	�� �
��
���
��	� ,���� ���� ��������� 8E/9 �	 ��	��		��" C�� j = 1� 
�� ���� ��
��

��� y < 0� J(s, y, 1) :=
∫ T

s
−(y/(T − t))2/2dt = −y2/2(T − s)� �����
	

J(s, y, 1) = 0 ��� y > 0� 	� J(s, y, 1) = −(min{0, y})2/2(T − s)� >��

�� (s, y, 1)�
���		���� �������� x̂(t)� ���� �����	������� ������� u(t)� ���
����� x̂(T ) = 0� limt→T −(min{0, x̂(t)})2/(T − t) = 0� ���
�	� �������	

�� ������� ��������	� &���� �
�� ��������
� �����	'� 4��� 8E/9 ����	 ���
(s, y, 1)� 
���		���� 	�������	 ��
� 	
��	�� x̂(T ) = 0� �� x̂(T ) > 0� x̂(t) >
0 ��� t ���	� �� T � 
�� ��� 	��� t� 0 = J(s, x̂(s), 1) = z(s; s, x̂(s), 1) =
lims→T J(s, x̂(s), 1)� 	� 8E/9 
�	� ����	 �� ���	 �
	�� ?� �� ���	���� ��� �
	�
j = 0� :� ���� 
� � ���		��� ��� J(s, y, 0) ���� ��� y ∈ (−1,∞)� ?���
ẋ(t; s, y, 0) = −λmin{0, y}eλt/(eλs − eλT )� ��� y ∈ (−1,∞)� 
�� J(s, y, 0) =
z(s; s, y, 0)� ����� z(t; s, y, 0) �	 ��� 	������� �� ż =
λz − λ(min{0, x+ 1})2/2(T − t) − λ2(min{0, y})2e2λt/2(eλs − eλT )2 =
λz − λ2(min{0, y})2e2λt/2(eλs − eλT )2�
4��	� z(t; s, y, 0) = −λ(min{0, x})2(eλ(t+T )−e2λt)/2(eλs−eλT )2 
�� J(s, y, 0) =
−λ(min{0, y})2(eλ(s+T )−e2λs)/2(eλs−eλT )2 = λ(min{0, y})2eλs/2(eλs−eλT )
��� y ∈ (−1,∞)� *
���� ���	 ������
� 
 ��	� �� 8E/9� 
	 �
����� ��� 
�����
�
� 
�
�� �� ���� ��� j = 0� 4�� �
	� x̂(T ) > 0 �	 �����
�� �� x̂(T ) = 0�
z(s; s, x̂(s), 0) = J(s, x̂(s), 0) = λ(min{0, x̂(s)})2eλs/2(eλs − eλT ) → 0� ����
s→ T � ���
�	� �������	 
�� ��������

��������	� 4������ B ���	 ��� 
����� ���
�	� 	�������	 ���� ���� ���
�
��	 Q(j) ��� (s, y) �� ��� � �	�� 5��	���� ��� ��������� � 
����"

!�
	��� '

maxE

∫ 3

0

ut dt, ẋ = −u, u ∈ [0, 1], x(0) = 1, x(3−) ≥ 0 
�	�,

���� 
 ��		������� ��� 
 	������ ���� ���
��	 ���� �� x(t)� ���� ����
������
����� �� ��� �����	��� λ�


� 5��	������� !�	� ��� 	���
���� 
���� 
 ���� ���� �����
� ��������� (s, y)�
C�� �	 ����������� ���	����� ��� 	������� �� ���	 �
	�� 4� ��� 	��� L	�3
���1
��	����� �
��� �� ��� ���������� �� �
�� �� �	� u = 1 ��� 	��� ����� 4��
���	��
��� x(3) ≥ 0 �����	 ��� ���� ������
� �� ����� �� �
� �	� u = 1� ��
��������� �
�	 �� ��	����� ��� �	� �� u = 1 
	 ���� 
	 ��		����� ��� �� ���
�
���� t �� ��� ������
��� *����� ��� �����
� �
�� �	 ��������� x = y �����

=J



���� t′′ ����� �� y = 3− t′′� ������
��	� u = 1 
�� ���	 �����	 x(3) = 0� *���
�� 
		���� s < 3 − y� ?��� p(t; s, y, 1) �	 ���	�
��� 
�� �� �
�� 
 	�����
����� 
� t′′� p(t′′; s, y) = 3−y� �� �� ��� ����� �
�� s > 3−y� �� �
� �	� u = 1

�� ��� ����� 
�� 	���� �� �� ��� ��
�� (3, 0)� 	� 0 = p(3; s, y, 1) = p(t; s, y, 1)�
�� s = 3 − y� u = 1 
�� ��� ����� �� ���	 �
	� 
�� p(t; s, y, 1) ≡ p∗ ∈ [0, s]
���(	� ���������� x(t, s, y, 1) = max{y,max{s, 3 − y} + y − t} =
y + max{0,max{s, 3 − y} − t}.

�� ,����� 
 ����� �� ���� ���� ���	���� ��� �
	� &	��'6&K�.'� ��� ���
������� ����	 �	 ��
� 
� �����
� ������ �	 
	 ������	� 4�� �
���� � �� ���
������
�� �� ��� ��������� �
(�	 �� �����
� �� ��	����� �	��� u = 1� :���
�� 	����� �
�� �� ����� u = 1 �	 �����
� �� 
 ���� ������
� I 
� ��� ����
���� *������� ���� 
 ��	����� ����
������ ��� 
 ����� �� �
� �
� �� �
��
I = (a, a+ 1) 
� ����� u = 1 	�����
� �
����� ��
� 
� ��� ���� ���� �� �
�
�� 
��
��
����	 �� �
(� ���� ��� �
���� u = 1 �� 
� 
�������
� 	�� �� �
	�
�� 
 ���� &
 ���� �
(�	 ���	 ��		����'� �� ��
	� ��� λ 	�
��� ���	��
��� ��
���� ��� � ����� ��� �
���� ��		������� ����� &�� 
� 
��'� ��� λ �
���� �� �����
� ���� a �� �� ���	� �� &�� �%�
� ��' 1� �� �
� ����� �
� �� �
�� a < 1� ��� ��
�� � �������� 
 ���� 
� 
�� ������ x �	 ≤ 2 ����� 
�� �� ���;� ���� 
 �
����
������
� ��
� ��� �� ������ = ��� x �� �����
	� ���� �� 3����

�� ?��� �� ��� ��� 	������� ������ 8E9#8B9� 80J9 �� ���(� >�� 
������ �����
����	 p(t) := p(t; 0, 1, 0) 
�� p(t; s, y, 1)� t > τ � �����	������� �� ��� 	���
����
������ 
 ���� �
	 ��������� 
�� 
���� 
 ���� �
	 ��������� ��	���������� ���
��������� �
 ���� ���������	 ����"

(u− u(t; s, y, 1))t+ p(t; s, y, 1)(u(t; s, y, 1)− u) ≤ 0 ��� 
�� u ∈ [0, 1] [∗]

�� ��� u∗(t) := u(t; 0, 1, 0)�

(u− u∗(t))t+ p(t)(u∗(t) − u) ≤ 0 ��� 
�� u ∈ [0, 1] [∗∗]
����� p(t) 	
��	!�	 ��� ��$������
� �%�
����"

ṗ(t) = −λp(t; t) + λp(t) [∗ ∗ ∗]
p(t; t) := p(t; s, x(t+), 1)� ���� ��� ��������� p(3) ≥ 0� = 0 �� x∗(3−) > 0�
&�� ����� x(t; 0, 1, 0) = x∗(t)'� 
�� ����� p(t; s, y, 1)� ��� t > τ 	
��	!�	 ���

������ �%�
���� ṗ = 0� p(3−; s, y, 1) ≥ 0� &= 0 �� x(3−; s, y, 1) > 0'�

�� :� ��� �
(� ��� ��
���� ��
� u∗(T ) = 0� ��� t ∈ [0, a]� a ≥= 1�
u∗(t) = 1 �� (a, a + 1) 
�� u∗(t) = 0 ��� t > a + 1� ��	���� ��
� �� 
 ����

=/



�����	 
� s ∈ (1, 3]� ���� �� ���� �� 
 ����� (s, y) 	
��	����� s ≥ 3− y� ����
s > 3−y �� a > 1� &4� 	�� ���	� ���� ��
� �� s ≤ b := a+1� x∗(s) = 1−(s−a)�
	� y = 2 − (s − a) ≥ 2 − s + 1 = 3 − s� �� s ≥ b ≥ 2� x∗(s) ≥ x(3) ≥ 0� 	�
y = x∗(s) + 1 ≥ 1� 
�� s ≥ 2 ≥ 3 − y� �� �
��� s ≥ b > 2� �� a > 1�' >���

�� ���
�� ��
� p(t; s, y, 1) = 3 − y� �� s < 3 − y� �����
	 p(t; s, y, 1) = 0 ���
s > 3−y� 4��	� ��� s > 1� �� ���� �� 
 ����� (s, y) ��� ����� p(s; s, y, 0) = 0�

�� :� 	�
�� !�	� ���	���� 
 L������ 	�3��1 �
��� �� λ" :� 	�
�� 
		���
��
� 1/(eλ − 1) ∈ (1, 2)� -�!�� h∗(t) :=

∫ 3

t
λe−λτp(s; s, x(s; 0, 1, 0) + 1, 1)dτ �

���������� p(t) = eλt(h∗(t) + h) ��� 	��� ���	�
�� h ≥ 0� �		��� ��� ���
������ ��
� ����� � �	�	 
� ������
� [a, b] ⊂ (0, 3)� b = a+ 1� �� ��� ��������
�� ����� ψ(t) − h > 0� ψ(t) := e−λtt − h∗(t) > 0� ���� ��� ����	��� &	�����'
���%�
���� ������� ���	��� [a, b]� 4���� �� &GG'� ��� t < τ � u∗(t) = 1(a,b)

&��� �����
��� �������� �� ��� 	�� (a, b)'� �� �� ���� �����	 �� [0, 3]� �� �
��
���		�� x∗(3−) = 0� ����� �	 ���	�	���� ���� ��� 
���� ������ �� ��������
&4���� �	 
 ��	����� ����
������ ��
� ����� �	 �� ���� �� [0, 3]� 	� �� ��	�
�
�� x∗(3−) ≥ 0� �� ��� �
	� �� �� ���� �� [0, 3]�'� :� �
�� 
�	� ���		��
&�� �� (���' ��
� a ≥ 1� �� �
�� �� ��� ���		 ��
� a > 1� 5��	���� !�	�
t ≥ a� 4��� h∗(t) = 0� &�� �� ���� 
� s ≥ t� �� ���� �� 
 ����� �����
p(t; s, x(s; 1, 0, 0) + 1, 1) = 0� 	�� ��' 4��	� ��� t ≥ a� ψ(t) = e−λtt =: φ(t)�
?��� 
	 a 
�� b 
�� 	����� �����	� ψ(a) − h = ψ(b) − h = 0� 	� φ(a) = φ(b)�
����� ������	 α(a) := (a+ 1)e−λ(a+1) − ae−λa = e−λa(a(e−λ − 1) + e−λ) = 0�
4��	 �%�
���� 
��
�	 �
	 
 	������� a = 1/(eλ − 1) ∈ (0,∞)� :� �
��
�� �
�� 
		���� ��
� 1/(eλ − 1) ∈ (1, 2)� 	� �� �
�� ������!�� ��� ���
����
� (a, a + 1) �� ���	 �
	�� ?��� ��
� ��� �������� te−λt �����
	�	 ���
��� t = 1/λ 
�� ���� �����
	�	� ����� be−λb = ae−λa� 1/λ ������	 ��
(a, b) 
�� te−λt > ae−λa �� ���	 ������
�� C�� �	 	��� ��
� u = 1 �����	
�
 ���� �� ��� *
�������
� ��� t ∈ (a, b)� &��� &GG''� � ���� 
���� t

� τ � ����	 p(s; s) = 0� 
�� ψ(t) = φ(t)� 	� ψ(t) − h ≥ φ(a) − h = 0�
5��	���� �� � t < a� 4���� ψ(t) ≤ φ(t) ≤ φ(a)� 	� ψ(t) − h �	 ≤ 0
	������ ��
� &GG' �	 	
��	!�� ��� u∗(t) = 0� �����
���� ��� t > b = a + 1�
ψ(t) ≤ φ(t) ≤ φ(b)� 	� ψ(t) − h ≤ 0� ���	 u∗(t) = 0 	
��	!�	 &GG'� *
����
�
�� 
 ������ �� ���		�	 �� �	 ��
		����� �� (��� ��
� �� ���	 �������� 	���
!����� ���������	 ���(�

�� >�� ��� ���	�	���� ��
���� �� �
�� ���	������ ����� ��		���� �
	�	�
5��	���� !�	� ��� �
	� ����� 1/(eλ − 1) ≥ 2� <��
�� ��
� �� ��� ������
�
(1/(eλ−1), 1+1/(eλ−1) φ(t) := te−λt !�	� �����
	�	 ����� 	��� ����� 
�� ����
�����
	�	� ���� φ(1/(eλ − 1)) = φ(1 + 1/(eλ − 1))� ?��� �� ��� a = 2� b = 3�

0K



h := φ(a) ≤ φ(1/(eλ − 1)) = φ(1 + 1/(eλ − 1))� ?��� ��
� ψ ≤ φ �����������
�� �
�� ψ = φ ��� t > 1� 
	 h∗(t) = 0 ��� 	��� t� ��������� φ(t) = ψ(t) > h ��
(2, 1+1/(e−λ−1))� ����� ����
��	 (2, 3)� �� ��� t ∈ (2, 3)� �� &GG'� u∗(t) = 1�
u∗(t) = 0 ��	������� &ψ(t) ≤ φ(t) ≤ φ(2) ��� t < 2� 	���� ψ �	 �����
	��� ���
t < 2�'

>��
���� ���	���� ��� �
	� 1/(eλ − 1) ≤ 1� �� ����� �
	� �� ������� ��
�
a = 1� ?��� ��
� �� s = 3 − y� ���� u(t; s, y, 1) ≡ 1 
�� ��� ��������
p(t; s, y, 1) = p(s, y, 1) �	 ������������� �� �
� �
(� 
�� �
��� �� [0, s]� �
���� 
� s > 2� �� 
� s < 1 �����	 �	 �� 
 ����� y = x∗(s−) + 1 ��� �����
p(t; s, y, 1) = 0 ������ �� 
 ���� s �����	 �� [1, 2]� ���� �� ���� �� y = 3− s�
(x∗(s) = 1 − (s − 1)� 	� y = 1 + x(s) = 2 − (s − 1) = 3 − s)� �� �����
�
	� p(t; s, y, 1) �	 ������������ �� [0, t]� ������	������ �� ��
� ������	� ��
���� �� 	������ 	���
��� ���3��� �
���	 �� ps = p(s; s, x(s−, 0, 1, 0) + 1, 1) ��
[1, 2]" 
�� �� 	�
�� ��� ps = γ∗s� γ∗ �� �� ����������� �� 
 ���� s �����	
������ 1� 
	 �� 	
� 
����� �� ���� �� y 	
��	����� s < 3 − y� �� �����
�
	� ps = 3 − y = 1� 4��	���� ��� ���		 ��
� u∗ = 1 �� (a, b) = (1, 2)�
&= 0 ���	���'� �� ���� �� �
�� ψ(1) = ψ(2)� 4��	 �
� �� ���
���� �� ��
����	� γ∗ ∈ [0, 1] �� ��� ��������� �
����" ?��� ��
� ��� t ≥ 1� ψ(t) =
φ(t) − ∫

[t,2]
λe−λzγ∗zdz = φ(t)− {γ∗te−λt − γ∗2e−λ2 + γ∗e−λt/λ− γ∗e−2λ/λ}�

����� ψ(2)−ψ(1) = (2e−λ2−e−λ)(1−γ∗)−γ∗(e−λ2−e−λ)/λ = 0 ��� γ∗� �����
�����	 0 ≤ γ∗ = (2e−λ2 − e−λ)/[2e−λ2 − e−λ + (e−λ2 − e−λ)/λ] < 1� ?��� ��
�
ψ′(t) = e−λt(1 + λ(γ∗ − 1)t)� ?��� ��� �� ��� ����
� �
���� �� ψ′� ψ′ ��
���	
	��� 
� ��	� ���� �� [1, 2]� �� �
��� ψ′ ��
���	 	��� � 
���� ���	� 
� 
 ����� ��
(1, 2)� ���
�	� ψ(1) = ψ(2)� �� ψ(t) !�	� �����
	��� 
�� ���� �����
	��� ��
[1, 2]� 4��	� ψ(t) ≥ ψ(b) =: h� ��� t ∈ (1, 2)� 2�������� ψ′(t) = φ′(t), t > 2�

�� ψ(2) = φ(2)� ���� φ′(t) < 0� ��� t > 2 > 1 ≥ 1/(eλ − 1)� 	� ψ(t) < ψ(2)�
��� t > 2� 
�� u∗ = 0 ��� 	��� t� &����
����� ���� ��� ���		 �� �
�� 
���
��

�
��'� >��
���� ��� t < 1� ψ′(t) = (d/dt)[te−λt − ∫ 1

t
λe−λσdσ+���	�
��] =

e−λt(1 − λt) + λe−λt > e−λt > 0� 4��	� ψ(t) < ψ(1) < h ��� t < 1� �����
������	 u∗ = 0 ��� 	��� t �� [∗∗]� &����
����� ���� ��� ���		 �� �
�� 
���
��
�
��'�

7����
���� ��� ��	���	 �� ��� �
����	 �
	�	 
���� ������� ���� ��� ����������
�� �
�� �
	�� �� �	 �
	��� 	��� ��
� ��� �
����
�� �����	�� 	
��	!�	 	�F�����
���������	� &����
���� ����	'�

�� <���
�� ��� �����
� ����� (0, 1) �� (0, x′′)� x′′ ∈ (0, 2)� 
�� 
		���
��
� 2 > 1/(eλ − 1) > 1� C�� �	 �����
�� ��� ��� �����
� �
��� ��������

0.



x′′ → J(0, x′′, 0) �	 ��� ��$������
���" >�� 	��� 
� �����
� ���������� ��� 	����
���� �	 
	 ������	" ,����� 
 ����� u∗(t) = 1(a,a+x′′)� ����� a = 1/(eλ − 1) ��
1/(eλ−1) ∈ (2−x′′, 3−x′′)� ���� a �%�
� �� ��� ���� ��� �� ����� ��� �� ���	 ���
����
� �� �
	�	 
�
�����	 �� ��� ���	 
����� -�!�� x̂′′ �� 2− x̂′′ = 1/(eλ−1)�
>�� x′′ > x̂′′� a = 1/(eλ − 1)� 	� a �	 ����������� �� x′′� �����
	 �� x′′ < x̂′′�
���� a ������	 �� x′′� �� �
�� a = 2 − x′′� 4��	 ���
��	 ��
� J(0, x′′, 0) �	 ���
��$������
��� 
� x′′ = x̂′′�

��	
�� �" �����
���� (�	� ��0��

���� �� ��� ��� ���	��
���� �
	�� ��� �������� g0 
�� g �
� ����
�� ��	�
����
���	 V � :� ���!�� ���	����	 �� 
 ����� ������� �� ��� ��
��� ������
��� ��� 	������� ��������� ��������� ���� 8.=9#8.E9 �� ���( �� ���	 �
	�� 
��
��� �� �	 
		���� ��
� ��� Vj;	 
�� 	����
	���
��� ����������� �� τi, Vi� i < j�
4�� ���� ��
��� ������ �	 
 ����!������ �� gk,j� k ≥ 1" C�� ĝ0,j(x) = x�
ĝ1,j(x, vj) = x+g(T, x, vj , j+1)� ĝ2,j(x, vj , vj+1) = x+g(T, ĝ1,j(x, vj), vj+1, j+
2), ..., ĝk,j(x, v1, . . . , vk) = x + g(T, ĝk−1,j(x, vj , . . . , vj+k−1), vj+k, j + k)� 
��
��!�� ��� gk,j �� gk,j(x) := infvj ,...,vj+k

ĝk,j(x, vj , . . . , vj+k)� &
���
��� �		��� #

���	� 	��� ��!��� # 	����� �� �	��'� �

��	
�� �% ����������
 �
 ��� ��	� �
��

5��	���� ��� ��� ���	��
���� ������3
���� ������� 8/9#8..9� 80/9 8EK9� 8E=9
���� ��� 
���� ��	�������� ��
� ����� 
�� ����� ���� 	��	 Q̂(j) ⊂ (0, T )×R

n

�� ����� 
���		���� 	�������	 x(t; τ1, . . . τj) 
�� ��%����� �� 	�
�� j = 0, 1, . . . �

&���� (t, x(t;ωj)) ∈ Q̂(j)'� &4��	 
�����	 �� 
� 
�������
� ��%�������� ��
	�������	 �� �� �
���� 
���		�����' 5������	 u(t; τ1, . . . , τj)� j = 0, 1, . . . 
��

���		���� �� ��� �����	������� 	�������	 
�� 
���		����� 4������ B 
�����	
���� �� ��� ���	��� ������� �� ��� 	��	� ��
� �� �����	 �����
���� �� ���
���	��� ��
		 �� 
���		���� �������	 �������� (t, x(t; s, y, j)) ∈ Q̂(j) ��� 
��
t ≥ s� 
�� (s, y) ∈ Q0(j)� &�� ����	�� �� �	 ��� �����	���� ��
� �� ��� ��!���
���� �� ��� 	��	 Q(j) �� 8=K9� ��� 	�������	 x(., ω) 
�� 
���		���� �� ��� ���	���
	��	�'� �

��	
�� �' ��,� ���	�

� ��
���
�
��

5��	���� ��� ������� ����� ��� 	���������� h0 = 0 
�� ��� �
�� ��� ����
������	 80/9 
�� ����
��� �� ��� ��������� 	��� ���	"

E[xi(T−, ω)] = x̂i, i = 1, . . . , n′ [50a]

0=



E[xi(T−, ω)] ≥ x̂i, i ≥ n′ + 1, . . . , n′′ [50b]

5��	���� ��� 	������� ��������� ��� ������� 8/9�8..9� 80/9� 8EK9� :��� 80/9 �	
����
��� �� 8@K9� ��� ��������� 8E09 �� ���	 ��������� �
	 �� �� ����
��� �� ���
��������� ���� -�!�� 
� 
� ���
�� 	��
� �
��� �������� h0 =

∑n
i=1 λ̃ixi� �����

��� ����������	 λ̃i� 	� �
� 
�� ��(����	� ����� ��� 	������� ��������� ��� ���	
h0���������� 
�� 
� ��� ���� ��������� ��� λ̃i;	 �� �	��� ��� ���������	 8@K9�

�� 8@.9 �����" >�� 	��� �������
���� ����������	 λ̂i, i = 1, ..., n�

λ̃i ≥ 0, i = n′ + 1, . . . , n′′, [51a]

λ̃i = 0 �� E[xi(T ;ω)] > x̂i, i = n′ + 1, . . . , n′′ [51b]

λ̂i = 0, i = n′′ + 1, ..., n. [51c]

�� 8@K9 
�� 8@. �9� x(., ω) �	 ��� ���
������
���� 	������� 	�
����� 
� (0, x0)�
���	������� �� ��� ������ ��	������ �� <��
�( =� ?��� ��
� �� ��� ���	���
�
	�� �� ��������
������ ��������� ��(� ��
� �� 8E@9 �	 ������� �

<��
��� �� 4������	 B 
�� 0� ����� �	 
 	�F����� ��������� �
	�� �� ���
	���
���� *+,��%�
����	 �� ��� �������� 4� ��������� ���	 
����
��� ��� �	
�
(� 	��� ������������ �������	� :� ���� ��� ��������� ����������" �
�������� ��!��� �� 
 ��		���� �������� 	�� A �	 C1 �� A �� �� �
	 
� � �
���	��� �� 
 �
���� ���� 	�� ����� �	 C1� -�!�� ��� �����
� �
��� ��������
��

J∗(s, y, j) = max
u(.,.)

{E[
∑

i

∫ min{T,τi+1}

min{T,τi}
1[s,T ](t)f0(t, x(t, ω), u(t, ω), i)dt+

∑
s≤τi<T

g0(τi, x(τi−, ω), i) + h0(x(T−, ω))|s, y, j]}. [52]

����� ��� �
 ���3
���� �	 ���� 
�� (s, y, j)�
���		���� �������	 u(., ω)� 
��
����� x(t, ω) := xu(.,.)(t, ω)� �	 ������� 
 (s, y, j)�
���		���� ������� �	 

���
������
���� ������� ��� ����� x(t, ω) = xu(.,.)(t, ω) 	
��	!�	 ��� ������
�
���������	 
�� 	�
��	 �� (s, y, j)� &j ����	 �
�� 
���
�� ��������'� :������
����� ��� �����	�� ��� �� �� ����� ��
� ���� ������ �	����
��� �� ��� ���� ���
�
	�� ��� �
�� j� J∗(s, y, j) �	 C1 �� &
� ���� 	�� ����
�����' ��Q(j) 
��
	
��	!�	 ��� Lj���1 *+,��%�
����"

0 = Js(s, y, j) + max
u∈U

{f0(s, y, u, j) + Jy(s, y, j)f(s, y, u, j)}
+λ(j + 1){g0(s, y, j + 1) + J(s, y + g(s, y, j + 1), j + 1) − J(s, y, j)}. [53]

00



�� ��� ���� ��� �
	�� ��� �����
�� ��������� �� J(s, y, j) �	

J(T, x, j) = h0(x). [54]

�� ��� �
	� ����� 
 �
 ���� �� N ����	 �
� ������ ����� �	 
 �����	���
��������� 
�
��
��� ��� 	������ ��� *+,��%�
����� >��	� 8@09#8@E9 
�� 	�����
��� j = N � ���� ��� j = N − 1� &���� �� ���� ��� (�������� �� J(t, x,N))�

�� �� � ��� j = N − 2� &���� �� ���� J(t, x,N − 1))� 
�� 	� �� �
�(�
���
�� ��� ���	��
���� �
	�	� 8@@9 ����� �	 �	�� ��	��
� �� 8@E9� &���� J(s, y, j) �	
����
�	 ��� ��
��������� ��!��� ��� s = T '�

<��
��� �� ��� *+,��%�
���� �	 
 	�F����� ���������� �� ����!�
���� ����
����� :� ���� ��� ��������� �����
�� ���������	�

h0(x
∗(T, ω)) = lim

s→T
J(s, x∗(s, ω), j) ��� 
�� ω = (τ1, τ2, . . .),

��� ����� τj < T ≤ τj+1 [55a]

>�� 
�� 
���		���� 	�������	 x̂(t;ω), lim
s→T

J(s, x̂(t;ω), j) ≥ h0(x̂(T, ω)),

��� 
�� ω = (τ1, τ2, . . .) ��� ����� τj < T ≤ τj+1. [55b]

>�� ��� �� � �������� ��� �	 ��	���
�� ��
� ��� 	�	��� 	
��	!�	 ��� �����
�����	 	�
��� 	��	�%���� �� 4������ .�

+�����	 . �		��� ��
� J(s, y, j), j = 0, 1, . . .� 
�� C1 ��������	 ��Q(j) 	
��
�	����� ��� *+,��%�
���� 8@09 ��� 
�� (s, y) ∈ Q(j)� 
�� ��� �����
�� ������
���� 8@@ �9� �		��� ��
� ��� 
�� 
���		���� 	������� x(t, ω)� |J(t, x(t, ω), j)| ≤
αJ + κJ |x(t, ω)|� 
�� ��
� s → J(s, x(s, ω), j) ��� s ∈ (τj , τj+1) �	 C��	����3
���������	 ���� �
�( κ̂J(1 + κg)

j� ��� 	��� ���	�
�� κ̂J � & 4�� ���	�
��	
αJ � κJ � 
�� κ̂J �
� ������ �� x(., .)�' >��
���� 
		��� ��
� ����� � �	�	 
�

���		���� �
�� (x∗(s, ω), u∗(s, ω)) 	
��	����� 8@@ 
9 
�� ��� �%�
����

max
u∈U

H(t, x∗(t, ω), u, J∗
x(t, x

∗(t, ω), j), j) = H(t, x∗(t, ω), u∗(t, ω), J∗
x(t, x∗(t, ω), j), j)

��� 
�� ω 	��� ��
� τj < t ≤ τj+1� 4��� u
∗(t, ω) �	 �����
�� �

4�� ��������� 8@@9 �	 
����
���
��� 	
��	!�� �� J(s, y, j) �
� �� ���������	��
� ������ �� Q(j)

⋃
(({T} × R

n)∩��Q(j))� j = 0, 1, . . .� 
�� 8@E9 ����	�

4�� ���
����	��� ������� 4������	 B 
�� A �	 
	 ������	� � 	�
��
�� �
��
��� �� 	������ ��� *+,��%�
���� �	 �	��� ��� 	���
���� ��
�
�����	��� �%�
�
����	� -�!���� Ĥ(s, x, p) = maxu{f0(s, x, u) + pf(s, x, u)}� ��� 	���
����
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��
�
�����	��� �%�
����	 ��� ��� 	������� �� ��� j��� !�	� ����� �
���
� ����
�������
� *+,��%�
���� �	 ẋ(s) = Ĥp(s, x, p), ṗ(s) = −Ĥx(s, x, p) − λ(j +
1)(∂/∂x){g0(s, x, j + 1) + J(s, x + g(s, x, j + 1), j + 1) − J(s, x, j)}� �� �
�
�� 	���� ��
� ���	� ��� �%�
����	 ����� ��
� p(s; s, y, j) = Jy(s, y, j)� 	�

��� �
���� �%�
���� �
� 
�����
������ �� ������� ṗ(s) = −Ĥx(s, x, p) + λ(j +
1)[p−g0x(s, x, j+1)−p(s; s, x+ g(s, x, j+1), j+1)(I+ gx(s, x, j+1))]� �� Ĥ
�	 C1 �� x� ��� �%�
���� ��� x 
�� ��� �
	� �%�
���� ��� p �
� �� 	���� �� ��
��� 	
�� 
	 8.09#8.E9 
����� :��� 
�� x(t; s, y, j) 
�� p(t; s, y, j) �
�� ����
������ ���� 8EA9� 8EJ9 ��������	 J(s, y, j) 
�� ���
����� 
�� ���� ���� 	
��	��
��� *+,��%�
���� 8@09�

:��� �	��� ��� *+,��%�
����&	'� �� 
��
�	 ��� �
����
�� �������	 �� 2
�(��
����� �
���� 
	 
�� ������� �������� ��
� �����	 ��� �
 ���� �� ��� *+,�
�%�
�����

��������	� �� �	 ��		���� �� �	� 4������ A &��� ��� 4������ B'� �� �
	�	
����� ���� 	��	 Q0(j) �
���� �� ������ ��� ����� ��� ���������	 �� 4������
B 
�� 	
��	!��� �� ����	�� 
 ������ �� ��������� ��� ��������	 J(s, y, j) ��
4������ A �� �
	� N < ∞ �	 �� �	� ��
�
�����	��� 	�������	� �������� ����
��� ��������	 z(t; s, y, j) 
�� ��� J(s, y, j) = z(s; s, y, j)� 	�� 8EA9� 8EJ9� :�
�
� ���� ��
� ���	� 	�������	 �
� �� ��!��� ��� (s, y) ∈ Q(j)� >��
���� ��
�
� ����( �� J(s, y, j) �
	 
 C1�� ���	��� �� 	��� �
���� ���� 	���

��	
�� �- 5
�
��� 
�	��� �, (�	��� 
�� λ(i) �6�
�

:��� N = ∞� ����� �	 
� ��!���� �
���� �� *+,��%�
����	 8@09� ��� 
	�
	��� ��� ���� ��
� N = ∞� ��� 
�	� ��
� 
�� λ(i) = λ 
�� ��
� g0, g, f0, f

�� ����������� �� j� 4��� ���������� J∗(s, y, j) �	 ����������� �� j� 
�� ���
�
���� �� *+,��%�
����	 ������	 �� ���� �
���� ��� ��� ���
���� ���� 8@09
�� �������� ��� 
�������	 j 
�� j + 1�

:������ 
�� ��� λ;	 
�� �%�
� �� ���� �� �	 ���� �� �
�� �
	�	 ��
� � ������
������
	 ��� 	�������	 �� ��� *+,��%�
����&	' �
� �� ������

�� ��� ���	��� �
	�� ��� 
������ �%�
����	 
�	� ������ �� 
 	����� �%�
�����

�� ��� �
	� �� ���	 ���
�(� -
��	 &.//0' �
	 ��	��		�� ��� �	������		 �� ���
*+,��%�
���� ��� �������
� 	�������	 �� ��� �������� *� 
�	� ���	����	 *+,�
�%�
����	 �� �������	 ���� 
�������
� ��
����	� ��� � 
���� �������	 �����
��� 	�
�� ����	 �
�� ���� �� ��
���	 
 �����
��� �

0@



!�
	��� - &4�� ��������� ������� �	 �		����
��� � 
���� .� ���� N = ∞�'
5��	���� ��� �������"

maxE[

∫ T

0

−u2/2dt+ ax(T )], ẋ = u ∈ R, x(0) = 0,

���� 
 ��		������� ��� 
� ��!���� ������ �� ���
��	 ���� �� x(t) ���� ���
	
�� �����	��� λ ��� 
�� ����	 τj � 
�� ���� ��� 	
�� 	�3� b� &���� x(τi+) −
x(τi−) = b' �

4�� 	����� *+,��%�
���� �	 0 = Js + maxu[−u2/2 + Jyu] + λ[(J(s, y + b) −
J(s, y)]� 4�� �
 ���� �	 �
����
��� �� ������� ��� !�	� �����
���� �� u
�%�
� �� 3���� �� �����	 ��� �
 ���� ����� u = Jy� ��	������ ���	 �� ���
*+,��%�
���� ����	 0 = Js + (Jy)

2/2 + λ[(J(s, y + b) − J(s, y)]. :� ���		
��
� J(s, y) �	 �� ��� ���� φ(s) + kx, k 
 ���	�
��� 4�� *+,��%�
���� �����	
��
� 0 = φ′ + k2/2 + λkb� 	� φ(s) = cs + C� ����� c := −k2/2 − λkb� 
��
C �	 
� ������
���� ���	�
��� ?��� ax = φ(T ) + kx = cT + C + kx� 	�
k = a�C = −cT � ����� φ(s) = c(s− T )� 4�� ������� �	 u = Jy = a�

��	
�� �. �5
�
��� ����0�
� �
�
��� 
�	��� �, �������� (�	���

�� ���	 ���
�(� �� 	�
�� ����)� ������� ���� 
 	�F����� ��������� ��� ���
���
���� �� ��� �
	� ����� T = ∞� h0 ≡ 0, N = ∞ &
� ��!���� ������ ��
��		���� ����	'� 
�� λ(j) = λ� 
�� ����� g0, g� f0� 
�� f 
�� ����������� �� j�
4���� ��� 
�� j� J(s, x, j) = J(s, x, 0)� 
�� ��� ������	��� �� 4������ A 	����
����	 �������� ��� �����
�� ���������	 8@@9 
�� ����
��� �� ��� ���������
���������	�

0 = lim sup
s→∞

EJ(s, x∗(s, ω), 0) [55∗a]

>�� 
�� 
���		���� 	�������	 x̂(t;ω), lim inf
s→∞

EJ(s, x̂(s;ω), 0) ≥ 0. [55∗b]

�

� 	����
� �
	� �	 ������ �� 
�������� g0(t, x) = e−βtg0(x), f0(t, x, u) = e−βtf 0(x, u), β >
0� 
�� ����� g 
�� f 
�� ����������� �� t� 4��� J(s, x, 0) = e−βtJ̃(x)� �����
J̃(x) 	
��	!�	 ��� 1������� �
��� *+,��%�
����1
0 = −βJ̃ + max{f 0 + J̃yf} + λ{g0 + J̃(y + g(y)) − J̃(y)}.

0B



!�
	��� .
max

∫ ∞
0

(xu)αe−βtdt�

	������ ��
dx/dt = ax(1 − u), x(0) = x0 > 0, u ∈ (0,∞) 
�� x(τ+) = kx(τ−)�

����� 
� ��!���� ������ �� ����	 ���� �����	��� λ �
� ������ �� �	 
	�
	���� ��
� α ∈ (0, 1), β > 0, a > 0, k > 0� 
�� κ := β − λ(kα − 1)− αa > 0�

:� ���		 ��
� J̃ = Ayα, A > 0� 4��� ��� ������� �
��� *+,��%�
���� ���
����	 �� 0 = −βyα + maxu>0[y

αuα/A+αyαa(1− u)]+λ(kα − 1)yα. *���� yα

�
� �� �
�������� 
�� ��� �
 ���3
���� ����	 u = B� ����� B = (aA)1/(α−1)�
	� ��� *+,��%�
���� ������	 �� 0 = −β +Bα/A+ αa(1 −B) + λ(kα − 1) =
−κ + a(1 − α)B� �� κ = (1 − α)γA1/(1−α), γ := aα/(α−1). *����� A =
(κ/γ(1−α))α−1, 
��B = a1/(α−1)κ/γ(1−α))κ/a(1−α)� ��� 
���		���� x(t, ω)

�� ������
����� 	� [55∗b] �	 ��������� 	
��	!��� 2�������� dx/dt = cx� ���
c = a(1−B)� ?��� ��
� ��� �
�� t� 	��� ��
� τj < t ≤ τj+1� ��� t ∈ (τj, τj+1)�
x(t−, τ1, ..., τj) = x(τj+)ec(t−τj) = kx(τj−)ec(t−τj)� 
	��� ���	 �%�
���� ��� j
����
��� �� j−1, j−2, ..., 0� �� ��� x(t−, τ1, ..., τj) = kjx0ect� >��� ��� ������
�� ���		�� �����		�	� �� (��� ��
� ��� ����
������ �� j ����	 �� 
� ������
�
[0, t] �	 (λt)je−λt/j!� *����� �� ��� ��
� ��� � ������ �
��� EJ(t, kjx0ect)� ���
m = kα� �%�
�	 AE[(mj(x0)αeαct−βt] = A(x0)αe(αc−β)t

∑∞
0 (mλt)je−λt/j! =

A(x0)αe(αc−β)temλte−λt = A(x0)αe(αc+(m−1)λ−β)t = A(x0)αe−κ(1−α)−1t� 4�� ���
�F����� �� ����� �� t �	 ���
����� ������ ��� ����� �� ��� �
	� � ���		���� 
	
t ���	 �� ��!����� �	 3���� 	� [55∗a] ����	� 4�� �����
� &2
�(��' ������� �	
u(s, y) = B� ���	 ����������� �� (s, y)�

��	
�� �/ �3�
��
��0
���
� �����
��
�� �
 ω��

4�� ��������	 f0� f � g0� 
�� g �
� �� 
������ �� ������ �� ω� ��������
���� 
�� ���
������
���� �� (t, ω) ��� �
�� x, u� 4��� ��� � ������ ������
����� �� ω ��	� �� ������� �� 
�� ������
	� 4��	 �	 ���� �� ����
���� 
��
����� �
	� j;	 �� ��� ������
	 �� ωj� �� �
������
�� Q(j) ������	 Q(ωj)�
4��� ��� ���������	 	��	�%���� �� 4������ . ��	� ���� ��������� �� ω� ����
��� ���%�
���� ��������� φ ��	� ���� ��� 
�� ω� 
�� ��� ������� ���������� ��
x→ fx(t, x, u

∗(t, ω), ω) ��	� �� ������� �� (t, ω)�
��	��
� �� 
		����� ��
� 8./9 ����	 ��� φ = f0 
�� φ = f � ����� ����

B(0, n) �� 8./9 �	 ����
��� �� B(0, n) + {u∗(t)} 
�� |x| �� |x− x∗(t)|� �� �
�
�� 
		���� ��
� ���	 ����!�� ��������� 8./9 ����	 ��� φ = f0(t, x, u, ω) −

0A



f0(t, x
∗(t, ω), u∗(t, ω), ω), 
�� φ = f(t, x, u, ω) − f(t, x∗(t, ω), u∗(t, ω), ω)� ��

���	 �
	�� ����
�� B(0, c) �� 8E@9 �� B(0, c) + {u∗(t, ω)}�
�� ���	 �
	�� u∗(t, ω) ���� ��� �� �������� �� ����

E
∫ T

0
[|f0(t, x

∗(t, ω), u∗(t, ω), ω)|+ |f(t, x∗(t, ω), u∗(t, ω), ω)|]dt <∞. �

��	
�� �1 �4�
��
�� ��7���
��
����� 
���	����
� �
 ��� ��
��

��������� �������
�)�

4�� ��$������
������ ���������	 �� x(t; s, y, j)� p(t; s, y, j), û(t, x, p, j) 
��
Ĥ(t, x, p, j) �� 4������	 0 
�� B �
� �� ��
(���� 
	 ������	� C�� φk(t, x, p, j), k =
1, ..., k∗j � �� C

1���������	 �� (t, x, p) ��� �
�� j 
�� 
		��� ��
� ��� 
�� �����
j, ��� 
�� (s, y) ∈ Q0(j), ��

t ∈ (s, T ) 
�� φk(t, x(t; s, y, j), p(t; s, y, j), j) = 0, ����
φkt + φkx(∂/∂t)x(t

±; s, y, j) + φkp(∂/∂t)p(t
±; s, y, j) �= 0� 8@B9

��� �
���
� �����
����	 φkt, φkx 
�� φkp ����� ��
��
��� 
� (t, x(t; s, y, j), p(t; s, y, j), j).
&4�� � ���		��� �� ��� ����#�
�� 	��� �� 8@B9 �	 
		���� �� �� ������ > 0�
��� ���� ��� ����� 
�� ���� ������ �� < 0 ��� ���� �����	�' �		��� ��
�� ���

�� (t, x, p) ∈ Q∗(j)� φk(t, x, p) = 0 ��� 
� ��	� ��� k� �		��� 
�	� ��
�
��� �
�� j� (t, x, p) → û(t, x, p, j) �
	 
 C0 × C1 × C1�� ���	��� �� 
� ����
	�� ����
����� ��A� ��� 
�� 	�� A �� ��� ���� ∩iΦ

i� Φi = {(t, x, p) ∈ Q∗(j) :
φi(t, x, p, j) > 0}� �� Φi = {(t, x, p) ∈ Q∗(j) : φi(t, x, p, j) < 0}� &��� ������
���� �� ��� ���%�
���� 	��� �
� ������ �� i'� �		��� ��
� Ĥ(t, x, p, j) �	
C2 �� {(t, x, p) ∈ Q∗(j) : φk(t, x, p, j) �= 0 ��� 
�� k}� C�� Q1(j) := {(s, y) ∈
Q0(j) : φk(s, y, p(s; s, y, j), j) = 0 ��� 	��� k}� 
�� Qs,y,j := {t ∈ [s, T ) :
φk(t, x(t; s, y, j), p(t; s, y, j), j) = 0 ��� 	��� k}� 
�� 
		��� ��
� ��� 
��
(s, y) ∈ Q0(j) \Q1(j)� ��� 
�� t /∈ Qs,y,j� (s′, y′) → (x(t; s′, y′, j), p(t; s′, y′, j))
�	 C1×C2 ��� 
�� (s′, y′) �� 
 ������������Nt,s,y,j �� (s, y)� -�!�� J(s, y, j) :=
z(s; s, y, j) &	�� 8EA9' 
�� 
		��� ��
�M(s, y, j) := J(s, y+g(s, y, j+1), j+1)
�	 C0 × C2 �� Q0(j) \Q1(j)� ��
� supt∈[s,T )\Qs,y,j

|M(t, x(t; s, y, j), j)|�
supt∈[s,T )\Qs,y,j

|Mx(t, x(t; s, y, j), j)| 
�� supt∈[s,T )\Qs,y,j
|Mxx(t, x(t; s, y, j), j)|


�� ���
��� ������� �� Q0(j)\Q1(j)� 
�� ��
� ��� 
�� (s, y) ∈ Q0(j)\Q1(j)�
(s′, y′) → J(s′, y′ + g(s′, y′, j + 1), j + 1) �
	 
 C0 ×C2�� ���	��� �� 
� ����
	�� 
����� ��� 	�� {(s′, y′) = (s′, x(s′; s, y, j)) : s′ ∈ [a, b]}� ��� 
�� ������
�
[a, b] ⊂ (s, T ) ��� ����� (a, b) ∩Qs,y,j = ∅�

>��
���� 
		��� ��
� ��� 
�� 
���		���� 	������� x(., ω)� �� (s, x(s, ωj)) ∈
Φk,j := {(s, y) ∈ Q(j) : φk(s, y, p(s; s, y, j), j) = 0}, s > τj � ���� ��� 	���
ε > 0, (s′, x(s′, ωj)) /∈ Φk,j ��� s

′ ∈ (s, s+ ε)� �

?��� ��
� �� ���	 <��
�(� z(s; s, y, j + 1) �	 ����
�	 ���� C0 × C2 ��
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Q0(j+1)\Q1(j+1)� 	�� &���� �� ��		'� ��� ��������� �����	��� �������� ��	�
����" (s, y) ∈ Q0(j) \Q1(j) ⇒ (s, y + g(s, y, j + 1)) ∈ Q0(j + 1) \Q1(j + 1)�
4��	� ����� ��� ��������	 φk(., ., ., j+1)� ��������	 φk(., ., ., j) ��	� �� �����
	��� ��
� 
�	� ���	 �������� ����	�

�� ��� �
	� �� <��
�( .J� ��� ��� ������	���	 �� <��
�( ./ �� ����� ��
�
� �� 
		���� ��
� ��� 
���� ���������	 ���� ��� j ����
��� �� ωj� &���
����
������ �	 ��� �
����� ��� ��� j �� k∗j '� �
�� φk� 	��
�
����� �������	� 
��
�����#���������	 �� �
�� τi, i ≤ j. ��� <��
�( =A ������

��	
�� �2 �λ(j) = λ(t, x, u, j), g0 = g0(t, x, Vj, wj, j)� g = g(t, x, Vj, wj, j)�

�� ���	 ���
�( ��� �����	����	 λ(j) 
�� 
������ �� ������ �� (t, x, u)� 	� λ(j) =
λ(t, x, u, j)� ���� λ(., ., ., .) ≤ K� ��� 	��� K� 2�������� g0 
�� g 
�� 
	�
	���� �� ������ �� ��� 
�������
� �
��
���	 Vj, wj� 	� g0 = g0(t, x, Vj , wj, j)�
g = g(t, x, Vj, wj, j)� *���� Vj �	 
 	����
	��� �
��
��� �� Rn̂� ���� �����
�
���� ��	��������� π(t, x, j)� �� ���� ������ j �����	 
� t = τj 
�� ��� 	�
��
������ ��� ���� �	 x = x(τj−, ω)� ���� ��� �����
���� ��	��������� �� Vj �	
π(t, x, j) = π(τj , x(τj−, ω), j)� >����������� wj �	 
 ������� �
��
��� �
(���
�
���	 �� 
 ����� 	�� Wj � �� �	 
		���� ��
� 
� �
�� ���� ����� τj �� �	 ��		��
��� �� ����	� wj 
���� �
���� ��	����� ��� 1	�3�1 vj �� ��� ����� 
�� wj �
�

�	� ������ �� 
�� �
����� τi, vi, τi < t� ?��� ω = (τ1, v1, τ2, v2, ...)� 
�� ���
�������	 u(t, ω) 
�� wj(t, v, ω) ������ ���� �� τi, Vi ��� τi < t� 4�� ��������	
g0, g, g0x, gx 
�� ���������	 �� (x, V, w)� ��������� �� t� 
�� �������	� 
��
����#���������	 �� t�

�����
� ����
������
���� �������	 
�� ������� u∗(t, ω), w∗
j (t, v, ω)� 4��

*+,��%�
����	 
�� ���

0 = Js(s, y, j) + sup
u∈U

{f0(s, y, u, j) + Jy(s, y, j)f(s, y, u, j)+

λ(x, u, j + 1)E[ sup
w∈Wj+1

{g0(s, y, V, w, j + 1)+

(s, y + g(s, y, V, w, j + 1), j + 1) − J(s, y, j)}|s, y, j]}. [56∗]

4�� � ����
���� �	 �
����
��� �� ��
�	 �� π(s, y, j)�

2�������� �������� λ ������	 ���� �� (t, x, j)� 
�� π ���� �� (t, j)� ��� �%�
�
����	 �� ��� &1��
�
�����	���1' 	������� ������ ��	� �� ����!�� 
	 ������	"
>��	�� �� 
������� �� û� �� 
�	� ���� ��� �������� ŵ(t, x, v, j+ 1) ��������� ��

0/




		�������� ��� �
 ���� ��
maxw∈Wj

[g0(t, x, v, w, j + 1) + z(t; t, x+ g(t, x, v, w, j + 1), j + 1)�

4���� 
�� ��� ����� 1	�
��	1 x, p, z� ���	� ��$������
� �%�
����	 ��	� ��
	����� 	�����
����	��"

ẋ = f(t, x, û(t, x, p, j), j)�

ṗ = −pHx(t, x, û(t, x, p, j), j) + λ(t, x, j + 1)p−
λ(t, j + 1){E[(t; t, x+ g(t, x, Vj+1, ŵ(t, x, Vj+1, j + 1), j + 1)(I+
�x(t, x, Vj+1, ŵ(t, x, Vj+1, j+1), j+1))+g0(t, x, Vj+1, ŵ(t, x, Vj+1, j+1), j+
.'M���9NO
{z − E[g0(t, x, Vj+1, ŵ(t, x, Vj+1, j + 1), j + 1)+
z(t; t, x+ g(t, x, Vj+1, ŵ(t, x, Vj+1, j + 1), j + 1)|t, j]}λx(t, x, j + 1),

ż = λ(t, x, j + 1){z − E[g0(t, x, Vj+1, ŵ(t, x, Vj+1, j + 1), j + 1)+
z(t; t, x+ g(t, x, Vj+1, ŵ(t, x, Vj+1, j + 1), j + 1)|t, j]}.

4�� � ����
���� �	 �
����
��� �� ��
�	 �� π(t, j)� >�� �
�� j� ���	� �%�
�
����	 
�� 	����� 	�����
����	�� �� (x, p, z)� ���� 	��� ���������	 �� ��� ����
��� �
	� x(s) = y, p(T ) = h0x(x(T )), z(T ) = h0(x(T )) 
�� �� ��� �
�� ���
���	��
���� �
	�� 8EE9 
�� z(T ) = h0(x(T ))� &�� ����� �
	� g �	 
		���� ��
�� ����������� �� w'� �

>�� ����		
�� ���������	 �� ��� �
	� λ = λ(t, x, ω)� 	�� �����	�
� =KK.�

' 8���	
� ������
� ������	�

�� ���	 	������� ������� �������	 
�� 	������ �� ����� &
�	�' ��� ������
�
���� �	 	������ �� ������� >��	�� �� ��	����� ��� ����		
�� ��
���	 �� ���
�
	�� 	������� ������� 
�� 	�
�� 
 �����	������� 	�F����� ���������� �
	��
�� ��� !��� �� ��
�
�����	���	 ���
����� ?� �� ��� 
����
�� ��������� ����
��� *+,��%�
���� ���� �� ��	��		���

4�� ������� 	������ �	 ��� ��� �
 ���3
���� �������"

max
u(.,.),T∈[T1,T2]

E[
∑ ∫ min{τj+1,T}

min{τj ,T}
f0(t, x, u, j)dt+

∑
τj<T

g0(τj, x(τj−), j)+h0(T, x(T−))]

[57]
����� ��� �
 ���3
���� �	 	������ �� ��� 	�
��
�� ��	��������	 8/9� 8.K9� &���
��$������
� �%�
����� ��� ����� 	�
�� ������ ��� ���� ���������� 
�� ��� ���
	�������� u ∈ U'� � ! �� ������
� [T1, T2] �	 	����!��� ������ ����� T �	

EK



	������ �� ������� :� �
���� ���	���� ��� �
	� �� 
 ���� ��� &�� ������
�
���������	'� ��
�� ���� �����	����	 λ(i) 
�� 	����!��� 
�� ��� �
	�� 	�������	
��������� ���� ���� ���( ��� ��� 	��� N <∞� λ(i) = 0 ��� i > N �

4�� �
	�� 	������� ��������� ���� ��� �� ��
���� �� 
���� ��� ��� �����
�
������ �� T � �� �	 
		���� ��
� f0, f, g0, g, 
�� h0 
�� C

2� ����� T �	 	������ ��
������� �� � ���� T �� ������ 
 �������� �� (s, y, j)� T = T (s, y, j) ∈ [T1, T2]�
>�� �
�� 	�
����� ����� (s, y, j)� �� 	�
�� 
�	� ����	� T � ����� �� �
�� ���
���� ��(����� �� ���� �� 
�� ������� ���������	 �� ��� �
	�� ���������	
8.=9�8.@9 �� ��� 	������� ������� �� 
�������� 8.E9 ����	 ����!�
����� C�� �	
����� ���� 
�� �%�
����	 ������ ��� ��� 	������� ������� &�� ��� �������
�� ���� 
� 
� ���
�� 	�
�� �
��
��� z ��
� �� �
�� ��� �������'

�������
 	����� ,�� ,��� ���	�

� ��	�� ,��� �
�� N <∞ 4�� 	�������
������ �
(�	 �	� �� ��� ��������� ���
����	���	�

û(t, x, p, j) �
 ���3�	 H(t, x, u, p, j) := f0(t, x, u, j)+ pf(t, x, u, j) ��� u ∈ U.
[58]

ẋ(t) = f(t, x, û(t, x, p, j), j), [59]

ṗ(t) = −Hx(t, x, û(t, x, p), p, j) + λ(j + 1)p

−λ(j+1)[g0x(t, x, j+1)+Jx(t, x+ g(t, x, j+1), j+1)(I+ gx(t, x, j+1))][60]

���� �����
�� ���������	

x(s) = y, p(T ) = [h0x(T, x)]x=x(T ;s,y,T,j) [61]

ż(t) = λ(j + 1)[z − g0(t, x, j + 1) − J(t, x+ g(t, x, j + 1), j + 1)]−
f0(t, x, û(t, x, p, j), j), z(T ) = h0(T, x(T ; s, y, T, j)) [62]

η(T, x(T, s, y, T, j), p(T, s, y, T, j), j) = 0 �� T ∈ (max{s, T1}, T2),

η(T, x(T, s, y, T, j), p(T, s, y, T, j), j) ≥ 0 �� T = T2,

η(T, x(T, s, y, T, j), p(T, s, y, T, j), j) ≤ 0 �� T = max{s, T1},
����� η(T, x, p, j) := max

u
H(T, x, u, p, j) + h0t(T, x)+

λ(j + 1)[g0(T, x, j + 1) + J(T, x+ g(T, x, j + 1), j + 1) − h0(T, x)] [63]

E.



J(s, y, T, j) := z(s; s, y, T, j), 
�� [64a]

J(s, y, j) = J(s, y, T (s, y, j), j), ��� s < T (s, y, j), J(s, y, j)

= h0(s, y) ��� s = T (s, y, j). [64b]

5�������� 8BE9 ����
��	 ���� ��!������	" �� ���� ��� ������
J(s, y, j + 1) �� 8BK9 
�� 8B=9� ?� �� T �	 
 �
�
����� ��
� �	 ���������� ��
��� 	������� ���������� ,����� (������ ��� ������� �
��� �� T � �� ���� ��
	���� 8@/9�8B.9� ��� 
�����
�� T � &
	 ���� 
	 
�����
�� (s, y, j)'� 	� �� ����� ���
	������� �
�� 
	 (x(t; s, y, T, j), p(t; s, y, T, j))� 2�������� ����� �	 ��� 
 ���� 	��
����
����� ������� ��� ��$������
� �%�
����	� �� �
�� ���� x(t; s, y, T, j) 
��
p(t; s, y, T, j) 
�� (����� �� �
� ��	��� ���	� ��������	 ��� x 
�� p �� 8B=9�

�� 	���� ���	 ����
� �%�
���� �� z� �� !�� ��� 	������� z = z(t; s, y, T, j)�
���� x(t; s, y, T, j) 
�� p(t; s, y, T, j) 
�� (����� �� �
� �	� 8B09 �� ������
���� T = T (s, y, j)� � ���� � ��
�
���� �� ��� �	� �� ���	� �%�
����	� 
��
���	 
	 ������	� &
�
�� 
 �����	��� 	������� ��������� �	 
�
��
���'� >��	��
&1	��� N1'� x(t; s, y, T,N)� p(t; s, y, T,N) 
�� ����� �	��� 8@/9�8B.9� ����� T
�	 
 ����� �
�
������ �� ���	 	��� λ(N + 1) = 0� 5�������� 8B=9 �	 �	�� ��
��������� z(t; s, y, T,N) 
�� ��������� 8B09 �	 �	�� �� ��������� ��� &�����
�����' �����
� T = T (s, y, N)� 4���� J(s, y, T,N) 
�� J(s, y, N) 
�� �������
����� �	��� 8BE9� ?� �� &1	��� N − 11'� ���� 8@/9�8B.9� x(t; s, y, T,N − 1)�
p(t; s, y, T,N − 1) 
�� ������ &�� 8BK9 ��� �������� J(s, y, N) ��	� ���	�������
�����	'� ��
��� �	��� ��� (���� J(s, y, N)� 8B=9 �����	 z(t; s, y, T,N − 1)�
2�������� �	��� 8B09 &
�� ��� (���� J(s, y, N)'� ��� �����
� T = T (s, y, N−
1) �	 ����������� 4���� J(s, y, T,N − 1) 
�� J(s, y, N − 1) 
�� �������
����� �	��� 8BE9� ?� �� &1	��� N − 21'� ���� 8@/9�8B.9� x(t; s, y, T,N −
2), p(t; s, y, T,N − 2) 
�� ����� &�� 8BK9 ��� (���� �������� J(s, y, N − 1)
�����	'� 4��� z(t; s, y, T,N − 2) �	 ����� �� ��
�	 �� 8B=9� �	��� ��� (����
J(s, y, N − 1)� 2�������� ��	������ ��� (���� J(s, y, N − 1) 
�� �	��� 8B09�
��� �����
� T = T (s, y, N − 2) �	 ����������� 4���� J(s, y, T,N − 2) 
��
J(s, y, N − 2) 
�� ������� ����� �	��� 8BE9� ��� 	� ��� �� �
�� 	���
%��������	 x(t; s, y, T, j), p(t; s, y, T, j), z(t; s, y, T, j), T (s, y, j), J(s, y, j)�j =
N,N − 1, ...., 
�� ���
�����

:� �
�� ��� ���������� x(t; s, y, j) := x(t; s, y, T (s, y, j), j)�p(t; s, y, j) :=
p(t; s, y, T (s, y, j), j)� J(s, y, j)� T (s, y, j) 
 ��
�
�����	��� %�
������� 
�� ��
�� 
�� u(t; s, y, j) := û(t; x(t; s, y, j), p(t; s, y, j))� �� 	��
( �� 
 ��
�
�����	���
%��������� <��
�� ��
� s ∈ [0, T2]� 
�� ��
� s ≤ T (s, y, j) ≤ T2� 4�� ��������
u(t; s, y, j) �	 ��!��� ��� t ∈ [s, T (s, y, j)]� 
�� ��� 	
�� ���	 ��� x(t; s, y, j)�
p(t; s, y, j)�

E=



��	� �� ��� ���	��� 	���
����� �	��� ��� ��
�
�����	��� 	�������	 x(t; s, y, j)�
�� �
� ����� ���� ��� �����	������� ����
������
���� 	������� x(t, ω)� 
��
���� ��� �����	������� �
����
�� ������� u(t, ω) &
�� 
�	� p(t, ω)'� 4��
�
����
�� 	������� ���� T (ω) �	 ��!��� 
	 ������	" -�!�� !�	� Tj(τj) :=
T (τj , x(τj−, ω)+g(τj, x(τj−, ω), j)), j = 1, 2, ...� ?� �� ��!�� T0(τ0) = T (0, x0, 0)�
T (ω) = min{Tj(τj) : Tj(τj) < τj+1, j = 0, 1, ...}� ?��� ��
� T = T (ω) ����
������	 �� τi;	 ��
� 
�� ≤ T � �� ����� ����	� ��� �������� 1(T (ω),T2](t) �	
����
������
�����

��	
�� �� 4�� ������
���� �� 8B09 �	 ���	�� 	��� ��
� �� 
�	� ���(	 ��
�
	� �� ��� ���	��
���	� ����)� ���
��� �� <��
�( =0 ������ �� ��� ���� ���
�
	� η∗∗(T, x, s, y, j) := η(T, x, p(T ; s, y, T, j), j) =
f0(T, x, û(T, x, p(T ; s, y, T, j), j), j) +
h0x(T, x)f(T, x, û(T, x, p(T ; s, y, T, j), j), j)+ h0t(T, x) +λ(j + 1)[g0(T, x, j+
1) + J(T, x+ g(T, x, j + 1), j + 1) − h0(T, x)].

-�!���� η∗(T, s, y, j) = η∗∗(T, x(T ; s, y, T, j), s, y, j)� �� �	 �
	��� 	��� &
��
	���� �����' ��
� η∗(T, s, y, j) = JT (s, y, T, j)� 4��	� 
		����� ��
�
J(s, y, T, j) ����	 ��� �����
� �
��� ���� 	������� 
� T � ���� 8B09 �	 
 ����	�
	
�� ��������� ��� ����	��� T �����
���� &���� �� T (s, y, j) ∈ (max{s, T1}, T2)�
�� ����		���� JT = 0 
� ���	 �����'� �

,����� ��� � 
����	 
�� ���	����� 	������ ��� �	� �� ���	 ����������
����� �� �� �
������
� �
�� �� ��	����� ��� �	� �� 8B09 �� ����������� ���
�����
� 	������� ����� �� �
�� ���	�� � 
����	 ��
� 
�� %���� �����
�� ��
�
������
� �� ������� u 
���
�	�

!�
	��� - 5��	���� 
 ���� 	������� ������� &�� ������� u'"

maxEx(T )� ���� T ∈ [0, b], ẋ = e−t, x(0) = 0


�� ����� x(t) �
� �
�� ��� �����
��	 ���� ����	 ���� �����	��� λ� λ < 1�
− ln(λ) < b � b 
 ! �� ������ �

4�� ��������� 8@J9�8BE9 ���� �� �	��� ���������� x(t; s, y, T, 2) = y+e−s−e−t�
p(t; s, y, T, 2) = 1� >����������� η(T, x, p, 2) �%�
�	 e−Tp 	� η∗(T, s, y, 2) :=
η(T, x(T, s, y, 2, p(T, s, y, 2), 2) = e−T .2�������� z(t; s, y, T, 2) = z(T ; s, y, T, 2) =
y+ e−s − e−T � J(s, y, T, 2) = y+ e−s − e−T � �� ���	 �
	� �� 
��
�	 ����	� ��
�
�� ����� t = b ������ 	�������� 
 �����
� ��	��� &[63] ⇒ T = b'� ?��� ��
�
J(s, y, 2) = y + e−s − e−b�

?� �� ��� �	 ���	���� j = 1� �� ���	 �
	�� ṗ = λp − λ� :��� ��� ���
��������� p(T, s, y, T, 1) = 1� ���	 ����	 p(t; s, y, T, 1) = 1� >�����������
η(T, x, p, 1) := e−Tp + λ(x− 1 + e−T − e−b − x)� *����� ��� η∗(T, s, y, 1) :=

E0



η(t, x(T, s, y, T, 1), p(T, s, y, T, 1), 1) = e−T +λ(−1+e−T −e−b)� �� �
�� ��
�
η∗(T, s, y, 1) = 0 �� e−T (1 + λ) = λ(1 + e−b)� ���� T = T ∗ = T ∗(b) :=
− ln[λ(1 + e−b)(1 + λ)−1] ∈ (0, b)� &�� e−b = λ, T ∗(b) = b� 
	 dT ∗(b)/db ∈
(0, 1)� T ∗(b) < b ��� ���
��� b;	� ���	� 	
��	����� e−b < λ�' ?��� �� T <
T ∗� η∗(T, s, y, 1) > 0, 
�� �� T > T ∗� η(T, s, y, 1) < 0� *����� �� �
����
�
�� T (s, y, 1) = 0 �� T (s, y, 1) = b� ��� ���� ��		������� �	 T (s, y, 1) =
T ∗� ?��� ẋ = e−t 
�
�� ����	 x(t; s, y, T, 1) = y + e−s − e−t� 
�� ż(t) =
λ[z − (x − 1 + e−t − e−b)] = λ[z − (x(t; s, y, T, 1) − 1 + e−t − e−b)] = λ[z −
(y − 1 + e−s − e−b)]� 	� z(t; s, y, T, 1) = y + e−s − 1 − e−b + Ceλt ����� C
�	 ���������� �� z(T ; s, y, T, 1) = x(T ; s, y, T, 1)� 4�� �
	� �%�
���� ����	
y + e−s − 1 − e−b + CeλT = y + e−s − e−T � ����� ����	 C = e−λT (1 + e−b −
e−T )� 	� z(t; s, y, T, 1) = y − 1 + e−s − e−b + (1 + e−b − e−T )eλ(t−T )� *�����
J(s, y, T, 1) = y − 1 + e−s − e−b + (1 + e−b − e−T )eλ(s−T ) 
�� ��� s < T ∗�
J(s, y, T (s, y, 1), 1) = y − 1 + e−s − e−b + (1 + e−b − e−T ∗

)eλ(s−T ∗) ����� ���
s ≥ T ∗� J(s, y, 1) = y�

>��
���� 
	 ������� p(T, 0, 0, 0) = 1� &�� ��� ���� ���� ���	���� (s, y) =
(0, 0)� 2�������� ��� T ≤ T ∗� η(T, x, p, 0) = e−T +λ{x− 2 + e−T − e−b +(1+
e−b−e−T ∗

)eλ(T−T ∗)−x} = e−T +λ{−2+e−T −e−b +(1+e−b−e−T ∗
)eλ(T−T ∗)}�

*����� η∗(T, 0, 0, 0) := η(T, x(T, 0, 0, 0), p(T ; 0, 0, 0), 0) = e−T +λ{−2+e−T −
e−b + (1 + e−b − e−T ∗

)eλ(T−T ∗)}� >�� T = T ∗� η∗(T, 0, 0, 0) = λ(1 + e−b)(1 +
λ)−1−λ = λ(1+e−b)(1+λ)−1−1) < λ(1+λ)(1+λ)−1−1) = 0.2�������� ���
T < T ∗� (d/dT )η∗ = −e−T (1 +λ)+λ2(1 + e−b − e−T ∗

)eλ(T−T ∗)) ≤ −e−T ∗
(1 +

λ) +λ2(1 + e−b − e−T ∗
) = −λ(1 + e−b)(1 +λ)−1 + λ2(1 + e−b −λ(1 + e−b)(1 +

λ)−1) = 0. 4��	� �� T ∗∗ �	 ��� 	������� �� η∗(T, 0, 0, 0) = 0� ���� T ∗∗ < T ∗ 
��
��� �����
� 	������� ���� �	 max{0, T ∗∗}� &,����� ���	 ����� �� �� �	 ���
���
��
� K� η∗(T, 0, 0, 0) > 0� 
���� ���	 ����� η∗(T, 0, 0, 0) < 0.)

,��� ��� 	�F����� ���������	 ������ &<��
�( ==� 
�� 4������ J� ����
<��
�( =0'� �
� �� �	�� �� 	��� �����
���� �� ���	 	��������

��*���
� ��
�����
� 

� 
�����
� ��
�����
� ,�� ,��� ���	�

�
��	�

-�!�� ��� 	��

Gj := {(s, y) ∈ [T1, T2) × R
n : s < T (s, y, j)}. [65]

4��	 	�� �
� �� �
���� 
 �������
���� ������" �� ��� 	�
�� 
� ���� t ������	
�� ���	 	��� �� �	 	���� 	��� ���� ���� ������ �� 	���� ?���
���� J(s, y, j) �	 ���
�
 ��
� � ������ ���
�� ���
���� ���� 	�
����� 
� (s, y, j)� 	�� ����
����
�� ��	� �
�� ��
�

G(j) := {(s, y) ∈ [T1, T2) × R
n : J(s, y, j) > h0(s, y)} = Gj . [66]

EE



&�� 
 ����� (s, y, j) ����� ��� 	����� ���%�
���� ����	� �� ���;� �
�� �� 	����
���� s �	 < T (s, y, j)'�

:� ��� ���� �� 
 	�F������ �������� �� ����� ��� ��������� 
		�������
�	 ������" >�� t > T1� �� ��� 	�
�� ���		�	 ��� �����
�� ∂Gj �� ��� 	�� Gj � ��
���	 	� �����
������
���� �� L
� 
 ����
�� 
����P�

4��	 �����
������
���� �������� �	 	������ �� ��� ��������� ��
� ��� �
��
(s, y) ∈ ∂Gj ∩ (T1, T2) ×Rn� ��� 
�� u ∈ U �

J∗∗
t (s, y, j) − ht(s, y) + (J∗∗

x (s, y, j)− h0x(s, y))f(s, y, u, j) �= 0. [67]

*���� ��� ��� ������� �� 
		��� ��
� J �	 � ����
��� 
	 
 C1��������� ����
Gj �� 
 �
���� ���� 	�� ����
����� ��G(j)� ���	 � ���	��� ����� ������� J∗∗�
������ J∗∗ �	 ��$����� ���� ��� ���� J��������� ���	��� Gj �

��	� ��� ��������� ��������� �	 �������

0 ≥ h0t(s, y) + sup
u∈U

{f0(s, y, u, j) + h0x(s, y)f(s, y, u, j)}
+λ(j + 1){g0(s, y, j + 1) + J(s, y + g(s, y, j + 1), j + 1) − h0(s, y)} [68]

C�� Q(j) �� ��!��� 
	 ������� ���� ��� ����!�
���� ��
� ��� 
���		����
x(., .);	 �	�� �� ��� ���	�������� �
	 ��������
� 	��	 �� ��!������	 [0, T (ω)]�

+�����	 / ���*���
� ��
�����
 ,�� ��
�
��������� �������
�� N <
∞� �		��� ��
� f0, f, g0, h0 
�� g 
�� C2���������	 
�� ��
� Ĥ(t, x, p, j)

�� û(t, x, p, j) 
��� ��	���������� C0 × C2 × C2 
�� C0 × C1 × C1 �� 
�
���� 	�� Q∗(j)� �		��� ��
� 
 ���������� �� ���� 	��	 D0(j) ⊂ (0, T ) ×
R

n 
�� 
 ���������� �� 	�������	 x(t; s, y, j), p(t; s, y, j)� ���� �����	�����
��� 	������� ����	 T (s, y, j) ∈ [max{s, T1}, T2] 
�� �������	 u(t, s, y, j) =
û(t; x(t; s, y, j), p(t, s, y, j)) �
�� ���� ����� ��� (s, y) ∈ D0(j)� ��� j = 0 ����
��� (s, y) = (0, x0)� ���� p(T (s, y, j); s, y, j) = h0x(T (s, y, j), x(T (s, y, j); s, y, j))

�� x(t; s, y, j) 	�
����� 
� (s, y, j)� �		��� ��
� ��� ��������� ���������	 
��
	
��	!��" -�!�� z(t; s, y, j) ��

ż(t) = λ(j + 1)[z − g0(t, x, j + 1)−
z(t; t, x+ g(t, x, j + 1), j + 1)] − f0(t, x, u(t; s, y, j), j), (∗)

����� x = x(t; s, y, j)� ���� ������
� ��������� z(T (s, y, j); s, y, j) =
h0(T (s, y, j), x(T (s, y, j); s, y, j))� -�!�� 
�	� J(s, y, j) = z(s; s, y, j) ��� (s, y) ∈

E@



D0(j)� 
�� J(s, y, j) = h0(s, y'� ��� (s, y) ∈ ([T1, T2] × R
n) \D0(j)� 4�� 	��	

D0(j) 	
��	�� ��� ���������	 ��
�� ��� 
�� (s, y) ∈ D0(j), T (s, y, j) > s� 
��
��
� T (s, y, j) = sup{t : (t′, x(t′; s, y, j)) ∈ D0(j) ��� t′ ∈ [s, t]} > s. 2����
����� 
		��� ��
� ��� 
�� 
���		���� 	������� x(., ω)� (s, x(s, ωj)) ∈ D0(j)
���� s < T1� �		��� ��
� 8BA9 �	 	
��	!�� ��� 
 	���
��� C1�� ���	��� J∗∗ ��
J � 
�� ��
� 8BJ9 ����	 ��� 
�� (s, y) ∈ ([T1, T2] × R

n) \ D0(j)� �		���� ���

�� (s, y) ∈ D0(j), t ∈ [s, T (s, y, j)], ��
� (t, x(t; s, y, j), p(t; s, y, j)) ������	 ��
Q∗(j), 
�� ��� s′ ∈ (s, t)�
(x(t, s′, x(s′; s, y, j), j), p(t, s′, x(s′; s, y, j), j)) = (x(t; s, y, j), p(t; s, y, j)) 
��
T (s′, x(s′; s, y, j), j) = T (s, y, j) �� T (s, y, j) > s′� �		��� ��
� �������

T (s, y, j) ∈ (T1, T2) �� T (s, y, j) = max{s, T1} �� T (s, y, j) = T2, [68∗]

��� 
�� (s, y) ∈ D0(j)� &�� ��� 	��	� ��
� ������ ��� !�	� �������� ����	 ��� 
��
	��� (s, y)� �� ��� 	����� �������� ����	 ��� 
�� 	��� (s, y)� �� ��� ����� ���
���� ��� 
�� 	��� (s, y))� �		��� ��
� J(s, y, j) > h0(s, y) ��� (s, y) ∈ D0(j)∩
Q(j), s ∈ [T1, T2) 
�� ��
� η(T (s, y, j), x(T (s, y, j); s, y, j), p(T (s, y, j); s, y, j), j) =
0 �� T (s, y, j) ∈ (max{s, T1}, T2)� &��� η� 	�� 8B09'� �		��� ��
� �� D0(j)�
(s, y) → (x(t; s, y, j), p(t; s, y, j)� T (s, y, j)) �	 C1 × C2� 2�������� 
		���
��
�

û(t, x, p, j) �	 ������� �� ������� 	��	��	 �� Q∗(j). [68∗∗]

>��
���� 
		��� ��
� p(s; s, y+ g(s, y, j+ 1), j + 1) 
�� px(s; s, y+ g(s, y, j+
1), j + 1) 
�� ������� �� ������� 	��	��	 �� D0(j)� 4��� ��� �
���� ��
��
�
�����	��� %�
������	 &���� �����	������� �������	 u(t; s, y, j) =
û(t, x(t; s, y, j), p(t; s, y, j)) �	 �����
�� &4�� �
���� �����	 
� �����
� ����

������
���� ������� u(t, ω)� 
�� 
� �����
� 	������� ���� T (ω)�'

��	
�� ��9 �� η∗(T, s, y, j) := η(T, x(T ; s, y, T, j), p(T ; s, y, T, j), j) > 0
��� T ∈ (s, T (s, y, j))� ���� J(s, y, j) > h0(s, y) �� D

0(j)� ��

�� �	 ��		���� �� ��
(�� ��� ��$������
������ 
		�������	 �� 4������ J ��
���	� �� <��
�( ./� 
�� ��
(�� ��������� 8BJG9� >�� ���
��	 	�� 4������ .B
������ &4����
���� ���� T (s, y, j) ����	� 	
�� ���
��	 T2� ��� ���	�	 ��$���
����
������ �� T (s, y, j)� 	��� 	���
����	 ��	� �� 1�
		�� ���� �
�����1� ��
�
�	 
		���� �� �� ��� �
	� �� 4������ .B�'

��	
�� ��� � 	�F����� ��������� �
	�� �� ����
���� �
� 
�	� �� 	�
����
:� 	�
�� ���� ��� ��	� �		����
� ���������	" �		��� ��
� ��� ����
���� ����
������	 �� <��
�( B 
�� 	
��	!��� 2�������� ��� �
�� j� 
		��� ��
� ��� ���
T (s, y, j) ���
���� �� ��� 	������� ���������� �� �
�� ��
�

EB



η(T, x(T, s, y, T, j), p(T, s, y, T ; j)) ≥ 0 �� T ∈ [max{T1, s}, T (s, y, j))�
η(T, x(T, s, y, T, j), p(T, s, y, T, j)) ≤ 0 �� T ∈ (T (s, y, j), T2]� 4��� ��� ��
��

�����	��� 	�������	 
�� �����
�� �

!�
	��� / ��
��� ��� 	���������� �� 	�
�� ���	���� 
 ���� 	������� �������
&�� ������� u'"

maxEx(T )� ���� T ∈ [0, b], ẋ = −x, x(0) = x0 > 0


�� ����� x(t) �
� �
�� 
 	����� ���� ���
��	 ����	 ���� �����	��� λ > x0�
4�� 	�
�� x �	 
��
�	 ��	������ 	� 
�� 	�
�� �
���	 y 
�� ���	�� �� �� > 0� �����
��� ����� �� 	����� �
�	 �� 	��� 
� ����� J(s, y, 1) = y� 
�� p(t; s, y, 1) = 1�
C�� �	 !�� x(t; 0, x0, T, 0), p(t; 0, x0, T, 0)� ���������� x(t; 0, x0, T, 0) = x0e−t


�� ṗ = p + λp− λ� :��� p(T ) = 1� ���	 ����	 p(t, 0, x0, T, 0) = [1 − λ/(1 +
λ)]e(1+λ)(t−T ) +λ/(1+λ)� ?� �� η(T, x, p, 0) �� 8E/9 ������	 �� η(T, x, p, 0) :=
−xp + λ(x + 1 − x) = −xp + λ� 	� η∗(T, 0, x0, 0) := η(T, x(T, 0, x0, T, 0)�
p(T, 0, x0, T, 0), 0) = −x0e−T +λ. ?��� η∗(T, 0, x0, 0) = 0 ����	 T =0 − lnλ <
0� ����� ���	 ��� ���(� ?��� ���� η∗(b, 0, x0, 0) > 0� 
��� ��� 
�� η∗(0, 0, x0, 0) >
0� 	� ��� ���� �	���� �����	
� �	 T (0, x0, 0) = b�

<��
�( == �������� ����	 ��
� ���	 �����	
� T (0, x0, 0) = b �	 �����
��
	���� η∗(T, 0, x0, 0) ≥ 0 ��� 
�� T �

4� �	� 4������ J� �� ���� �������	 x(t; s, y, 0)� p(t; s, y, 0) 
�� T (s, y, 0)

�	� ��� (s, y) �= (0, x0)� ,�� 	���� ���� Q(0) = {(s, x0e−s) : s ∈ (0, b)}� ��
���� ���� ���	���� �����	 (s, y)� ��� ����� y �	 ���� ���	� �� x0e−s� 
�� ��� 	���
�����	 η∗(T, s, y, 0) ≈ η∗(T, s, x0e−s, 0) = η∗(T, 0, x0, 0) > 0� 	� T (s, y, 0) = b�

�� 4������ J ���� 
�	� ����	 �����
�����

>��
���� ��� �	 	�
�� ����		
�� ���������	 ��� ��� ���	��� �������� &��
���
����
��� ���� 
�� 	
��	!��� ��� � �������	 � �	��'

+�����	 1 �&�����
� ��
�����
 ,�� ,��� ���	�

� ��	�� �		���
��
� x∗(t, ω), u∗(t, ω), T (ω) �	 
� �����
� ������� 4��� ��� ����		
�� ������
����	 �� 4������ . 
�� 	
��	!�� ��� T ����
��� �� T (τ0, ..., τj) &���� ��� 
��
����� j� ��� 	�
��� ���������	 
�� 	
��	!�� �� [0, T (τ0, ..., τj)]� ��������� 
�	��
8B09 �	 	
��	!�� ��� T (s, y, j), η(T, x(T ; s, y, T, j), p(T ; s, y, T, j), j) ����
��� ��
(T (ω), η(T, x∗(T, ω), p(T, ω), j) ���� T (ω) ∈ (τj , τj+1)� �

+�� :;<��6�
���
 �
 ����	
� ������
�

�� 
�����
���� 	������� ���� �	 ��� *+,��%�
����� �		��� ��� ��� ������
��
� [0, T ] �� 8@A9 �	 ����
��� �� [s, T ]� 
��� �������� ��
� ��� �
 ���� �	

EA



����� ��� 
�� �
��	 (x(t, ω), u(t, ω)) ����� x(., .) 	�
��	 
� (s, y, j) 
�� �� 
����
T �� �� 	������ �� ������ �� [max{s, T1}, T2]� 4�� �
 ��
� �
��� ���
���� �	
������� J∗(s, y, j)� &��� �
��� ���� ��������� ������ �� (s, y, j)'� :��� ���
	������� ��������� 
���� �	 �	��� �� ���� ���
��� �
	�	� J(s, y, j) ��������	
J∗(s, y, j)� C�� ��� 	�� &1�������
���� ������1' G∗(j) �� ��!��� ��"

G∗(j) = {(s, y) ∈ [T1, T2] × R
n, J∗(s, y, j) > h0(s, y)} [69]

�

,� ��!������ �� G∗(j)� J∗(s, y, j) ≤ h0(s, y) ��� (s, y) ∈ G∗(j) := ([T1, T2] ×
R

n) \ G∗(j)� ,��� �� ����	�� ��� �����
� �
��� �	 ����� 	������� 	�
���� ��
�
h0(s, y)� 	���� �� 
��
�	 �
�� ��� ��		������� �� 	��� ������
���� 
� (s, y)

�� ��� h0(s, y)� ��� J∗(s, y, j) = h0(s, y) ��� (s, y) ∈ G∗(j)� 2�������� ��
�	 �
���
� �� �
�� G∗(j) ��� �������
���� ������� :� ���;� 	��� ������
����

� (s, y) ���� �� 
�� �� G∗(j)� 	���� �� ����������� �� �
� ��� 	��������
������" J∗(s, y, j) ��	��
� �� h0(s, y)�

�		��� ��
� J∗(s, y, j) �	 ���������	 �� (s, y)� 4���� ����
���� ��� �
��
j� J∗(s, y, j) 	
��	!�	 ��� ���������	 8AK9�8A.9 
�� 8A=9 �����"

J∗(s, y, j) = h0(s, y) ��� (s, y) ∈ ∂∗G∗(j) := {(s, y) ∈ ∂G∗(j), s > T1} [70]

����� ∂G∗(j) ������	 ��� �����
�� �� G∗(j)�

�� �
�� ����� (s, y) ∈ ([0, T1) × R
n) ∪G∗(j) 
� ����� J∗(s, y, j) �	 ��$���

����
��� �� (s, y)� ��� ��������� �%�
����� &*+,��%�
����' ����	� ��� J = J∗�

0 = Js(s, y, j) + sup
u∈U

{f0(s, y, u, j) + Jy(s, y, j)f(s, y, u, j)}
+λ(j + 1){g0(s, y, j + 1) + J(s, y + g(s, y, j + 1), j + 1) − J(s, y, j)} [71]

2�������� ��� ��������� ���%�
���� ����	 ��� 
�� (s, y) ∈ ∂G∗(j), s ∈
(T1, T2)"

0 ≥ h0t(s, y) + sup
u∈U

{f0(s, y, u, j) + h0x(t, y)f(s, y, u, j)}
+λ(j + 1){g0(s, y, j + 1) + J(s, y + g(s, y), j + 1) − h0(s, y)} [72]
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4�� ��������� ������ 8A=9 �	 
	 ������	" -����� ��� � ���		��� �� ��� �����#
�
�� 	��� ���� ��� 	�� 	��� �	 ������� �� α(s, u, y)� 4�� ������ α(s, y, u)ds
����	 ��� ��
��� �� ���
�� �� ��	��
� �� 	������� ������
���� 
� s� �� ����
����� �� s + ds� &	�� ��� �� � 	������ �����'� 5��
���� ���	 ��	� �� ≤ 0 ���

�� ������� u�

�%�
���� 8A.9 �	 ��� *+,��%�
���� �� ��� �������� 4�� ������� ��� ����
	�	�	 �� 	������ ��� *+,��%�
���� 8A.9 ��� ��� ��(���� J � ���� �����
��
���������	 8AK9� 8A=9�

��	� �� ��� �����
� 	������� �
	�� 
 	�F����� ��������� �	 ��������� ����
��� *+,� �%�
�����

+�����	 �2 ���*���
� ��
�����
 ,�� ��� :;<��6�
���
� �		��� ��
�
���� 	��	 Ĝ(j) ⊂ R

n+1 
�� ��������	 J(s, y, j)� ��!��� �� ��Q(j) �
�� ����
������ ����� C1 
�� 	
��	����� 8A.9 �� D(j) := Q(j) ∩ Ĝ(j)} 
�� 	
��	�����
J(t, x, j) > h0(t, x) ��� (t, x) ��D(j)� t ≥ T1� 
�� Q(j)∩([0, T1)×R

n) ⊂ Ĝ(j).
2�������� 
		��� ��
� ��� (s, y) ∈ Q(j)∩([T1, T2]×R

n)\Ĝ(j)� J(t, x, j) =
h0(t, x)� ��
� 8BJ9 �	 	
��	!�� ����� 
�� ��
� J(s, y, j) �	 C0 �� ��Q(j)� �	�
	��� 
�	� ��
� ��� �
�� (s, y) ∈ (∂Ĝ(j)) ∩ Q(j), s ∈ (T1, T2)� ��� 
�� u ∈ U �
��� ��������� 8BA9 ����	� ��� 
 	���
��� C1�� ���	��� �� J(s, y, j)|Ĝ(j)� �	�
	���� ����������� ��
�� ��� 
�� 
���		���� �
�� x(t, ω), T (ω)� ��� 
�� ω�
��� 
�� t� |J(t, x(t, ω), j)| ≤ αx(.,.) + κx(.,.)|x(t, ω)| ��� 	��� ��	����� ���	�
��	
αx(.,.), κx(.,.)� 
�� t → J(t, x(t, ωj), j)� t ∈ (τj , T (ω))� �	 C��	����3 ���������	
�� t ���� C��	����3 �
�( βx(.,.)(1 + κg)

j� ��� 	��� ���	�
�� βx(.,.)� �		����
!�
���� ��
� ����� � �	�	 
 ������� �������� u∗(t, ω)� ���� �����	������� 	��
������ x∗(t, ω)� ����� �����	 ��� 	������� �� ��� *+,��%�
���� 8A.9� ���
(s, y) = (s, x∗(s, ω)) ∈ D(j)� 4��� (u∗(t, ω), T ∗(ω)) �	 
� �����
� �
�� �� ���
��
		 �� 
�� �
��	 u(t, ω), T (ω)� ����� T ∗(ω) := inf{Tj(ω

j) : Tj(ω
j) < τj+1}�

Tj(ω
j) = sup{t > τj : (s, x∗(s+, ωj)) ∈ D(j) ��� s ∈ [τj , t)}� Tj(ω

j) = τj ��
��� 	�� �	 ������ �

�	 	
�� ������� 
 	�
��
�� ������ ��� 	������ ��� *+,��%�
���� �	 �� �	�
��� ��
�
�����	��� �%�
����	� 4��	� ���� ��
� ��� ��������	 J(s, y, j) ��!���
�� 8BE9 
����
���
��� 	
��	!�	 8A.9 ��� (s, y) ∈ Gj � �������� ������ ��$������
�
������ �	 � ������� �� ��� ��������	 x(t; s, y, T, j), p(t; s, y, T, j)� 
�� T (s, y, j)�

!�
	��� 1 �		��� �� � 
���� J ��� ��		������� �� 
� ��!���� ������ ��
����	� 
�� ���� �����	��� λ� 4�� *+,��%�
���� 0 = Js+Jx(−x)+λJ−λJ(x+
1) &
	 ���� 
	 ��� 
������ �%�
����' �	 ��� 	
��	!�� ��� 
 	����� �������� J

E/



����������� �� j�

C�� �	 �� 	��� ��������
�� �
����
����	� 4�� � ������ �
��� z(σ) �� x(σ)�
σ ∈ (t, b] �
� �� ����� 
	 ������	" 7���� x(σ)� ��� ���������
� � ������
�
��� �� x(σ + dσ) �	 
���� ��
���� �%�
� �� (x(σ) + ẋ(σ)dσ)(1 − λdσ) +
(x(σ) + 1)λdσ� ��� ��� ����	 
��	���� ��	���������� ���� ��� ��� �����	" ��
���� �� (σ, σ + dσ)� 
�� ��� ���� �� (σ, σ + dσ)� &>�� dσ 	�
�� ��� ��	�
	������� �� ���� ��
� ��� ���� �
� �� ��	�
�����' 4��� Ex(σ + dσ) �
x(σ)(1−λdσ)−x(σ)dσ(1−λdσ)+(x(σ)+1)λdσ � x(σ)−x(σ)dσ+λdσ� *�����
E[x(σ+ dσ)−x(σ)]/dσ � −x(σ) +λ� &	���� ���������
� � ����
����'� *�����
�
(��� �����������
� � ����
���� �� ���� 	���	 ����	 ż = −z(σ) + λ � 4��	
��$������
� �%�
���� �
	 ��� 	������� z(t) = λ+ (y − λ)e−(t−s), (z(s) = y)�
-��	 �� �
� �� 	��� 
� b �
���� ��
� 	������� 
� ����H 4��	 ��%����	 y < z(b)�
����� �����	 y(1 − e−(b−s)) < λ(1 − e−(b−t))� �� y < λ� �� �� ���	 ���%�
����
����	 �� �
�	 �� ��������� &�� �
�� �� � 
���� A 
����� �� 	
� ��
� ���� ��
���� ��� ���� �
� ������ �� �
�	 �� ���������' :�
� �	 ��� �����
� 	��
��
��� �� y > λH :� 	�	���� ��
� �� � �	 ��� ��� �
��� �� �
� 	���� �
� �� ���������

�� �	 ��F���� �� 	���� ��� *+,��%�
���� &�� ��� 
������ �%�
����' �� ���	
�
	�� �� 
 ���		 �	 ������� C�� �	 �
����
�� ��� � ������ ���
�� ���� 	�
���
��� �� (s, y) 
�� �
����� ����� ��� !�	� ���� �����	 
�� ���� 	������� 
� �����
�� �� �� ���� �����	 	������� 
� �� &-����� ���	 ������ R∗�' 4�� � ������
���
�� �	 ���������

∫ b

s

(yes−ρ + 1)λeλ(s−ρ)dρ+

∫ ∞

b

yes−bλeλ(s−ρ)dρ

= η(s, y) := yλ/(1 + λ)(1 − e(1+λ)(s−b)) + 1 − eλ(s−b) + ye(1+λ)(s−b)

?��� ��
� η(b, y) ≥ λ� ���� y ≥ λ� ?��� 
�	� ��
� ∂η(s, y)/∂s =
ye(1+λ)(s−b) − λeλ(s−b) �	 ���
���� ���� y = λ � s < b� 4��	 ��� y > λ�
��� �������� t → η(t, λ) 	�
�	 
���� λ ���� ����� �
�(�
��	� 4��	 ���
	������� x∗(s) �� y = η(t, y) 	
��	!�	 x∗(t) > λ� 4�� ������
 �	

x∗(s) = (1 + λ)
(
1 − eλ(s−b)

)
/
(
1 − e(1+λ)(s−b)

)

����� ��������� �	 ≤ (1 + λ)�

:� �
�� 	��� ��
� (1 + λ) ≥ x∗(s) ≥ λ � 5���
��� �� ��� 
���� 	��
��
���� &R∗'� �� �
�	 �� 	��� �� y > x∗(s)� ?��� 
�	� ��
� �� y < λ ���� �� �
�	
�� �������� ���� �� ���� ��� ���� �
� ����� 
	 	��� 
����� &��� ����
�	 ��
���;� 	��� ������
���� 
���� ��
� �����' �� 	��� y �� 	����� (��� ��
� ��
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��� �� ���� ��� �� �� ���� ���	���� y ≥ λ �

?��� ��
� ���� y+1 ≥ λ+1 ≥ x∗(s)� �� �� �����	� ��� 	�� {(s, y) : y ≥ x∗(s)}
�� �� ��� 1	������� ������1� ���� �� 	�� ��
� �� λ ≤ y ≤ x∗(s)� 
 ���� 
�
(s, y) �����	 y+1 ���� ���	 	������� 	��� 4��	 �� �� ���� ��� J(s, y) = η(s, y)
�� ��� �������
���� ������ {(s, y) : y < x∗(s)}� ����� J(s, y) = y ��	�������
���������
� ��	���	 ���� �	 ��
� J(s, y) 	
��	!�	 ��� *+, �%�
����� ��� (s, y) ��
Gλ := {(s, y) : s < b, λ < y < x∗(t)}� 4� � ��
�� ����������� ��� 	
��	�
�����
�� ��� *+,��%�
����� 	����� ���� ��
� J(t, x) 
	 ���� ��!��� �	 ��� �����
�
� �
��� �������� �� 
 ���� ��	������� �������" 4�
� ��� �� ����� �� 
��
����� �� ������	� 
�� �� ����� �� ��� ��� ���
�� y + 1� ���� �� ���� ����
(s, y) ∈ Gλ �� (s, y + 1)� *������� ��
� J(s, y) 	
��	!�	 ��� *+,��%�
����
�� Gλ �
� �� �������� ��	��� �� ��	������ ���� ��� �%�
����� :� 
�	� ����(
��
� ��� ������� ���%�
���� 8BJ9 �	 	
��	!�� �� ��� �������� h0(s, y) = y ����
	��� ��� �������
���� ������� 
	��� 	�F������ ��	���	 &4������ .K'� �� �
�
�������� ��
� ��� �����
� ������ �
	 ���� �����" ?�� ���� ��� y < λ � ���

�	� 
� �����	 (s, y) ∈ Gλ� �� ��������� 4�� �������
���� ������ �� �
�� �	
G := {(s, y) : s < b, y < x∗(s)}� &:� �
� �� ��������� ���	����� 	�������	
�� ��� *+, �%�
���� 
�	� ��� (s, y) ∈ G, (s, y) /∈ Gλ� �� 	����		����� ����
	�������� 	�������	 �� {(s, y) : s < b, x∗(s) − 2 ≤ y < x∗(s) − 1, {(s, y) : s <
b, x∗(s)−3 ≤ y < x∗(s)−2, . . .� 	���� �� 
��
�	 ���� ���� 
 ����� 	�� �� ���	
	�%����� �� ��� ��������� ��� �� ���	 	�%������ �� ����� �� �
�� 
���
��
���	������� ��� 	�������� ,�� �� ���;� ���� ���	� 	�������	�'

��	
�� �" !
� ��
���
�
�� �		��� �� ������� 8/9� 8.K9� 8@A9� ���� T
	������ �� ������ �� [T1, T2]� ��
� ��� ��������� ������
� ���������	 
�� ������
�����" ��	��

xi(T (ω), ω) = x̂i, i = 1, ..., n′, [73a]

xi(T (ω), ω) ≥ x̂i, i = n′ + 1, ..., n′′. [73b]

4��� 4������	 J 
�� .K 
�	� ���� �� ��� �
	� �� ��� ���	��
���	� ��������
��� ��������� ��
���	 
�� �
��" �� �
	� �� 4������ .K� ���� ��� 
		�������
��
� J(s, y, j) �	 C0 �� ��Q(j)� &��� ��� ��� C1�
		�������' �� J(s, y, j)'�

�� 
�� ��� ��������� ��
�

lim
t↑T ∗(ω)

J(t, x∗(t, ω), j) = h0(T
∗(ω), x∗(T ∗(ω)), [74a]

�� τj ≤ T ∗(ω) < τj+1� 
�� ��
�� ��� 
�� 
���		���� x(., .)�

�� (s, x(s, ωj)) ∈ ∂Ĝ(j), s > T1, ���� lim
t→s

J(t, x(t, ωj), j) = h0(s, y). [74b]
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�� �
	� �� 4������ J� ���� 8BJ∗∗9� 
�� 
�� 8AE�9 ��� Ĝ(j) ����
��� ��
Gj � ���� p(T ) = [h0x(T, x)]x=x(T ;s,y,T,j) ����
��� �� 8E09 ��� T = T (s, y, j)�
λi(k, s, y, j) ���������	 ��� i = n′ + 1, ..., n′′� >��
���� ����
�� ��� ��������
��		 ���������	 �� M(s, y, j) := p(s; s, y+ g(s, y, j), j+1) 
�� �� py(s, s, y+
g/s, y, j), j + 1) �� ��� ���
� ���������		 ���������	 ��
�
supt∈[s,T (s,y,ωj)) |M(t, x(t; s, y), j)|� supt∈[s,T (s,y,ωj)) |Mx(t, x(t; s, y), j)| 
��
supt∈[s,T (s,y,j)) |Mxx(t, x(t; s, y), ω

j)| 
�� ���
��� ������� �� D0(ωj)�

>����������� ����
���� 4������ / ����	 ���� ��� ����!�
���� ��
� ���
��
�	���	
���� ���������	 ��	� �� ���	� 
���
���� �� 4������ E� ��
����
�� ����
���� T �� T ∗(ω)� &��
�� ���� ��� �
	�	 8E=9 
�� ���	������� 
�� 8E@9
�	 
		����� ��� T = T ∗(ω)�' �

- ����,� �, 
 ��������
 �, ��� 
��$� �������

�����	 
�� ����� ��� 	�F����� ���������	 &����!�
���� ��	���	' �
	�� �� ���
*+,��%�
���� 
�� ��
�
�����	��� 	�������	� 
	 ���� 
	 ��� ��� ����		��� ��
��� *+,��%�
����� 5���
�� ���
��	 
�� ���
��� ���� ��		 ��
� ���� ������ 4�
	������� ��� ���
����� �� 	�
�� ���	���� ��� 	����
� �
	� ����� f0 ≡ 0 
��
g0 ≡ 0� 4�� �����
� �
	� �	 ���
��� �� 
������� ��� 1	����
� �
	�1 �� 
 �����
!��� ������� ����� 
� 
� ���
�� 
�������
� 	�
�� x0 �	 ���������� ��������
��

ẋ0 = f0(t, x, u, j), x
0(0) = 0, u ∈ U [75]

x0(τj+) − x0(τj−) = g0(τj , x(τj−), Vj, wj, j), [76]


�� �����
E[x0(T−) + h0(T, x(T−))] [77]

�	 �
 ���3��� :� 	�
�� ���� ���	���� ��� �
	� ����� Wj = W � ��� ����!�
�
����	 ������ �� ���	� 	��	 ������ �� j ����� ������	�

�� ���	 1	����
� �������1� ����
�� �����
��3
����	� 
	 ��������� �� �
����	 <��
�
�(	 
���� 
�� ����������� �� �	 
		���� ��
� 
 �������� λ = λ(t, x, u, ω)� �	
������ λ(t, x, u, ω) ����� ���
������
���� �� (t, ω), ω = (τ0, V0, τ1, V1, ...)� >��

�� k� ��� �������� λ(t, x, u, ω), t ≥ τk� ����	 ��� �����	��� �� ��� �� � ����
τk+1 �� [τk,∞)� 4�� �������� λ(t, x, u, ω) �	 �������	� 
�� ����#���������	
�� t� �������	� 
�� �����#���������	 �� �
�� τk, Vk, k > 0� 
�� ���������	
�� (x, u)� ��������� �� t, ω� 2�������� 0 ≤ λ(., ., ., .) ≤ K� ��� 	��� K > 0�
>����������� ��� 
�� k� ��� �����
���� ����
������ ��	��������� �� Vk �	 �����
�� π(v) = π(v; τk; x, ω)� ����� π(v; t; x, ω) �	 ���
������
���� 
	 
 ��������
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�� (t, ω)� 	� π(v; t; x, u, ω) ������	 ���� �� τi, Vi� 	��� ��
� τi < t� 2��������
π(v; t; x, ω) �	 ��������
	��� �� v� &���	 �
���� ����	���� �����	 �� v'� �� �
���
��� 	��������� �� 
		��� �������	� ���������� �� v� 
�� ���������	 ��$�����
��
������� � ���� 
� ���� �����	� >����������� π(v; t; x, ω) �	 �������	� 
��
����#���������	 �� t ��������� �� ω� ���������	 �� x� ��������� �� t, ω� 
��
�������	� 
�� �����#���������	 �� �
�� τi, Vi, i < k � 4�� ������� �
(�	 ���
����"

maxEh0(T, x(T−, ω)), [78]

	������ ��
ẋ = f(t, x, u(t, ω), ω), x(0) = x0, u ∈ U [79]

��� �
�� ������
� ���������	 80/9� w(t, v, ω) ∈ W 
��

x(τk+, ω) − x(τk−, ω) = g(τk, x(τk−, ω), Vk, w(τk, Vk, ω), ω). [80]

?��� f(t, x, u, ω) 
�� g(t, x, v, w, ω) ������ �� ω� ���� 
�� ���
������
���� ��
(t, ω)� &���� ������ ���� �� τi, Vi� ��� i 	��� ��
� τi < t'� 4�� ������� �
�
���
��� w(t, v, ω) ∈W ���������	 ��� ���� 	�3� 
� 
�� t = τk� w(t, v, ω) �	 ���
��
�����
����� &���� ��������� �� (τi, Vi), τi < t)� 
�� w(t, v, ω) �	 �������	� 
��
����#���������	 �� t 
�� ���������	 �� V � 
�� �������	� 
�� �����#���������	
�� �
�� τi, Vi, τi < t� 2�������� ��� �������	 u(t, ω) ∈ U 
�� ���
������
��
���� �������	� 
�� �����#���������	 �� t� �������	� 
�� ����#���������	 ��
�
�� τi, Vi, τi < t� ���� �������	 w(t, v, ω) 
�� u(t, ω) 
�� �
���� 
���		��
���� �� �	 
		���� ��
� h0 �	 C1� ��
� f 
�� fx� 
�� ��������� ���������	
�� (x, u) ��������� �� t, ω� �������	� 
�� ����#���������	 �� t ��������� �� ω�

�� �������	� 
�� �����#���������	 �� �
�� τi 
�� Vi, τi < t� >�����������
g(t, x, v, w, ω) 
�� gx(t, x, v, w, ω) 
�� ���������	 �� (x, v, w) ��������� �� t, ω�
�������	� 
�� ����#���������	 �� t ��������� �� ω 
�� �������	� 
�� �����#
���������	 �� �
�� τi� 
�� �� �
�� ��������� Vi, τi < t� 2�������� h0, f 
��
g 
�� C��	����3 ���������	 �� x �� �
�(	 κh0 , κf 
�� κg 
�� ��� 	��� ���	�
��	
αf 
�� αg� |f(t, x, u, ω)| ≤ αf + κf |x|� |g(t, x, v, w, ω)| ≤ αg + κg|x| ��� 
��
t, x, u, v, w, ω� :� 
���� N = ∞� >��	�� ��� ! �� ����3�� �
	�� �	 	������� 	�
����� ������� ������� T �	 ! �� QK 
�� ���� �� ����� h0(T, x) = h0(x)�

C�� ωj = (τj+1, Vj+1, τj+2, Vj+2, ...)� :� 	
� ��
� (s, y, ωj) �	 
 	�
����� �����
��� 
 	������� x(t; s, y, ωj), t ≥ s� �� � 
���� j ����	 �
�� �������� 
� τ1 <
... < τj < s� 
�� x(s−; s, y, ωj) = y� C�� (s, y, ωj) �� 
 ����� ������� 
��
��
���� ��
� �� ��� 
���� 	������� (0, x0, ω0) &ω0 
	 ������ �����
���� 3���
����	' �	 ����
��� �� (s, y, ωj)� 4��� ω ���� �� ����
��� �� ωj � �� �����
u(t, ωj) 
�� w(t, v, ωj) 
�� ��� 	������� 	�
����� �� (s, y, ωj) �����	�������
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�� ���	� �������	 �	 ������� xu,w(t; s, y, ωj)� -�!��

J∗(s, y, ωj) = sup
u,w

E[h0(x
u,w(T−, ωj))|s, y, ωj], [81]

��� 	������� �
(�� ���� 
�� 
���		���� u(., ωj)� w(., ωj) ����� �
	 
 ����
��	������� 	������� xu,w(., s, y, ωj) 	�
����� �� (s, y, ωj) 
�� 	
��	����� ���
������
� ���������	� &���� 
 	������� �	 �
���� (s, y, ωj)�
���		�����'

�		��� ��
� ��� �
�� ����� ωj� Q(ωj) ���	�	� �� 
�� �����	 (s, y), s ∈ [τj , T )
��
� �
� �� ��
���� �� 	��� (0, x0, ω0)�
���		���� 	������� x(t, ω) 
���� j
����	� ��� ��� ����� 1���� �
�
�����	1 �� ωj� &���� (s, y) = (s, x(s+, ω))�
,����� �� 	�
�� �
(� �	� �� ��� *+, � �%�
����� ��
� ��
�	" >�� 
�� ωj� ���

�� (s, y) ∈ Q(ωj)� s > τj �

0 = Js(s, y, ω
j) + sup

u∈U
{Jy(s, y, ω

j)f(s, y, u, ωj)+

λ(s, y, u, ωj)E[ sup
w∈Ŵ

J(s, y + g(s, y, V, w, ωj), (ωj, s, V ))|s, y, ωj]−

λ(s, y, u, ωj)J(s, y, ωj)}, [82]

����� Ŵ := Ŵ (s, y, V, ωj) := {w ∈ W : y + g(s, y, V, w, ωj) ∈ Q(ωj, s, V )}�

�� ����� ��� � ����
���� �	 �
����
��� �� ��
�	 �� π(v; s; y, ωj)� ,�����
������� ��������	 u∗(t, ω) 
�� w∗(t, ω)� ���� 
 �����	������� 	������� x∗(t, ω)

���
�� :� 	�
�� �
(� �	� �� ��� ��� ���������	"

w∗(s, V, ωj) �����	 ��� 	������� ���� w �� 8J=9� ��� y = x∗(s−, ωj), 8J09

u∗(s, ωj) �����	 ��� 	������� ���� u �� 8J=9 ��� y = x∗(s−, ωj). 8JE9

:� 	�
�� 
�	� �
(� �	� �� ��� ��������� �����
�� ���������" ��	�� ��� ω
	��� ��
� τj < T ≤ τj+1�

limt→T EJ(t, x(t−, ω), ωj) = Eh0(x(T−, ω)) ��� 
�� 
���		���� x(t, ω)�
8J@9

:� 	�
�� ����� ��� ��������� �������" &>�� ���
������
���� ��������	 ψ(s, ω)
���
�� ��
� �� �
�� ψ(s, ω) = ψ(s, ωj) ���� s ∈ [τj , τj+1)�'

+�����	 �� ��*���
� ��
�����
 ,�� ��� :;<��6�
���
 �		��� ��
�
J(s, y, ωj) �	 
 �������� ��!��� �� Q(ωj) 
�� ��!�� J(s, y, ω) = J(s, y, ωj)
�� s ∈ [τj , τj+1)� ������� Q(ω) := {(s, y) : s ∈ [τj , τj+1) ��� 	��� j 
��
(s, y) ∈ Q(ωj)} �� ��� ���
�� �� ��!������ �� J(s, y, ω).� >�� s ∈ (τj , τj+1) 
	�
	��� ��
� J(s, y, ω) = J(s, y, ωj) �	 � ����
��� �� 	��� ���� 	��	 �
���� ��
�
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{(s, y) : Q(ωj), s > τj}� ����� C1 �� (s, y) ����� 	
��	����� ��� *+,��%�
����
8J=9 &��� �����
����	 	������� ���� ��� C1�� ���	���'� ���� J, Js� 
�� Jy ���
���� 	��
�
����� �������	� 
�� �����#���������	 �� �
�� τi� �
�� ��������� ��
�
�� Vi� �		��� ��
�� ��� 
�� 
���		���� 	������� x(t, ω)� J(s, y, ω) 	
��	!�	
��� �����
�� ��������� 8J@9� 
	 ���� 
	 ��� ���������	 ��
� |J(t, x(t, ω), ω)| ≤
αJ + κJ |x(t, ω)|� 
�� ��
� s → J(s, x(s+, ω), ω) ��� s ∈ [τj , τj+1) �	 C��	�
����3 ���������	 ���� �
�( κ̂J(1 + κg)

j � ��������� �� ω� ��� 	��� ���	�
��	
αJ , κj , κ̂J � &4�� ���	�
��	 αJ � κJ � 
�� κ̂J 
�� ����
�	 ��������� �� x(., .)�'
�		��� ��
� ����� � �	�	 
� 
���		���� ������ (x∗(., ω), u∗(., ω), w∗(., V, ω))
	
��	����� 8J09 
�� 8JE9� 4��� (u∗(t, ω), w∗(t, V, ω)) �	 �����
� �� ��� �������
8AJ9�8JK9�80/9� �

4�� ��������� 8J@9 �	 
����
���
��� 	
��	!�� ��� ��� �
�� ω 	��� ��
� τj <
T < τj+1� J(s, y, ω) �
� �� � ������ ���������	�� �� Q(ωj) ∪ ({T} × R

n)∩��
Q(ωj))� 
�� J(T, x, ω) = h0(x) ����	� �� ��� ���� ��� �
	�� ���� ����� �����
����	 J �
� �� ������ ��� ����� ���	� ��� ���������	 �����

��	
�� �% �4�
��
�� ��7���
��
����� ��
�����
�� �� 4������ ..
�� 	�F��	 ��
� ��� �
�� 
���		���� x(., ω)� J(s, y, ωj) �	 C1 �� 
 ������������
�� �
�� ����� (s, x(s, ω))� s ∈ (τj , τj+1)� � ���� 
� 
 �����
��� ������ ��
����� σj

k(ω
j)� &σj

k(ω
j) �����#���������	 �� �
�� τi�Vi)� �

+�����	 �� �&�����
� ��
�����
 ,�� ��� :;<��6�
���
� �		���
��
� ��� 	��	 Q′(ωj) := {(s, y) ∈ Q(ωj) : s > τj} 
�� ����� 
�� ��
� (s, y) →
J∗(s, y, ωj)� s ∈ (τj , τj+1), �	 C

1 �� Q′(ωj)� C�� x∗(., ω), u∗(., ω), w∗(., V, ω) ��

� �����
� ������ �� ��� ������� 8AJ9�8JK9� 80/9� �		��� ��������� ��
� ���
�
�� j� �
�� ωj� (s, y) ∈ Q′(ωj)� ����� � �	� �����
� �
��	 u∗(t, ωj; s, y, ω

j)�
w∗(t, V, ωj; s, y, ω

j) ���� 
 �����	������� 	������� x(t, ωj ; s, y, ω
j' 	�
����� 
�

(s, y, ωj)� ���� ��� �������� ��
� ��� 
�� 
���		���� 	������� x(., ω)�
u∗(t, ωj; s, x(s, ω

j), ωj)� w∗(t, V, ωj ; s, x(s, ω
j), ωj), 
	 ��������	 �� (s, ωj, ωj)�

	
��	�� ��� 	
�� ���������� ���������	 
	 x∗(s, ω), u∗(s, ω)� w∗(., V, ω)� 4���
J∗(s, y, ωj) 	
��	!�	 8J=9�8JE9 
��

[λ[(s, y, u, ωj)E[supw∈Ŵ J(s, y+g(s, y, V, w, ωj), (ωj, s, V ))|s, y, ωj]]y=x∗(s−,ωj) ≤
[λ[(s, y, u, ωj)E[J(s, y+g(s, y, V, w∗(s, V, ωj), ωj), (ωj, s, V ))|s, y, ωj]]y=x∗(s−,ωj).

8JB9
����� Ŵ := {w ∈W : y + g(s, y, V, w, ωj) ∈ Q(ωj, s, V )}. �

�� ����	�� J∗(t, x(t−, ωj), ωj) ≥ E[h0(x(T−, ω))|t, x(t−, ωj), ωj]� ���� �%�
��
��� 
�	� �� x(., .) = x∗(., .)� ?��� ���� t �	 ���	� �� T � ����� �	 ���� 

	�
�� ����
������ ��
� 
�������
� ����	 ����� �� [t, T ]� 	� ���� t→ T � ����

@@



E[h0(x(T−, ω))|t, x(t−, ωj), ωj] → h0(x(T−, ω))� *����� 8J@9 ��������� ����	
��� J = J∗�

��	
�� �' �� 4������ .=� �� �
��� 8J=9� 8JE9� 
�� 8JB9 ����� ���� ����
u∗(t, ωj; s, y, ω

j), w∗(t, V, ω; s, y, ωj) �� ��� � �	�� 
�� ��� 8J=9 �� ����� �� �
�
���� ���� ��� � �	����� �� u∗(t, ω), w∗(t, V, ω)� �

>�� �	� �� ��� ������
���� �� 
 	�F����� ��������� �
	�� �� ��
�
�����	�
��� ������	� �� 	�
�� ��� 	�
�� 
 ��
�	���	
���� ��������� ������ �� ��� ���
���	��
���� �
	�� 4��	 �� 4������ .0 ������ �� ��� ��� ���	��
���� �
	��
g �	 
		���� �� ������ ���� �� t, x, j, Vj 
�� ��� �
	� ���� ���� τj ������
t� 	� g(t, x, Vj, w, ω

j) = g(t, x, Vj, τj , j)� -�!�� ĝ0,j(x) = x, ĝ1,j(x, Vj+1) =
ĝ0,j(x) + g(T, ĝ0,j(x), Vj+1, T−, j + 1), ..., ĝk,j(x, Vj+1, ..., Vk) =
ĝk−1,j(x, Vj+1, .., Vj+k−1) + g(T, ĝk−1,j(x, Vj+1, .., Vj+k−1, Vk, T−, k)� ?� �� ���
!��� gk,j(x, ωj) =
�		���Vj+1,...,Vk

ĝk,j(x, Vj+1, ..., Vj+k)�
>�� 
�� ωj� 	��� ��
� T > τj � ����� � �	� ����������	 Λi(k, s, y, ω

j), i =
1..., n′′, k = 0, ..., N − j, ���� Λ(k, s, y, ωj) =
(Λ1(k, s, y, ω), ...,Λn′′(k, s, y, ω), 0..., 0) ∈ R

n� 	��� ��
�

p(T ; s, y, ωj) = h0x(x(T ; s, y, ωj))+
∑

0≤k≤N−j

Λ(k, s, y, ωj)gk,j
x (x(T ; s, y, ωj), ωj),

Λi(k, s, y, ω
j) ≥ 0,Λi(k, s, y, ω

j) = 0 �� (gk,j(x(T ; s, y, ωj), ωj))i > x̂i, i = n′+1, . . . , n”.

�� �
	� 8E=
9, Λ(k, s, y, ωj) = 0, k > 0. [86∗]

&����
���� �� ���� ���� ��
� 8E=
9 ����	 ��� 
�� ωj�' �� ��� ���� ��� �
	��
[86∗] ������	 �� p(T ; s, y, ωj) = h0x(x(T ; s, y, ωj))� �� ����� �
	� g �
� �
��
��� �����
� ���� 
���
���� �� [86∗∗] ������

�� ��� �� � �������� �� 
		��� ��
� λ �	 ����������� �� x 
�� u� 
�� π
�	 ����������� �� x� -�!�� M(t, x, ωj) := E[M̂(t, x, ωj, Vj+1)|t, ωj]� �����

M̂(t, x, ωj, Vj+1) := sup
w
J(t, x+ g(t, x, Vj+1, w, ω

j), ωj, t, Vj+1) [86∗∗]

�

@B



+�����	 �" ���*���
� �
��� �
 
 ���� �, ��
�
��������� �������
��

5��	���� ��� ������� 8AJ9�8JK9�80/9� �		��� ��
� f �	 C0×C2 �� t 
�� (x, u)�
��
� h0 �	 C2� ��
� g �	 C0 × C2 
�� ��
� λ(t, ω) �	 ���������	 �� t� �	�
	��� ��
� û(t, x, p, ωj) �����	 �
 ���� �� H(t, x, u, p, ωj) := pf(t, x, u, ωj)�
��� (t, x, p) �� 
 ����� ���� 	�� Q∗(ωj)� >�� s ∈ (τj , τj+1]� 
		��� ��
� 

���������� �� ���� 	��	 Q0(ωj) �� R

n+1� ����
����� Q(ωj) ∩ (τj, T ) × R
n� 
��


 ���������� �� 	�������	 x(t; s, y, ωj)� p(t; s, y, ωj), z(t; s, y, ωj), ���������	 ��
t ∈ [s, T ], �
�� ���� ������ 	
��	����� ẋ = f(t, x, û(t, x, p, ωj), ωj),
ṗ = −pfx(t, x, û(t, x, p, ω

j), ωj) − λ(t, ωj)Mx(t, x, ω
j) + λ(t, ωj)p�

ż = λ(t, ωj)z−λ(t, ωj)M(t, x, ωj), z(T ; s, y, ωj) = h0(x(T ; s, y, ωj))� x(t; s, y, ωj)
	�
����� �� (s, y, ωj)� ��� 
�� j� 
�� ωj� ��� 
�� (s, y) ∈ Q0(ωj)∪Q(ωj)� 4��	�
	�������	 
�� 
		���� �� ��� 	��
�
����� �������	� 
�� �����#���������	 ��
�
�� τi, 
�� �� �
�� ��������� �� �
�� Vi� -�!�� J(s, y, ωj) = z(s; s, y, ωj)�

�� ��� J(s, y, ω) = J(s, y, ωj) �� s ∈ (τj , τj+1], (s, y) ∈ Q(ωj)� �� �	 
		����
��
� x(t; s, y, ωj)� p(t; s, y, ωj) 	
��	!�	 ��� ������
� ���������	 80/9 
�� ���
��
�	���	
���� ���������	 [86∗] ���� Λi(k, s, y, ω

j) ���������	 ��� i = n′ +
1, ..., n′′� �		��� ��
� ŵ(t, x, v, ωj) ����	 �
 ���� �� J(t, x+g(t, x, v, w, ωj), ωj, t, v)
��� (t, x) ∈ Q0(ωj)� 
�� ��
� ��� �
 ��
� �
��� �	 
 ������� �������� ��
v� >����������� 
		��� ��
� (s, y) ∈ Q0(ωj) ⇒ (s, y + g(s, y, ωj, s, Vj+1) ∈
Q0(ωj, s, Vj+1).2�������� 
		��� ��
�� ��� 
�� j� 
�� ωj� (s, y) → (x(t; s, y, ωj),
p(t; s, y, ωj)) �	 C1 ��� (s, y) ∈ Q0(ωj), s > τj � ��� 
�� t ∈ [s, T ]� �		���
��
�� ��� 
�� (s, y) ∈ Q0(ωj)� (t, x(t; s, y, ωj), p(t; s, y, ωj)) ������	 �� Q∗(ωj)�
��� 
�� t ∈ [s, T ] 
�� ��
� (t, x(t; s, y, ωj)) ������	 �� Q0(ωj) ��� 
�� t ∈ (s, T )�
>����������� 
		��� ��
� (x(.; s, y, ωj)� p(.; s, y, ωj)) 	
��	!�	 ��� ���������
1���	�	����� ���������1"

(x(t; s′, x(s′; s, y, ωj), ωj), p(t; s′, x(s′; s, y, ωj), ωj)) =

(x(t; s, y, ωj), p(t; s, y, ωj)), ��� 
�� (s, y) ∈ Q(ωj), s < s′ < t. [86∗∗∗]

2�������� 
		��� ��
� Ĥ(s, x, p, ωj) �	 C0×C2×C2 ��Q∗(ωj)� ��
� û(s, x, p, ωj)
�	 C0 × C1 × C1 ����� ��
� M(t, x, ωj) �	 C0 × C2 �� Q0(ωj) 
�� ��
�
supt∈[s,T ) |M(t, x(t; s, y, ωj), ωj)|, supt∈[s,T ) |Mx(t, x(t; s, y, ω

j), ωj)|,
supt∈[s,T ) |Mxx(t, x(t; s, y, ω

j), ωj)| 
�� ���
��� ������� �� (s, y) ∈ Q0(ωj)�
�		��� ��
� J(s, y, ω) 	
��	!�	 8J@9� 
�� ��� �
�� 
���		���� x(., ω)� ��
�
|J(t, x(t, ω), ω)| ≤ αJ + κJ |x(t, ω)| 
�� ��
� s → J(s, x(s+, ω), ω) �	 C��	�
����3 ���������	 �� (τj , τj+1)� ���� ���	�
�� κ̂J(1 + κg)

j � αJ , κJ , κ̂J ����
�	
��������� �� x(., ω)� �		��� 
�	� ��
� J, Js� 
�� Jy 
��� 	��
�
����� ������
��	� 
�� �����#���������	 �� �
�� τi, 
�� �
�� ��������� �� �
�� Vi� -�!��
x(t, ω) = x(t, 0, x0, ω0)� ��� t ∈ [0, τ1]� 
�� �� ���������� �����
���� x(t, ω) =
x(t, τk, x(τk, ω)+g(τk, x(τk, ω), vk, ŵ(τk, x(τk, ω), vk, ω), ω), ωk)� ��� t ∈ (τk, τk+1]�
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�		��� ��
� w(t, v, ω) := ŵ(t, x(t;ω), v, ωj), t ∈ (τj , τj+1], 	
��	!�	 ��� 	�
��
�
�� ��%��������	 �� 	��� �������	 ��	������ 
����� �		���� !�
��� ��
�
gk,j(x, ωj) �	 C2 �� x� ��� 
�� k, j� -�!�� u(t, ω) := û(t, x(t;ω), p(t;ω), ωj), t ∈
(τj , τj+1]. 4��� u(t, ω), w(t, v, ω) �
(� �� 
� �����
� �
��� �

����,� �, +�����	� ��� ��� �" :� ���� 
 ��$������
� ������
 &��!����	��
�
� �����
���' ��� �������	� ���������	��� �%�
����	� C�� x(t; a, y, ωj)� u(t, ωj),
w(t, v, ωj) �� 
�� ���
������
���� ������ 	
��	����� 8A/9�8JK9� 	�
����� �� (a, y, ωj)

�� ����� λ(t, ωj) := λ(t, x(t; a, y, ωj), u(t, ωj), ω)� π(v; t, ωj) := π(v; t, x(t; a, y, ωj), ωj)�

=�		
 � C�� a, y, ωj �� ����� �������	� a ∈ (0, T )� 
�� ��� φ(s, x, ω) �� 

����� ��������� 	��� ��
� φ(s, x, ω), φs(s, x, ω) 
�� φx(s, x, ω)� ��� �
�� ω� 
��
���������	 �� (s, x), s ∈ (τk, τk+1)� ���
������
���� �� (s, ω)� 
��� ��� �
��
(s, x)� �������	� 
�� �����#���������	 �� �
�� τi < s, 
�� �� �
�� ������
���� �� �
�� Vi� C�� x(s;ωj) := x(.; a, y, ωj) �� 
�� ���
������
���� 	�������
	�
����� �� (a, y, ωj)� �����	������� �� 
�� ����� �������	 u(t, ωj), w(t, v, ωj)�
&τj+1 ≥ a'� :� 
		��� ��
�� ��� 	��� ��	����� ���	�
��	 αx(.,.) 
�� κx(.,.)�
|φ(s, x(s, ωj), ω)| ≤ αx(.,.)+κx(.,.)|x(s, ωj)| ��� 
�� s, ωj 
�� ��
� s→ φ(s, x(s, ωj), ωj)
��� s ∈ (τk, τk+1), k ≥ j �	 C��	����3 ���������	 ���� �
�( κ̂x(.,.)(1 + κg)

k�
��� 	��� ���	�
�� κ̂x(.,.)� -�!�� η(r; t, ωj) := E[φ(r, x(r−, ωj), ωj)|t, ωj)]�
r > t ≥ a� &η(r, a, ωj) = η(r, a, ωj'� 4�� 	����� |t, ωj] ��
�	 ��
� ��� � �
����
���� �	 �
����
��� �� ������������ �� 
�� (τi, Vi) �� ωj ��� ����� τi < t�
&������ ��� �
���	� 	��� i �� i(ωj)'� 
	 ���� 
	 �� 
�� (τi, Vi) �� ��� ! �� ωj�
4���

∂+η(t; a, ωj)/∂t = E[γ(t, ωj)|a, ωj], [87]

����� (∂+/∂) ��
�	 
 ����� �����
���� 
�� ����� γ(t, ωj) =

φt(t, x(t+, ωj), ω) + φx(t, x(t+, ωj), ω)f(t, x(t+, ωj), u(t+, ωj), ω)+
λ(t, ωj)E[φ(t, x(t+, ωj)+g(t, x(t+, ωj), V, w(t+, V, ωj), ω), ωi(ωj), t, V )|t, ωj)]−
λ(t, ωj)φ(t, x(t+, ωj), ω).

��� � ����
���� ����� �
����
��� �� ��
�	 �� π(v; t+, ωj)� �

����, �, =�		
 �� >��	�� �� �
�� �� ����� ��� ��������� ��$������
�
������
� &������
 ��� ��� ����� �����
���� �� r → η(r; t, ωj) 
� r = t'�

[∂+η(r; t, ωj)/∂r]r=t = γ(t, ωj) [88]

4�� ����� �� 8JJ9 �	 
	 ������	� &�� ��� �����	 �� 8JJ9 
�� C���
 . ����
��
���
��	 �
�� ���� �����
��� �� �����	 8�9�8,9 �� ������� '� :���� X(t) :=

@J



x(t+, ωj)� �		��� ��
� � 
���� k ����	 �
�� �������� �� [0, t)� >�� ∆t 	�
���
���� 
 	����� ����� ����� �	 �
�� �� 
		����� ��
� ����� �	 
� ��	� ��� ����
����� τk+1 �� (t, t+∆t)� ���� 
 ����
������ 
���� ��
���� �%�
� �� λ(t+, ωj)∆t
��� 
 �����&	�� 8�9 �� ������� '� �����
���� ��� 
���� ��
���� w(t+, v, ωj, )
�� ��� 1���� �
���1 w(τk+1, v, ωj)� &����� ����� 
		������� �	 �	��'� ,� ���
���������� 
		�������	 ��	���
���� 
 !�	� ����� ����� �	 �
�� �� 
		�����
��
� φ(t+∆t, X(t+∆t), ωk, t, Vk+1) 
�� E[φ(t+∆t, X(t+∆t), ωk, t, Vk+1)| 

���� �� (t, t+∆t), X(t)] �
�� ������� ��� 	
�� �
���	 ����	��������� �� �����
��� ���� τk+1 �����	 �� (t, t+∆t)� �� �	� ��� �
���	 ���	� � ���		���	 �
�� 
�
t+� 4�� � ����
���� �	 �
����
��� �� ��
�	 �� π(.; t+, ωj))� 
� 
���� ��
����
�� ��� ���� ��	��������� π(.; τk+1, ωj) ������ �� �
����
�� ��� � ����
���� �����
��
� ��� ���� �����	 
� τk+1 ∈ (t, t+ ∆t)� 
	��� 
�� ���	� 
���� ��
����	�

E[φ(t+ ∆t, X(t+ ∆t), ω)|t, ωj] =
φ(t+ ∆t, X(t+ ∆t), ω)Pr[�� ���� �� (t, t+ ∆t)|t, ωj]+

E[φ(t+ ∆t, X(t+ ∆t), ω)| 
 ���� �� (t, t+ ∆t), t, ωj]Pr[
 ���� �� (t, t+
∆t)|t, ωj ] ≈

(1 − λ(t+, ωj)∆t){φ(t, x(t+, ωj), ωj) + φt(t, x(t+, ωj), ω)∆t+
φx(t, x(t+, ωj), ω)f(t, x(t+, ωj), u(t+, ωj), ω)∆t}+
λ(t+, ωj)∆tE[φ(t, x(t+, ωj)+g(t, x(t+, ωj), V, w(t, V, ωj), ωj), ωk, t, V )|t, ωj]�

�����
����� φ(t, X(t+), ω) 
�� �������� �� ∆t 
�� ������� ∆t → 0� �� ���
8JJ9�

?� �� ��� �	 !�� (∂+/∂r)η(r; a, ωj) 
� r = t > a� ���� ����� C���
 .�
?��� [(∂+/∂r)η(r; a, ωj)]r=t6

[(∂+/∂r)E[φ(r, x(r−, ωj), ωj)|a, ωj]]r=t =
[(∂+/∂r)E[E[φ(r, x(r−, ωj), ωj)|t, ω]|a, ωj]]r=t�

:��� �
����
���� ��� ����� �����
���� ���� ��	���� �� r 
� r = t �� ��� �����#
�
�� 	���� �� �
� �
(� ��� �����
���� ��	��� ��� ����� � ����
���� 	���� &��
��
���
���� �� ���	 
������� 
�	� 	���	 ��
� [(∂+/∂r)η(r; a, ωj)]r=t � �	�	�'
4���� �� 8JJ9� C���
 . ������	�

C�� �	 �� � ���� 
� ������
� ���	��� �� 8JA9� �		��� ����� 
 	������� x(., ωj)�
	�
����� �� (a, y, ωj)� �����	������� �� u(., ωj), w(., ωj)� 4��� �� ��
�� ��
�"

E[φ(b, x(b−, ωj), ω)|a, ωj)] = φ(a, x(a−, ωj), ω)+E[
∫ b

a
γ(t, ωj)dt|a, ωj)].[89]

4�� �������� �� 8J/9 �	 	�������	 
�	� � ���		�� �� 	
���� ��
� ��� 
�� b�

κ(b, ωj) := φ(b, x(b−, ωj), ω) − ∫ b

a
γ(t, ωj)dt �	 
 �
�����
��� &��� �
�����
��

@/



��������" E[κ(b, ωj)|a, ωj)] = κ(a, ωj)� ��� 
�� b > a ����	�'

4� ����� 8J/9� ���� !�	� ��
� �� �
� �� ������ ��
� η(s; a, ωj) :=
E[φ(s, x(s−, ωj), ω)|a, ωj)] �	 C��	����3 ���������	�&8,9'� ?��� 
 �����
� ���
	��� 	
�	 ��
� ��� ���������	 ��������	 �� [a, b]� ���� �����
����	 � �	����
���������� �� (a, b)� 
�� �%�
� �� ����� �����
����	 
�� �%�
�� 
�� ����� �
���	

� a 
�� �%�
�� �� ���	 ��	���� 1�����
����	1 �
� �� ����
��� �� 1����� �����
�
����	1� �� C��	����3 ���������� ����
��	 &
�� ����� �����
����	 � �	�'� <���
����
b �� t ∈ [a, b] �� 8J/9 
�� �
(��� ����� �����
����	 �� ���� 	���	 �� 8J/9 ����
�	
��
� ��� ��� �����
����	 
�� �%�
�� �� 8JA9� *����� 8J/9 ������	 ���� ��� ��	�
��������� ���������
� ��	����

?��� ��
� 
 	������� ���� σ(ω) �	 
 �������� 	��� ��
� 1[σ(ω),b](t) �	 ���
��
�����
���� �� (t, ω) 
�� σ(ω) �	 �����#���������	 �� �
�� τi, �
�� ���������
�� �
�� Vi, τi < t.

=�		
 � �� �� C���
 .� (s, x) → φ(s, x(s, ωj), ω) �	 C1 �� 
 ���������
���� �� 
�� ����� (s, x), s ∈ (τj , τj+1), x = x(s, ω)� � ���� 
� ��� �����
���
������ �� �����	 (σj

k(ω), x(σj
k(ω), ω)), k = 1, 2, ...� &σj

k(ω) 	������� ����	'�
���� 	���� 8J/9 ����	� �

&4�� �%�
���� 8J/9 ���� ����	 �� σj
k(ω) �	 ��
	��
��� �� ω�'

����, �, =�		
 � ����� s → E[φ(s, x(s, ωj), ω)|a, ωj] �	 C��	����3 ��������
��	 �� s ∈ [0, T ]� 4�� �����
���� (d/ds)E[φ(s, x(s, ωj), ω)|a, ωj] �
��	 �� � �	�
�� 
 ���� 	��� ,� 8J/9� �� �
�� E[φ(b, x(b−, ωj), ω)−φ(a, x(a−, ωj), ω)|a, ωj] =

∫ b

a
{(d/dr)E[φ(r, x(r, ω), ω)|a, ωj]}r=sds =∫ b

a
[d+/dr){E[E[φ(r, x(r, ω), ω)]|s, ω]|a, ωj]}]r=sds =∫ b

a
E[(d+/dr)E[φ(r, x(r, ω), ω)|s, ω]r=s|a, ωj]ds = E[

∫ b

a
γ(s, ωj)ds|a, ωj]� 4��

�� � �� �
	� �%�
���� ������	 ���� C���	���;	 �����
��� ����������� �������

������ �� (E[φ(s+hn, x(s+hn, ω), ω)|s, ω]−E[φ(s, x(s, ω), ω)|s, ω])/hn, hn ↓
0� C��	����3 ����������� 
�� ��� �
�� ��
� 
 ����� �����
���� � �	�	 
� 
��
s �= σj

k(ω)�

����, �, +�����	 �� C�� x(t, ω), u(t, ω), w(t, v, ω) �� 
 (0, x0, ω0)�
���		����
������ 
�� ��� ε > 0 �� 
�����
��� 5���	� 
 T ′ ���	� �� T � 	��� ��
�
EJ(T ′, x(T ′−, ω), ω) ≥ Eh0(x(T−, ω)) − ε 
�� Eh0(x

∗(T−, ω)) ≥
EJ(T ′, x∗(T ′−, ω), ω) − ε� &�	� 8J@9'� �� �	 
		����� ��
� J(0, x0, ω0) ≥
EJ(T ′, x(T ′−, ω), ω)� ���� �%�
���� �� (x(., .), u(., .), w(., .)) =

BK



(x∗(., .), u∗(., .), w∗(., .))� 4� 	�� ���	� �� 8J=9�8JE9�γ(t, ω) :=
[(∂+/∂s)E[J(s, x(s, ω), ω)|t, ω]]s=t ≤ 0� ���� �%�
���� �� (x(., .), u(., .), w(., .)) =
(x∗(., .), u∗(., .), w∗(., .))� *����� �� 8J/9� ��� 
		������ �	 �������� 4��	�
EJ(T ′, x∗(T ′−, ω), ω) = J(0, x0, ω0) ≥ EJ(T ′, x(T ′−, ω), ω)� 	� Eh0(x

∗(T−, ω))+
ε ≥ J(0, x0, ω0) = Eh0(x(T−, ω))−ε � ����� ε �	 
�����
��� Eh0(x

∗(T−, ω)) ≥
Eh0(x(T−, ω))� 	� (x∗(., .), u∗(., .), w∗(., ., .)) �	 �����
��

����, �, ��	
�� �%� <���
���� ��� �	� �� C���
 . �� C���
 = ��
��� 
���� ������ �����	 
����
���
��� 
 ����� �� <��
�( =E�

����, �, +�����	 �� >�� 	���������� �� �	 
		���� ��
� λ ���	 ��� ���
���� �� u� C�� s, ωj �� ������ τj < s� C�� (s, x) ∈ Q(ωj) 
�� ��� u(., ωj)

�� w(., ., ωj) �� 
�����
�� �������	� C�� u(., ωj) �� �	�� �� 
� ������
�
[s,min{τj+1, t}), t > s, 
�� �� τj+1 < t� ��� w(., ., ωj) ������ ��� ���� 
�
τj+1� ,� 
		�������� Q(ωj) �	 ����� 	� �� t − s �	 	�
�� ������� ��� ������
	������� 	������� x(., ωj) &	�
����� 
� (s, x, ωj), τj+1 ≥ s' �
	 ��� ��������
��
� x(t′−, ωj) ������	 �� Q(ωj) ��� 
�� t′ ∈ (s, t]� 
	 ���� 
	 �� ���� �����	�
�� τj+1 < t� 
� �����
� ���������� u∗(., ωj+1; t

′, y, ωj+1), w∗(., ., ωj+1; t
′, y, ωj+1)

�	 �	�� ���� τj+1 ��� ���� t
′ = τj+1, y = xu,w(τj+1+, ωj). ,� 
		������� 	���

�����
� �������	 � �	� ��� �
�� (s, y) ∈ Q(ωj+1)� �� t ≤ τj+1, u
∗(., ωj, t, y, ω

j)�
w∗(., ., ωj, t, y, ω

j) �	 �	�� �� [t, T ]� ���� y = xu,w(t−, ωj). C�� x
u,w(., ωj)

�����	���� �� ��� �������	 	����!�� 
����� 	�
����� 
� x 
� ���� s� &����
xu,w(s−, ωj) = x'� �� �
������
�� �� x = x∗(s−, ω)� ���� (u∗(., ωj, t, y, ω

j),
w∗(., ., ωj, t, y, ω

j)) = (u∗(s, ω), w∗(s, V, ω))� 4�� �����
� ���
�� ���
�����
���� ��� 	�
�� 
� t �	 x �	 J∗(t, x, ωj) = supu′,w′ E[h0(T, x

u′,w′
(T−, ωj))|t, ωj]�


�� xu′,w′
(., ωj) 	�
����� 
� (t, x, ωj)� &4�� ��
���� �� ��� 	����� |t, ωj] �	 
	


�����' ?��� ��� 
�� t > s� ��� x = x∗(s−, ωj)

J∗(s, x, ωj) = E[E[h0(x
u∗,w∗

(T−, ωj))|t, xu,w(t−, ω), ωj]|s, x, ωj] =

E[J∗(t, xu∗,w∗
(t−, ωj), ωj)|s, x, ωj], [90]

>����������� �� �
� �� 	���� ��
�

J∗(s, x, ωj) ≥ E[J∗(t, xu,w(t−, ωj))|s, x, ωj] [91]

��� t > s� ���� �%�
����� �� s = t� 4� 	��� 8/.9� ���� ��
� J∗(s, x, ωj) ≥
E[h0(T, x

u,w(T−, ω))|s, x, ωj] =
E[E[h0(T, x

u,w(T−, ω))|t, xu,w(t−, ω), ωj]|s, x, ωj] = E[J∗(t, xu,w(t−, ωj))|s, x, ωj]�
��� �
	� �%�
���� ��������� ���� ��� �
�� ��
� ��� �
��	 (u∗(., ωj), w

∗(., ωj),
u∗(., ωj, t, y, ω

j), w∗(., ., ωj, t, y, ω
j) 
�� �����
�� 4�� ���%�
���� 8/.9 ����	 ��
�

��� ����� �����
���� 
� t = s �� ��� ����� �
�� 	��� �	 ≤ 0� ����� 8/K9 ����	
��
� ��� ����� �����
���� �� ��� �����#�
�� 	��� �%�
�	 K� 4�� ����� �����
����

B.



�	 ��� �����#�
�� 	��� �� 8J=9� ���� ��� 	��;	 �������� 4��	� ��	���	 ���
��	�
�� 
 	�����
�� ���
����� ��
� ��� 
�� w(., .)� λE[w(., .)|] ≤ λE[w∗(., .)|] 
�
(s, x∗(s−, ωj))� 
	 ���� 
	 8J=9 
�� 8JE9� 4�� �
	� ���%�
���� ���� ����	 8JB9�
&�������� ��� ����� ��
� ��� � ������ �
��� �� ��� 	������� �
� �� 
���� �
��
��� �� E[w(., .)|] ��� 	��� w(., .)�'

�� �
� �� ������ ��
� 8J=9 ����	 ���� �� ��� �
	� ����� �� ���� ��� 
	�
	������� 
���� ��� � �	����� �� ��� u∗(., ωj; t, y), w

∗(., ωj; t, y)� ���
�	� 8/.9
������	 �� 
������ 
�������" �� �
� �� ������ ��
�

J∗(s, x, ωj) = sup
û,ŵ

E[J∗(t, xû,ŵ(t−, ωj), ωj))|s, x, ωj], [92]

����� û := û(., ωj), ŵ := ŵ(., V, ωj), 
�� xû,ŵ(., ωj) 	�
��	 
� (s, x, ωj)�
>�� 	���������� ���	���� ���� ��� �
	� ����� ��� �������	 w 
�� 
�	���� :�
	�
�� ���� ���� 
 �����	��� ����� �� 8/=	9 
�� �� ����� �
 ��	��
� �� 	���
?����� ��
� 
�� û �
� �� ������� û = u′ ��� r ∈ [s, t], û = u′′� ��� r ∈ (t, T ]�
J∗(s, x, ωj) = maxûE[h0(x

û(T−, ω))|s, x, ωj] =
maxu′,u′′ E[h0(T, x

u′,u′′
(T − ωj))|s, x, ωj] =

maxu′{maxu′′ E[h0(T, x
u′,u′′

(T − ωj))|s, x, ωj]} =
maxu′{maxu′′ E[E[h0(T, x

u′,u′′
(T−, ωj))|t, xu′

(t−, ωj), ωj]|s, x, ωj]]} =
maxu′{E[maxu′′ E[h0(T, x

u′,u′′
(T − ωj))|t, xu′

(t−, ωj), ωj]|s, x, ωj]} =
maxu′ E[J∗(t, xu′

(t−, ωj), ωj)|s, x, ωj]�

4�� �� � �� �
	� �%�
���� �������	 
� �������
��� �� 
 �
 ���3
���� &maxu”'

�� 
� � ����
���� 
�� ����	 ��� ��������� 
�������" 4�� ����� � ����
�
���� �
� �� ���(�� ���� 
	 
 	��� 4�� �
 ���3
���� �� 
 	�� �%�
�	 ���
	�� �� ��� �
 ���� �� �
�� ����� �������� �
�� ���� ����
��	 
 	��
�
��
������� �
�
������ ��� �������� ��� ����� ����	� 4��	 �	 ��� �
	� ����� ���
�
�� ��
��3
���� �� |t, ωj]� 
 	��
�
�� u′′ �
� �� ���	���

����, �, +�����	 �" �� ��� �� � ����
� ��� ��������� ��
�	���	
���� ����
������ �	 ������"

4���� � �	� ����������	 µ∗
j(s, y), j = 1, ..., m� ���������	 �� (s, y) ���

j = m′ + 1, ..., m�
	��� ��
� q(T ; s, y) = Σµ∗

j (s, y)hjx(x(T ; s, y)) + h0x(x(T ; s, y))�
µ∗

j(s, y) ≥ 0, j > m′, µ∗
j(s, y) = 0 �� hj(x(T ; s, y)) > 0, j > m′. 8/09

=�		
 " 5��	���� ��� ������� ������� maxu(.){
∫ T

0
M∗(ρ, x)dρ+h0(x(T ))}�

	������ �� ẋ = f(t, x, u), x(0) = x0, hi(x(T )) = 0, i = 1, ..., m′, hi(xi(T )) ≥
0, i = m′ + 1, ..., m� ����� f �	 C0 × C2 
	 
 �������� �� t 
�� (x, u)� 
��
����� hi �	 C2� �		��� ��
� Ĥ(t, x, q) := maxu∈U qf(t, x, u) � �	�	 
��

B=



�	 C0 × C2 × C2 �� 
� ���� 	�� Q∗ �� R
2n+1� 
�� ��� û(t, x, q), (t, x, q) ∈

Q∗ �� 
 C0 × C1 × C1��������� ��
� �����	 ���	 �
 ����� �		��� ��
�
Q �	 
� ���� 	�� �� (0, T ) × Rn� 
�� ��
� ��� �
�� (s, y) ∈ Q� ��������
��	 	�������	 t → (x(t; s, y), q(t; s, y)) �� ẋ = f(t, x, û(t, x, q)), x(s) = y�
q̇ = −qfx(t, x, û(t, x, q)) −M∗

x(t, x) � �	� �� [s, T ]� 	
��	����� x(s; s, y) = y�
��� ��
�	���	
���� ��������� 8/09 
�� ��� ��	� ��������� ������
� ���������	�
�		��� ��
� (s, y) → (x(t; s, y), q(t; s, y)) �	 C1 �� (s, y) ∈ Q, t ∈ [s, T ]�
��
� (t, x(t; s, y), q(t; s, y)) ∈ Q∗ ��� 
�� t ∈ [s, T ]� 
�� (s, y) ∈ Q� 
�� ��
�
(t, x(t; s, y)) ∈ Q ��� 
�� (s, y) ∈ Q� 
�� t ∈ (s, T )� �		��� ��
� M∗(t, x) �	
C0×C2 �� Q� 
�� ��
� supt∈[s,T ) |M∗(t, x(t; s, y))|� supt∈[s,T ) |M∗

x(t, x(t; s, y))|�

�� supt∈[s,T ) |M∗

xx(t, x(t; s, y))| 
�� ���
��� ������� �� Q� -�!�� z(t; s, y) =∫ T

t
M∗(ρ, x(ρ; s, y))dρ+ h0(x(T ; s, y)). 4��� S(s, y) = z(s; s, y) �	 C1 �� Q�


�� 	
��	!�	 ��� *+,� �%�
����" 0 = Ss(s, y) + supu{Sy(s, y)f(s, y, u)} +
M∗(s, y) ����� 2�������� q(s; s, y) = zy(s; s, y) = Sy(s, y) ��� (s, y) ∈ Q� �

����, �, =�		
 " C�� (ŝ, ŷ) �� 
 ����� ����� �� Q 
�� ��!�� q̂ = q(ŝ, ŝ, ŷ)�
-�!�� A := {(t, x(t; ŝ, ŷ), q(t; ŝ, ŷ)) : t ∈ [ŝ, T ]}� >�� 	��� ε > 0� B(A; ε) :=
{(t, x, q) :��	�((t, x, q), A) < ε} �	 ����
���� �� Q∗� ����� q(s̃; s, y) �	 ���	� ��
q(s̃; ŝ, ŷ) ���� (s, y) �	 ��
� (ŝ, ŷ)� s̃ 
�� ������ ���	� �� ŝ, s̃ > ŝ� ����� ��
	�
��
�� ������ �� ��$������
� �%�
����	� 
 ������ s′ < ŝ � �	�	 	��� ��
��
��� 
�� (s, y) ��
� (ŝ, ŷ)� x(t; s, y) 
�� q(t; s, y) 
�� ��!��� �� [s′, T ]� ����� C1

�� (s, y) ��
� (ŝ, ŷ)� ��� 
�� t ∈ (s′, T ]� 2�������� 	���� M∗
x(ρ; x(ρ; s, y)) 
��

M∗
xx(ρ; x(ρ; s, y)) 
�� ���
��� ������� �� (s, y)� ��������� �� ρ� 
�� q(ŝ; s, y) �	

���	� �� q(ŝ; ŝ, ŷ) ���� (s, y) �	 ���	� �� (ŝ, ŷ)� ���� x(t; s, y), q(t; s, y) 
�� ���	�
�� x(t; ŝ, ŷ), q(t; ŝ, ŷ)� ���� (s, y) �	 ��
� (ŝ, ŷ)� ��������� �� t ∈ [s′, T )� 
���
������������ (s, y) → x(t; s, y) �	 C��	����3 ���������	 �� 
 ������������ ��
(ŝ, ŷ)� ��������� �� t� &��� 	
�� �������� �
	 (s, y) →, q(t; s, y)'� 4��	 ��
�	
��
� zs(t; s, y) 
�� zy(t, s, y) � �	� 
�� 
�� ���������	 ��
� (ŝ, ŷ)� >��
���� ���
������
 ��� z(t; s, y) ��������� ����	 ��
� ż(t; s, y) � �	� 
�� �	 ���������	� ��
�
��� z(s; s, y) �	 C1 �� Q�

�� ���� �� 	���� ��
� q(T ; s, y)xy(T ; s, y) =
h0x(x(T ; s, y))xy(T ; s, y), q(T ; s, y)xs(T ; s, y) = h0x(x(T ; s, y))xs(T ; s, y)� 4�
	�� ���	� ���� ��
� Σjµ

∗
j(s, y)hjx(x(T ; s, y)) = Σµ∗

j (s,y)�=0µ
∗
j(s, y)hjx(x(T ; s, y))�

�� µ∗
j(s, y) > 0� ����� �� ���������� �� (s′, y′) → µ∗

j(s
′, y′)� j > m′� µ∗

j(s
′, y′) >

0 ��� 
�� (s′, y′) �� 
 ������������ �� (s, y)� ����� hj(x(T ; s′, y′)) = 0 �����
���� (∂/∂y)hj(x(T ; s, y)) = 0 
�� (∂/∂s)hj(x(T ; s, y)) = 0� ���	
hjx(x(T ; s, y))xy(T ; s, y) = 0 
�� hjx(x(T ; s, y))xs(T ; s, y) = 0� 4��	 ����
������ 
�	� ����	 ��� j ≤ m′� ����� Σjµ

∗
j(s, y)hjx(x(T ; s, y))xy(T ; s, y) = 0


�� Σjµ
∗
j(s, y)hjx(x(T ; s, y))xs(T ; s, y) = 0� 	� ��� ��� 
		����� �%�
�����	 
��

B0



	
��	!���

:���� w(t; s, y) = zy(t; s, y)−q(t; s, y)xy(t; s, y) 
�� ŵ(t; s, y) = zs(t; s, y)−
q(t; s, y)xs(t; s, y)� 4�� ��� 
		����� �%�
�����	 
�� z(T ; s, y) = h0(x(T ; s, y))
�����

ŵ(T ; s, y) = 0, w(T ; s, y) = 0. [94]

C�� û ∈ 
���
 uq̂f(t, x̂, u), (t, x̂, q̂) ∈ Q∗� >��� ��� !�	� ����� ���������	 ���

 ���
� ������� 
� (x̂, q̂) �� (x′, q′) → Ĥ(t, x′, q′) − q′f(t, x′, û)� �� ������	
��
� Ĥx̂(t, x̂, q̂) = q̂f̂x(t, x̂, û)� 
�� Ĥq̂(t, x̂, q̂) = f(t, x̂, û)� 4��	 ��
�	 ��
�
x(.), q(.)� 
�� z(.) 	
��	�� ẋ = Fq, q̇ = −Fx� ż

∗ = qFq − F = −M∗� �����
F = Ĥ(t, x, q) + M∗(t, x)� 4��	� �%�
����	 
�� ��� ��
�
�����	��� �%�
����	
�� ��� *+,��%�
���� ��� S 
����� ,� �����(���� ��	���	 �� ��� ������ ��
�������
� !�	�#����� �
���
� ��$������
� �%�
����	� &	�� ��� � 
���� �����	�
�
&.//J'� �� 0/.'�

wt(t; s, y) = 0, ŵt(t; s, y) = 0, ��� 
�� t ∈ (s, T ), [95]

����� �������� ���� 8/E9 ����	 w(t; s, y) = 0, ŵ(t; s, y) = 0 ��� 
�� t ∈ [s, T ]�
4���� &�	��� �����	�
� &.//J'� �� 0/. 
�
��'� S(s, y) = z(s; s, y) �	 C1 �� Q�

��� �� Q� �� 	
��	!�	 ��� �%�
���� 0 = Ss(s, y) + Ĥ(s, y, q) +M∗(s, y)� ����
q = q(s; s, y) = Sy(s, y)� &>�� ��� C

1��������� �� S(s, y)� 	�� 
 �����	�������
����� �� ��� C1 × C2��������� �� ��� �� � ������' ���� ��� *+,��%�
����
����	 �� Q�

&��� �� �� �
�� �� 
���� C���
 0 �� 
 ������� ����� 
� ������
� 
�	�

���
�	 �� ��� ���������� ���� �� 
 ������� ����� 
� 
�������
� 	�
�� x0 
��
��
�	� ���� ẋ0 = f0(t, x, u), x

0(0) = 0�&f0 C
0 × C2 × C2'� 
�� ���� ���������

x0(T ) + h0(x(T ))� ���� ���� (s, y) → x0(t; s, y) ���� �� �� C1 �� Q� ���
t ∈ [s, T ]� ?��� ����� (ŝ, ŷ) �� Q� ��� 
���� � �	����� �� B(A; ε) ������
����
���
��	 ��� C1��������� �� x0(t; s, y)�

=�		
 % �		��� �� ��� 	���
���� �� C���
 0� ��
� ����� � �	� 
 ������
��	� ���������	 ������� u(t) = u(t; 0, x0)� 
 	������� x(t) = x(t; 0, x0) �� ẋ =
f(t, x, u(t)), x(0) = x0� 
�� 
 	������� q(t) = q(t; 0, x0) �� q̇ = −qfx(t, x(t), u(t))−
M∗

x(t, x(t))� 	
��	����� ��� ��
�	���	
���� 
�� ������
� ���������	 �� C���

0� ��� ��������� (t, x(t)) ∈ Q ��� 
�� t ∈ (0, T )� ��� �
 ���� ���������
q(t)f(t, x(t), u(t)) = Ĥ(t, x(t), q(t))� 
�� ��� 1���	�	����� ���������1
(x(t′; t, x(t)), q(t′; t, x(t))) = (x(t′), q(t′))� ��� 
�� t′ ≥ t, t′, t ∈ [0, T ]� 4����

Ss(t, x(t)) + Sy(t, x(t))f(t, x(t), u(t)) +M∗(t, x(t)) = 0 8/B9

BE




��

limt↑T S(t, x(t)) = h0(x(T )). 8/A9
�

����, �, =�		
 % ,� ��� ���	�	����� ���������� q(t) = q(t; t, x(t)) =
Sy(t, x(t))� 	� �� ��� �
 ���� ���������� 8/B9 ������	� 2�������� �� ���	�	�

������ 	���� z(t; t, x(t)) =
∫ T

t
M∗(ρ, x(ρ; t, x(t)))dρ+ h0(x(T ; t, x(t)) =∫ T

t
M∗(ρ, x(ρ, T/2, x(T/2))dρ+h0(x(T )), t > T/2� �� ��� ���������		 �����

���� �� M∗� 8/A9 ������	�

=�		
 ' C�� hj , j = 0, ..., m� �� C2� ��� f �� C0 × C2 �� t 
�� (x, u)�

�� ��� λ(t) �� �������	� ���������	� C�� û(t, x, p) �� 
 C1��������� ������
��� �
 ���� �� pf(t, x, u)� ��� u ∈ U � ��� 
�� (t, x, p) �� 
 ����� ���� 	��
Q∗� 
�� 
		��� ��
� Ĥ(t, x, p) := maxu∈U pf(t, x, u) �	 C0 × C2 × C2 �����
5��	���� ��� �%�
���� ẋ = f(t, x, u)� x(0) = x0, ���� ������
� ���������	
hj(x(T )) = 0, j = 1, ..., m′, hj(x(T )) ≥ 0, j = m′ + 1, ..., m� �		��� ��
� Q
�	 
� ���� 	�� �� (0, T ) × Rn� 
�� ��
� ��� �
�� (s, y) ∈ Q ∪ {0, x0}� �����
� �	� ���������	 	�������	 t→ x(t; s, y), p(t; s, y) �� ẋ = f(t, x, û(t, x, p)) 
��
ṗ = −pfx(t, x, û(t, x, p)) + λ(t)p − λ(t)Mx(t, x)� >����������� 
		��� ��
�
(t, x(t; s, y), p(t; s, y)) ������	 �� Q∗� ��� t ∈ [s, T ]� ��� 
�� (s, y) ∈ Q� ��
�
(t, x(t; s, y)) ������	 �� Q ��� t ∈ (s, T )� ��� 
�� (s, y) ∈ Q ∪ {0, x0}� 
�� ��
�
(s, y) → (x(t; s, y), p(t; s, y)) �	 C1 �� Q ��� t �� [s, T ]� �		��� ��
�M(t, x) �	
C0 ×C2 �� Q� 
�� ��
� supt∈[s,T ) |M(t, x(t; s, y))|� supt∈[s,T ) |Mx(t, x(t; s, y))|�

�� supt∈[s,T ) |Mxx(t, x(t; s, y))| 
�� ���
��� ������� �� Q� 2�������� 
		���
��
�� ��� 
�� (s, y) ∈ Q∪{(0, x0)}� x(t; s, y), p(t; s, y) 	
��	�� ��� ������
� ����
������	 
�� ��� ��������� ��
�	���	
���� ���������	" 4���� � �	�	 ����������	
µj(s, y), j = 1, ..., m� ���������	 �� (s, y) ∈ Q ��� j = m′ + 1, ..., m� 	���
��
� p(T ; s, y) = Σµj(s, y)hjx(x(T ; s, y)) + h0x(x(T ; s, y))� µj(s, y) ≥ 0, j =
m′ +1, ..., m, µj(s, y) = 0 �� hj(x(T ; s, y)) > 0, j = m′ +1, ..., m� �		��� ��
�
(x(t; 0, x0), p(t; 0, x0)) 	
��	!�	 ��� ���	�	����� ���������
(x(t′; t, x(t; , 0, x0)), p(t′; t, x(t; 0, x0))) = (x(t′; 0, x0), p(t′; 0, x0))�
��� 
�� t′ ≥ t, t′, t ∈ [0, T ]� C�� z(t; s, y) �� ��� 	������� �� ż = λ(t){z −
M(t, x(t; s, y))}� z(T ) = h0(x(T ; s, y))� 4��� J(s, y) := z(s; s, y) �	 C1 ��
Q 
�� 	
��	!�	 ��� *+,��%�
����" 0 = Js(s, y) + supu{Jy(s, y)f(s, y, u)} +
λ(s){M(s, y) − J(s, y)}� 2�������� u(s; 0, x0) := û(s; x(s; 0, x0), p(s; 0, x0))
�����	 ��� 	������� �� ���	 *+,��%�
����� ���� y = x(s; 0, x0) 
��
limt↑T J(t, x(t; 0, x0)) = h0(x(T ; 0, x0))� >��
���� p(s; s, y) = Jy(s, y), (s, y) ∈
Q� �

B@



����, �, =�		
 '

:���� I(s, y) = J(s, y) exp(
∫ s

T
−λ(ρ)dρ)� 4���� �� �
� 	��� ��
� J 	
��	�

!�	 ��� *+,��%�
���� �� C���
 @ �� 
�� ���� �� I 	
��	!�	 ��� *+,��%�
����
�� C���
 E� 4�� �
�� ��
� J 	
��	!�	 ��� *+,��%�
���� �	 �%���
���� ��

0 = Js(s, y) exp(
∫ s

T
−λ(ρ)dρ)+maxu{Jy(s, y) exp(

∫ s

T
−λ(ρ)dρ)f(s, y, u)}+

λ(s)M(s, y) exp(
∫ s

T
−λ(ρ)dρ) − λ(s)J(s, y) exp(

∫ s

T
−λ(ρ)dρ)�

���� I(s, y) 	
��	!�	 0 = Is+sup Iyf+M∗� �����M∗(s, y) = λ(s)M(s, y) exp(
∫ s

T
−λ(ρ)dρ)�

*���� C���
 @ ������	 ���� C���
 E� 
	 x(t; s, y), q(t; s, y) =
p(t; s, y) exp(

∫ t

T
−λ(ρ)dρ) 	
��	�� ��� ���������	 �� C���
 E�

��

� ���� �
 ��� ����, �, +�����	 �"

C�� �	 
���� C���
 @ ��� [0, T ] ����
��� �� [τj , T ]�M(t, x) = E[supw J(t, x+
g(t, x, Vj+1, w, ω

j), ωj, t, Vj+1)|t, ωj]� ���������� C���
 @ ������	 ��
� ���
�
�� ωj� ��� *+,��%�
���� �� 4������ .. ����	 ��Q0(ωj)� 2�������� u(t, ωj)�

�� w(t, v, ωj)� ��� t > τj , ����� ��� 	�����
 �� ��� *+,��%�
���� ��� y =
x(t−, ωj)� ������ �� 
		������� 8J@9 ����	� ���� 
�� ���������	 �� 4������
.. 
�� 	
��	!��� ����� (u(t, ω), w(t, v, ω)) �	 �����
��

����, �, +�����	 "

�� ��� 	���
���� �� 4������ 0� ��� 
�� ����� j� J(s, y, j) =

h0(x(T ; s, y)) +
∫ T

s
eλ(s−ρ)[f0(ρ, x(ρ; s, y, j), û(ρ; x(ρ; s, y, j), p(ρ; s, y, j))) +

J(ρ, x(ρ; s, y) + g(ρ, x(ρ; s, y, j), j + 1), j + 1)]dρ.
:� ���	���� ���� ��� �
	� ����� f0 = 0� ��� ��� �����
� �
	�� �������� �
(�
������ �� ?��� �� C���
 0� ,� ���������� 
		��� ��
� J(s, y, j+1) �	 C1×C2

�� Q0(j) 
�� ��
� J(s, y, j+1)� Jy(s, y, j+1)� 
�� Jyy(s, y, j+1) 
�� �������
�� ������� 	��	��	 �� Q0(j)� &4��	 	����� ����	 ��� j = N � 	���� ��
� ����
���	 ���(	 �� ������� J(s, y, N + 1) = 0�' ����� J(s, y, j+ 1) �	 ������� ��
������� 	��	��	� ��� ���
� ���������		 ���������	 �� M(t, x, j) = J(t, x +
g(t, x, j+1), j+1)�Mx(t, x, j)� 
��Mxx(t, x, j) 
�� 	
��	!��� �� �
��� C���

@ ����	 ��
� J(s, y) := J(s, y, j) �	 C1 �� Q0(j)� 
�� 	
��	!�	 ��� *+,�
�%�
����� 
�� Jy(s, y, j) = p(s; s, y, j)� &����� ���� ������	 ��
� Jyy(s, y, j) =
py(s; s, y, j) � �	�	 
�� �	 ���������	�' 4��	 ��
�	 ��
� I(s, y, j) := I(s, y) =
J(s, y) exp(λ(j)(T−s)) 	
��	!�	 ��� *+,��%�
���� �� C���
 0� ����M∗(s, y) :=
M∗(s, y, j) = λ(j + 1)J(t, x + g(t, x, j + 1), j + 1) exp(λ(j + 1)(T − s))�
����� û(t, x, p, j),M∗(s, y, j) 
�� Iy(s, y, j) = p(s; s, y, j) exp(λ(j)(T − t))

BB




�� ������� �� ������� 	��	��	 �� ����� ���
��	 �� ��!������� Is(s, y, j)
�	 
�	� ������� �� ������� 	��	��	 �� Q0(j)� �� ��� *+,��%�
����� �� ����
I(s, y, j) �	 ������� �� ������� 	��	��	� 
�� ��� 	
�� ����	 ��� J(s, y, j)�
�������� ���� Jy(s, y, j) 
�� Jyy(s, y, j)� ����� u(t; s, y, j) �����	 ��� �
 ��
��� �� ��� *+,��%�
���� ���� y �� ��
� �%�
���� �	 ����
��� �� x(t; s, y, j)

�� 8==9 ������	 8J@9� ����� �� 4������ ..� 4������ 0 ������	�

����, �, +�����	 - 4�� ������� ������	 �������� ���� 4������ .0�
���� �� �	 ����� ��
� 8E/9 ������	 8J@9�

=�		
 - �� ��� 	���
���� �� C���
 E� ��
(�� ��� ��$������
������ 
	�
	�������	 �� Ĥ(t, x, q), û(t, x, q) 
�� (s, y) → (x(t; s, y), q(t; s, y)) 
	 ������	"
�		��� ��
� ����� � �	� C1 ���������	 φk � k = 1, ..., k∗� 	��� ��
�� ��� 
��
����� (t, x, q) �� Q∗� φk(t, x, q) = 0 ��� 
� ��	� ��� k 
�� 	��� ��
� Ĥ �	
C0 × C2 × C2 �� Q∗ \ Z,Z = {(t, x, q) : φi(t, x, q) = 0 ��� 	��� i}� �		���
��
� û(t, x, q) �	 C0 × C1 × C1 �� Q∗ \ Z� �		��� 
�	� ��
� û(t, x, q)|A� &|A
��
�	 ��	������� �� A'� �
	 
 C0×C1 ×C1�� ���	��� �� 
� ���� 	�� ����
���
��� ��A� ��� 
�� 	�� A �� ��� ���� ∩iΦ

i� Φi = {(t, x, q) ∈ Q∗ : φi(t, x, q) > 0}�
�� Φi = {(t, x, q) ∈ Q∗ : φi(t, x, q) < 0}� &��� ��������� �� ��� ���%�
���� 	���
�
� ������ �� i'�

C�� Z ′ := {(s, y) ∈ Q : (s, y, q(s; s, y)) ∈ Z}� �		��� ��
� ��� 
�� (s, y) ∈
Q\Z ′� t ∈ [s, T ], t /∈ Qs,y, Qs,y := {t ∈ [s, T ) : φk(t, x(t; s, y), q(t; s, y)) = 0 ���
	��� k}, (s′, y′) → (x(t, s′, y′), q(t; s′, y′)) �	 C

1
�� 
 ������������ �� (s, y)� >��

�
���� ��� (s, y) ∈ Q∪{(0, x0)}, t ∈ (s, T )� ��� u(t; s, y) := û(t, x(t; s, y), q(t; s, y))
φk(t, x(t; s, y), q(t; s, y)) = 0 ⇒ φkt(t, x(t; s, y), q(t; s, y))+
φkx(t, x(t; s, y), q(t; s, y))ẋ(t

±; s, y) + φkq(t, x(t; s, y), q(t; s, y))q̇(t
±; s, y) �=

0 [97∗]

&������ ��� � ���		��� �	 QK ��� ���� ��� ���� 
�� ����� �����	� �� ��� � ���	�
	��� �	 < 0 ��� ���� �����	�' 4��� S(s, y) �	 C1 
�� 	
��	!�	 ��� *+,��%�
����
���� ��� (s, y) ∈ Q \ Z ′� 
�� 8/B9 ����	 ��� 
�� (t, x(t; 0, x0)) /∈ Z ′� &���� 
�� t
� ���� 
 �����
��� ������'� �

����, :���� v = (s, y) 
�� ��� v̂ := (ŝ, ŷ) ������ �� Q \ Z ′� :� ����
	���� ���� ��� �
	� ����� ����� �	 ���� ��� �������� φ� 
�� ���� ��� 1���		�
��� �����1 t = t̂ �� (ŝ, T )� ����� φ(t̂, x(t̂; v̂), q(t̂; v̂)) = 0� ��� �����
� �
	�
����� 
� �
	� � ���	���� C�� �	 ����� ��
� w(t) = w(t; ŝ, ŷ) 
�� ŵ(t) =
ŵ(t, ŝ, ŷ) �
�� �%�
� ���� 
�� ����� �����	 
� t = t̂� ���� 
�
�� �� ������	 ��
�
w(t) ≡ 0, ŵ(t) ≡ 0� ��� t �= t̂� ����� ���� 
�
�� !��	� ��� ������ 	���� 8/E9
����	� ,� ��� � ���	��� �������� �� û(t, x, q)� ��� 	������� (x(t; v), q(t; v)) ��
[s, T̂ (v))� ��� v ���	� �� v̂ �
	 
� � ���	��� (x−(t; v), q−(t; v)) �� 
 	�������

BA



�
���� ������
�� �� �
�� �� 
� ������
� [t′′, t′]� t′′ < ŝ, t′ > t̂� ���� v →
(x−(t; v), q−(t; v)) ����� ���������	�� ��$������
��� ��
� v̂ ��� 
�� t �� [t′′, t′]�

�� 	����
���� ��� 	������� (x(t; v), q(t; v)) �� (T̂ (v), T ) �
	 
� � ���	���
(x+(t; v), q+(t; v)) �� 
� ������
� [t′′, T ]� t′′ < t̂� ���� v → (x+(t; v), q+(t; v))
����� ���������	�� ��$������
��� ��
� v̂� ��� 
�� t �� [t′′, T ]� ,� ��� 1����
�
������
�����1 ��������� [97∗] �� C���
 B� 
 C1��������� T̂ (v)� v ��
� v̂�
� �	�	 	��� ��
� T̂ (v̂) = t̂� 
�� φ(T̂ (v), x−(T̂ (v); v), q−(T̂ (v); v)) = 0� ?���

��� t∗ > t̂� t∗ ���	� �� t̂� 
	 x+(t∗; v) = x−(T̂ (v), v) +
∫ t∗

T̂ (v)
ẋ+(s; v)� �����

���������� ��� 	�
�� ���� &������
�' 
��	��� ���� ��$������
���� ����� ��� ���
����
� 	���� x+

v (t∗; v) ≈ −ẋ+(T̂ (v); v)T̂ ′(v) + ẋ−(T̂ (v); v)T̂ ′(v) + x−v (T̂ (v); v)�
,� ��� �
�� ��
� û(t̂−, x(t̂−; v̂), q(t̂−; v̂)) 
�� û(t̂+, x(t̂+; v̂), q(t̂+; v̂)) �
 �
���3� ��� *
�������
� qf 
� t̂� ���� q(t̂; v̂)ẋ+(t̂; v̂)) = q(t̂; v̂)ẋ−(t̂; v̂)� ���
q(t̂; v̂)x+

v (t∗; v̂) ≈ q(t̂; v̂)x−v (t̂; v̂)� C������ t∗ ↓ t̂� q(t̂; v̂)xv(t̂+; v̂) = q(t̂; v̂)xv(t̂−; v̂)�

�� �	 �
	��� 	���� ��
� zv(t; v̂) =
∫ T

t
M∗

xxv(ρ; v̂)+(d/dv)h0(x(T ; v̂)) � �	�	 
��
�	 ���������	 �� t� ��� 
 ����� �� 
 ���� �����
� 	���
����� 	�� ��� ����� ��
C���
 A ������ *���� ��� �%�
���� �� ���� 
�� ����� �����	 
� t̂ �� w(t) 
��
ŵ(t) ������	� ?��� wt = 0 
�� ŵt = 0� ��� t �= t̂ �� ��� 	
�� ����� 
	 ��
C���
 0� �	 8/E9 ����	� w(t; s, y) = 0 
�� ŵ(t; s, y) = 0 ��� 
�� t ∈ [s, T ]�

�� ��� ����� �	 !��	����

=�		
 . �� ��� 	���
���� �� C���
 B� ��!�� Z2 := {(s, y) ∈ Q :
φk(T, x(T ; s, y), q(T ; s, y)) = 0 ��� 	��� k = 1, ..., k∗}� Z1 = {(s, y) ∈ Q :
(s, y, q(s; s, y)) ∈ Z}� 
�� ����!�� ��� 	�� Z ′ �� C���
 B �� �� Z1 ∪ Z2�
&
		����� ��
� ��� ���������	 �� C���
 B ���
��� �� Z ′ ����	 ��� ���	 ������
�������'� �		��� ��
� M∗ �	 C0 × C2 ���� �� Q \ Z ′� 
�� ��
�
supt∈[s,T )\Qs,y

|M∗(t, x(t; s, y))|� supt∈[s,T )\Qs,y
|M∗

x(t, x(t; s, y))|� 
��
supt∈[s,T )\Qs,y

|M∗
xx(t, x(t; s, y))| 
�� ���
��� ������� �� Q \ Z ′� �� �	 
		����

��
� ��� 
�� (s, y) ∈ Q \ Z ′� 
 C0 × C2�� ���	��� �� M∗ �� 
� ���� 	�� ����
�
����� {(t, x(t; s, y)) : t ∈ [a, b]} � �	�	 ��� 
�� ������
� [a, b] ⊂ (s, T ) ���
����� (t, x(t, s, y)) /∈ Z ′ ��� t ∈ (a, b)� 4��� ��� ������	���	 �� C���
 B 	����
�����

����, C�� �	 !�	� 	��� ��
� �� �	 	���� ��
������� �� �
�( 
���� 
����
	�������	 �� ��� �%�
����	 ��� x 
�� q" :� �
�� �� ��	������ �� x(t; s, y)

�� q(t; s, y) �� ��� �%�
���� ��� x� ��	� �� ���	 �%�
���� �	 	
��	!�� �����
&û(t, x(t; s, y), q(t; s, y)) �
	 
� ��	� 
 �����
��� ������ �� ��	����������
�����	'� 2�������� ��� t /∈ Qs,y, (t, x(t; s, y), q(t; s, y)) =
(t, x(t; s, y), q(t; t, x(t; s, y)) /∈ Z� ���� (t, x(t, s, y)) /∈ Z ′� 	�M∗ �	 C0×C2 ��
�
(t, x(t, s, y)) 
�� ��� 
�� 	��� t &���� 
�� t � ���� 
 �����
��� ������'� ��� �%�
�
���� ��� q �
� �� ��	���� 4� 	�� ��
� ��� ����� �� C���
 B ���	 ������� ����

BJ



�� ��� ���	��� �
	�� 	����� ���M∗− 
��M∗+ �� C0×C2 � ���	���	 ��M∗ ��
���� 	��	 G 
�� G′ ����
����� {(t, x(t; ŝ, ŷ)) : t ∈ [ŝ, t̂]} 
�� {(t, x(t; ŝ, ŷ)) :
t ∈ [t̂, T̂ ]}� ��	���������� T̂ 
�� ����� ������ �� (t̂, T )� ?��� �	� M∗ = M∗−


�� M∗ = M∗+ ���� ��!���� q−(t, v) 
�� q+(t, v)� ��
��� ��� ���
� ������
����		 �� M∗

x(ρ; x(ρ; s, y)) 
�� M∗
xx(ρ; x(ρ; s, y)) ����	� 
	 �� C���
 0� ��
�

x(t; s, y), q(t; s, y) 
�� ���	� �� x(t; ŝ, ŷ), q(t; ŝ, ŷ)� ���� (s, y) �	 ��
� (ŝ, ŷ)�
��������� �� t ∈ [s′, T )�� >����������� (s, y) → x(t; s, y) �	 C��	����3 ��������
��	 �� 	��� �
�� B((ŝ, ŷ), δ)� ��������� �� t /∈ (t̂−ε(δ), t̂+ ε(δ))� ����� ε(δ) >
0, limδ→0 ε(δ) = 0� 
	��� ��� ���
� ���������		 �� M∗

x(ρ; x(ρ; s, y))� ����

������� (s, y) → z(t; s, y) :=
∫ T

t
M∗dρ+h0(X(T ; s, y)) �	 C1 ��� (s, y) ∈ Q\Z ′�

���� t → zv(t; v) ���������	 
�� (s, y) → z(s; s, y) C1 ��� (s, y) ∈ Q \ Z ′�
4��� ��� 
�������	 �� C���
 B ���	 ������� 
	 ������� &?��� ��
� ��
C���
 B� �� �	 ���������� 
		���� ��
� (s′, y′) → (x(T ; s′, y′), q(T ; s′, y′)) �	
C1 ��
� (s, y) ���� �� φk(T, x(T ; s, y), q(T ; s, y)) = 0 ��� 	��� k� ��������
���� (s, y) /∈ Z1 ∪ Z2� ���� �� ���	� �%�
�����	 �����'

=�		
 / >�� k = 1, ..., k∗� ��!�� Φk := {(s, y) ∈ Q : φk(s, y, q(s; s, y)) = 0}�

�� ��!�� Φk∗+j := {(s, y) ∈ Q : φj(T, x(T ; s, y), q(T ; s, y)) = 0}� �		��� ��
��� 	���
���� �� C���
 A� ��
�� ��� 
�� 
���		���� 	������� x(.)� Q ����
��	

�� �����	 (s, x(s)), s ∈ (0, T ) 
�� ��
� ��� 
�� k = 1, ..., 2k∗� ��� 
�� s 	���
��
� (s, x(s)) ∈ Φk 
 ������ ε > 0 � �	�	� 	��� ��
� ��� s′ �� (s, s + ε)�
(s′, x(s′)) /∈ Φk� 4��� � ���� ��� 
 �����
��� ������ �� �����	 s� (s, x(s))
������	 �� Q \ Z ′� �

����, >�� 
�� k� ����� �	 
 !���� 	�� Im �� �����	 s 	��� ��
� (s, x(s)) ∈ Φk


�� (s′, x(s′)) /∈ Φk ��� s′ ∈ (s, s+ 1/m)� �� �
��� ��� ������ �� �����	 �� Im
��	� �� ≤ T/(1/m) = mT � ���������� {s : (s, x(s)) ∈ Φk} ⊂ ∪mIm�

��	
�� �-� �� ��� �
	� �� C���
 J� u(t; 0, x0) ���� �� �����
� �� ��� �����
��� �� C���
 0� �������� ��� ��������� ��������� ����	" >�� �
�� (T, ỹ) ∈��Q

 �
�� N := B((T, ỹ), a) � �	�	 	��� ��
�
sup(s,y)∈Q∩N,t∈[s,T ] |u(t; s, y))| < ∞� 4��	 ��������� �
� ���� �� ����
��� ��
��� ��
(�� ��������� ��
� limt→ J(t, x(t)) = h0(x(T )) ��� 
�� 
���		����
x(.)� &4� 	�� ��
� ��� ������ ��������� ������	 ��� �
���� ���� ���� ��
�
��� ỹ = x(T )� sup(s,y)∈Q∩N,t∈[s,T ] |f(t, y, u(t; s, y))| = Ξ < ∞� 	� ��
� ���
(s, y) ∈ B((T, ỹ), (min{a, a/Ξ})/4)� (ρ, x(ρ; s, y) ������	 �� B((T, ỹ), a) ���
ρ ≥ s� 
	 |x(ρ; s, y)−y| ≤ Ξ(t−s) ≤ a/4� |y− ỹ| < a/4� ,� ��� ���������		
�������� �� M∗� J(t, x(t)) → h0(x(T )).' �

B/



��	
�� �. �4�
��
�� ��7���
��
����� 
���	����
� �
 ��� ��
��

��������� �������
�)�

4�� ��$������
������ ���������	 �� x(t; s, y, ωj)� p(t; s, y, ωj), û(t, x, p, ωj)�
Ĥ(t, x, p, ωj) 
�� M(t, s, ωj) �� 4������ .0 �
� �� ��
(���� 
	 ������	� C��
φk(t, x, p, ω

j), k = 1, ..., k∗j � �� C
1���������	 �� (t, x, p)� ���
������
���� 
��

�������	� 
�� �����#���������	 �� �
�� τi, τi < t� �
�� ��������� �� �
�� Vi�

�� 
		��� ��
� ��� 
�� ����� ωj, ��� 
�� (s, y) ∈ Q0(ωj), ��

t ∈ (s, T ) 
�� φk(t, x(t; s, y, ω
j), p(t; s, y, ωj), ωj) = 0, ����

φkt + φkx(∂/∂t)x(t
±; s, y, ωj) + φkp(∂/∂t)p(t

±; s, y, ωj) �= 0� 8/J9�

��� �
���
� �����
����	 φkt, φkx 
�� φkp ����� ��
��
��� 
� (t, x(t; s, y, ωj),
p(t; s, y, ωj), ωj). &4�� � ���		��� �� ��� ����#�
�� 	��� �� ��� 1����%�
��
���1 �� 8/J9 �	 
		���� �� �� ������ > 0 ��� ���� ��� ����� 
�� ���� ������
�� < 0 ��� ���� �����	�' �		��� ��
� Ĥ(t, x, p, ωj) �	 C0 × C2 × C2 ��
{(t, x, p) ∈ Q∗(ωj) : φk(t, x, p, ω

j) �= 0 ��� 
�� k} 
�� ��
� û(t, x, p) �	
C0×C1×C1 ����� �		��� 
�	� ��
� ��� �
�� ωj� (t, x, p) → û(t, x, p, ωj)|A �
	

 C0 ×C1 ×C1�� ���	��� �� 
� ���� 	�� ����
����� ��A� ��� 
�� 	�� A �� ���
���� ∩iΦ

i� Φi = {(t, x, p) ∈ Q∗(ωj) : φi(t, x, p, ω
j) > 0}� �� Φi = {(t, x, p) ∈

Q∗(ωj) : φi(t, x, p, ω
j) < 0}� &��� ��������� �� ��� ���%�
���� 	��� �
� ������

�� i'� C�� Q1(ωj) := {(s, y) ∈ Q0(ωj) : φk(s, y, p(s; s, y, ω
j), ωj) = 0 ��� 	���

k}� Qs,y,ωj := {t ∈ [s, T ) : φk(t, x(t; s, y, ω
j), p(t; s, y, ωj), ωj) = 0 ��� 	���

k}� 
�� Q2(ωj) := {(s, y) ∈ Q0(ωj) : φk(T, x(T, s, y, ω
j), p(T ; s, y, ωj)) = 0

��� 	��� k = 1, ..., k∗j} 
�� 
		��� ��
� ��� 
�� (s, y) ∈ Q0(ωj) \ (Q1(ωj) ∪
Q2(ωj))� ��� 
�� t /∈ Qs,y,ωj � (s′, y′) → (x(t; s′, y′, ωj), p(t; s′, y′, ωj)) �	 C1 ���

�� (s′, y′) �� 
 ������������ Nt,s,y,ωj �� (s, y)� �		��� ��
� ��� 
�� (t, x, p) ∈
Q∗(ωj), φk(t, s, p, ω

j)) = 0 ��� 
� ��	� ��� k� �		��� ��
� M(s, y, ωj) :=
E[supw J(s, y+g(s, y, V, w, ωj), ωj, s, V )|s, ωj] �	 C0×C2 ��Q0(ωj)\(Q1(ωj)∪
Q2(ωj))� �		��� ��
� supt∈[s,T )\Q

s,y,ωj
|M(t, x(t; s, y))|�

supt∈[s,T )\Q
s,y,ωj

|Mx(t, x(t; s, y), ω
j)| 
�� supt∈[s,T )\Q

s,y,ωj
|Mxx(t, x(t; s, y), ω

j)|

�� ���
��� ������� �� Q0(ωj) \ (Q1(ωj)∪Q2(ωj))� 
�� ��
� ��� 
�� (s, y) ∈
Q0(ωj) \ (Q1(ωj)∪Q2(ωj))� M(s′, y′, ωj) �
	 
 C0 ×C2�� ���	��� �� 
� ����
	�� 
����� ��� 	�� {(s′, y′) = (s′, x(s′; s, y, ωj)) : s′ ∈ [a, b]}� ��� 
�� ������
�
[a, b] ⊂ (s, T ) ��� ����� (a, b) ∩ Qs,y,ωj = ∅� >��
���� 
		��� ��
� ��� 
��

���		���� 	������� x(., ω)� ��� 
�� s > τj 	��� ��
� (s, x(s, ωj)) ������	 ��
Q1(ωj) ∪ Q2(ωj)� ����� ��� 	��� ε > 0, (s′, x(s′, ωj)) /∈ Q1(ωj) ∪ Q2(ωj) ���
s′ ∈ (s, s+ ε)� �

����, �, ��	
�� �. �����
� �� ��
� �
	 ���
���� �� ��� !��	���� �
�� ��
��� ����� �� 4������ .0� ��� *+,��%�
���� ����	 ��� 
�� (s, y) ∈ Q0(ωj) \

AK



(Q1(ωj)∪Q2(ωj))� �� C���
 A� ,� ��� �
	� �������� �� <��
�( =A� ��� 
��

���		���� 	������� x(., ω)� J(t, x, ωj) �	 ���������	�� ��$������
��� ��
� 
��
����� (s, x(s, ω))� s ∈ (τj , τj+1)� � ���� ��� 
 �����
��� ������ �� s;	� 4��	�
�����	 ������ 
	 �� <��
�( =E �� ωj� �� ����
�	 ���� 1��
	��
���1� �� �����
�
	� ��� ������	���	 �� <��
�( =E 	���� ����� &���� ��
� Z ′ = Q1(ωj)∪Q2(ωj)
�	 ���
������ ���� �� [τj , T ) × R

n)'�

����, �, ��	
�� �1� �� �
	� �� <��
�( ./� M(s, y, ωj) = z(s; s, y +
g(s, y, j + 1), j + 1). 2�������� (s′, y′) → (x(T ; s′, y′, j), p(T ; s′, y′, j)) �	 
	�
	���� �� �� C1 ��� (s′, y′) ��
� 
�� (s, y) �� R0(j) \ Q1(j)� ���� �� (s, y)
������	 �� R2(ωj) = Q2(j)� >��� ���	 �������� ��������� <��
�( ./ ����
���	�

=�		
 1 �� �
	� �� C���
	 0 
�� A� �� ��� ���� ��� �
	�� �� �
� ���� ���

		������� �� ��� ���������	 ��$������
������ �� (s, y) → (x(t; s, y); q(t; s, y))�
	���� �� 
����
���
��� ����	� �

����, ��������� :� ���	���� ���� ��� �
	� �� C���
 0� ��� M∗ ≡ 0� 

	����
� ����� ����	 �� �
	� �� C���
 A� C�� (ŝ, ŷ) ������ �� Q� 
�� ���
(x̃(t; s, y, p), q̃(t; s, y, p)) �� ��� 	������� �� ẋ = f(t, x, û(t, x, q)),
q̇ − qfx(t, x, û(t, x, q)), x̃(s; s, y, p) = y,
q̃(s; s, y, p) = p. � 	������� � �	� 
� ��
	� ��� (s, y, p) ���	� �� (ŝ, x̂, q(ŝ; ŝ, x̂))�
4��� (x(t; s, y), q(t; s, y)) �%�
�	 (x̃(t; s, y, p1(y)), q̃(t; s, y, p1(y)))� ����� p1(s, y)
�	 
 	������� ��

q̃(T ; s, y, p)− h0x(x̃(T ; s, y, p)) = 0. (∗)
�� ��
	� ���	 �	 	� ��� ŝ ���	� �� T � 
	 �� 	�
�� 	��� >�� ŝ 	������� 	�
����
��
� T � q̃(T ; ŝ, y, p) = p +

∫
ŝT−qfxdt

� x̃(T ; s, y, p) = y +
∫ T

s
fdt� �� ��� ŝ

���	� �� T � (∂/∂p)[q̃(T ; ŝ, y, p) − h0x(x̃(T ; ŝ, y, p))] ≈ I� �	��� ��� ��� ����
������ �%�
�����	 
�� ��	���
����� ��� 	�
�� ����	 
��	��� ���� ��� ������
�	
���
���� �� ��$������
���� ����� ��� ������
� 	��� ���� ��	���� �� p� *�����

 ���%�� p1(s, y) � �	�	 ��� (s, y) ���	� �� (ŝ, ŷ)� ���� p1(ŝ, ŷ) = q(T ; ŝ, ŷ)�
����� �	 C1� �� ��� �������� �������� �������� >� 
 ŝ = T1� ��� �����
���	 ����	� 4��� ���	���� ��� �%�
���� q̃(T1; s, y, p) − p1(x̃(T1; s, y, p)) = 0�
4���� �� � 
���� ��� 	
�� 
�������	� ��� ŝ 	������� 	�
���� ��
� T1� 

���%�� 	������� p = p2(s, y) �� ���	 �%�
���� � �	�	 ��� (s, y) ���	� �� (ŝ, ŷ)�
���� p2(ŝ, ŷ) = q(T1; ŝ, ŷ)� ����� �	 C1� �� ��� �������� �������� ��������
?��� �	��� &G' ��� p = p1(s, y), s = T1, y = x̃(T1; s, y, p2(s, y)) ����	 0 =
q̃(T ;T1, x̃(T1; s, y, p2(s, y)), p1(T1, x̃(T1; s, y, p2(s, y)))) −
h0x(x̃(T ;T1, x̃(T1; s, y, p2(s, y)), p1(T1, x̃(T1; s, y, p2(s, y))))) =
q̃(T ;T1, x̃(T1; s, y, p2(s, y)), q̃(T1; s, y, p2(s, y))))−

A.



h0x(x̃(T ;T1, x̃(T1; s, y, p2(s, y)), q̃(T1; s, y, p2(s, y))))) =
q̃(T ; s, y, p2(s, y))− h0x(x(T ; s, y, p2(s, y)))� >� 
 ŝ = T2 < T1 	��� ��
� ���	
����	�

5
������ ��� 	����
� 	��� 	���	� 	
� k ����	� �� �
� ��
�� �
�( �� 
��
����� ŝ = Tk� ���� q̃(T ; s, y, pk(s, y)) − h0x(x̃(T ; s, y, pk(s, y))) = 0 �������
��� 
 ���%�� �������� pk(s, y) ����� C

1 ���	� �� (s, y) ���	� �� (ŝ, ŷ) ∈ Q� ����
pk(Tk, ŷ) = q(Tk−1; ŝ, ŷ)� &�� �	 ��		���� �� (��� Ti − Ti+1� i = 1, ..., k − 1�
����������� �� i�'

��	
�� �/ �� 4������ 0� ��� j = 0� (s, y) → (x(t; s, y, j), p(t; s, y, j))
���� ���� �� C0 × C1 
�� ��� j = 0� ��� ���������		 ���������	 �� p 
��
py 
�� ��� ������� �� h0 �	 CN+2, f(., ., ., j) �	 C0 × Cj+2 × Cj+2� g(., ., j) �	
C0 × Cj+2� 
�� û(t, x, p, j) �	 C0 × Cj+1 × Cj+1� ����� ��� 
�� j� (s, y) →
(x(t; s, y, j), q(t; s, y, j)) �	 C0 × Cj+1 × Cj+1� ���	 	�F��	 ��� 4������ 0 ��
����� ?� C1 × C2�������	
�� �� (s, y) → (x(t; s, y, j), p(t; s, y, j)) �	 ����
������� &� ����� �	 ���
���� ���� 
� ������	 � ���	��� �� C���
 / ��
�
����� Cj+1����������� �� (s, y) → x(t; s, y, j), p(t; s, y, j)�'

���� ���	�

� ��	� T

?��� ��� ���� T �	 	������ �� ������ �� 
 ����� 	�� [T1, T2]� 4�� �������
�	 �� ����	� 
 ������ u(., ω), w(., ., ω), T = T (ω)� 	��� ��
� ��� �
 ����
�� 8AJ9 �	 ���
����� 4�� 	������� ���� T (ω) ������	 �� ��� ��	���� �� ���
	�	���� ���� 1[0,T (ω)](t) �	 ��%����� �� �� ���
������
����� 2�������� T �	 	���

�
���� �������	� 
�� �����#���������	 �� �
�� τi, �
�� ��������� �� �
��
Vi� 4�� ��
		 �� ������	 (u(., .), w(., ., .), T (.))� ���� �����	������� (0, x0, ω0)�

���		���� 	�������	 x(., ω) �	 ��� ��� ��
		 �� ����� 
� �����
� ������ �	
	����� ���� ?��� 1
���		����1 �������	 ��� 	
��	�
����� �� ��� ����� ������
�
���������	" ��	��

xi(T (ω), ω) = x̂i, i = 1, ..., n′

xi(T (ω), ω) ≥ x̂i, i = n′ + 1, ..., n′′, [98∗]

>�������	 λ(t, x, u, ω) 
�� π(t, x, ω)� 	
��	����� ��� 	
�� 
		�������	 
	

����� 
�
�� ��	����� ��� ����
������ ���������	 �� ��� τj ;	 
�� ��� Vj;	� ?���
h0(t, x) �	 
		���� �� �� C��	����3 ���������	 ���� �
�( κh0 
�	� �� t� :�

�	� 
		��� ��
� f, g 
�� h0 
�� C2� :� 	�
�� ���� ��� 	��	 �� 	�F�����
���������	� �		��� ��
� Q(ωj) ⊂ [τj , T ) × R

n� j = 0, 1, . . . 
�� ����� 	��	
���� ��� �������� ��
� ��� Q(ωj);	 ����
�� 
�� ��		���� ��
��
��� �����	 ��
��� �����		 ���� � 
���� j ����	 �
�� ��������� �� ��� 	��	� ��
�� ��� 
��

A=



(0, x0, ω0)�
���		���� %�
������ (x(t, ω), u(t, ω), w(t, v, ω), T (ω))� 
�� ��� 
��
ωj� 
�� τj+1� (t, x(t+;ωj)) ������	 �� Q(ωj)� �� t ∈ [τj , T (ω)), t ≤ τt+1� -�!��
Q(ω) := {(t, x) : ��� 	��� j� t ∈ [τj , τj+1) 
�� (t, x) ∈ Q(ωj)}� <��
�� ��
�
��� 	��	 A 
�� B �� R

n� A ⊂ B� A �	 �
���� ���
������ ���� �� B �� ����� � �	�	

� ���� 	�� C �� R

n 	��� ��
� A = B ∩ C�

+�����	 �% 7���� 	��	 D(ωj) ⊂ Q(ωj)� D(ωj) ���
������ ���� �� Q(ωj)�

�� 
 �������� J(t, x, ω)� ���
������
���� �� (t, ω)� ��!��� ��D(ω) = {(t, x) :
��� 	��� j, t ∈ [τj , τj+1) 
�� (t, x) ∈ D(ωj)}� -�!��

J(t, x, ω) := h0(t, x)� ��� (t, x) ∈ Q(ω) \D(ω). [99]�

�		��� ��
� {(t, x) ∈ Q(ωj) : t < T1} ⊂ D(ωj)� 
�� ��
�

(t, x) ∈ D(ωj), t ∈ [T1, T2) ⇒ J(t, x, ωj) > h0(t, x). [100]�

�		��� 
�	� ��
� (s, y) → J(s, y, ω) �	 C1 
� 
�� ����� (s, y) ∈ D(ω)� ���	
J(s, y, ω) �
	 
 C1�� ���	��� �� 
 ������������ 
����� (s, y)� 4�� � ����
	���� 
	 ���� 
	 ��	 �����
����	 Js 
�� Jx 
��� 	��
�
����� �������	� 
�� �����#
���������	 �� �
�� τi 
�� �� �
�� ��������� �� �
�� Vi� �		��� ��
� ���
*+,��%�
���� 8J=9 ����	 ��� (s, y) �� D(ωj)�

�		��� ��
� ��� 
�� ωj� ��� 
�� (s, y) ∈ Q(ωj) \D(ωj), s > T1, u ∈ U,

h0t(s, y) + h0x(s, y)f(s, y, u, ωj)+
λ(s, y, u, ωj){E[supw∈W J(s, y + g(s, y, V, w, ωj), ωj, s, V )|s, y, ωj]−
h0(s, y)} ≤ 0 [101]�

>����������� 
		��� ��
� ��� 
�� ωj�

J(s, y, ωj)|D(ωj) �
	 
 C
1 � ���	��� ������� J∗∗(s, y, ωj)

�� 
� ���� 	�� ����
����� D(ωj) ∪ (Q(ωj) ∩ ∂D(ωj))�
����� ∂D(ωj) �	 ��� �����
�� �� D(ωj)� 
��
J∗∗

t (s, y, ωj) − h0t(s, y) + (J∗∗
x (s, y, ωj) − h0x(s, y))f(s, y, u, ωj) �= 0

��� 
�� (s, y) ∈ Q(ωj) ∩ ∂D(ωj), u ∈ U, s ∈ (T1, T2). 8.K=9

�		���� ����������� ��
�� ��� 
�� 
���		���� �
�� x(t, ω), T (ω) ��� 
�� t ∈
Dx(.,.)(ω) := {t′ : (t′, x(t′, ω)) ∈ D(ω)}� ��� ��������� ���%�
���� ����	

|J(t, x(t, ω), ω)| ≤ αx(.,.) + κx(.,.)|x(t, ω)| 8.K09

��� 	��� ��	����� ���	�
��	 αx(.,.), κx(.,.)� �		��� 
�	� ��
� t→ J(t, x(t, ω), ω)

A0



�	 C��	����3 ���������	 ���� C��	����3 �
�( βx(.,.)(1 + κg)
j� ��� 	��� ���	�
��

βx(.,.)� �� 
�� ������
� (s′, s′′) ⊂ Dx(.,.)(ω)∩(τj, τj+1)� �		���� ��������� ��
�
����� � �	�	 
 �
�� �� ������� ��������	 u∗(t, ω), w∗(t, V, ω)� ���� �����	�����
��� 
���		���� 	������� x∗(t, ω) ��!��� �� [0, T ∗(ω)]� ����� 	
��	�� 8J09 
��
8JE9� ���� ����� ����� ��� 	�����
 �� ��� *+,��%�
����� ��� s �� [0, T ∗(ω)]�
-�!�� T j(ωj) := sup{t : (s, x∗(s, ωj)) ∈ D(ωj) ��� 
�� s ∈ [τj , t)} ≥ τj � &= τj
�� ��� 	�� �	 �����'� 
�� 
		��� ��
� T ∗(ω) = min{T j(ωj) : T j(ωj) < τj+1}�
�		���� !�
���� ��
�� ��� 
�� 
���		���� �
�� x(., ω), T (ω)� ��� 
�� ω 
�� 
��
s ∈ [T1, T (ω)], s ∈ (τj , τj+1),

�� (s, x(s, ω)) ∈ ∂D(ωj), ���� lim
t→s

J(t, x(t, ω), ω) = h0(s, x(s, ω)). [104]

4��� (u∗(t, ω), w∗(t, V, ω), T ∗(ω)) �	 
� �����
� ������ �� ��� ��
		 �� 
�� ������	
u(t, ω), w(t, V, ω), T (ω)� �

��������	 8.K=9 ���	 ��� ����� �� �
������
� ���	 �
� �
���� �� ��� ����
	��
���� �������	� �� ����� �
	�� �������� ��� ��������� ��������� �
� ����"

>�� 
�� 
���		���� 	������� x(., ω) 
�� ��� 
�� ω� �� (t, x(t, ωj)) ∈ ∂D(ωj), t >
τj � ���� (s′, x(s′, ωj)) /∈ ∂D(ωj)� ��� 
�� s′ 	��� ��
� s′ �= t, s′ > τj, s

′ ∈
(s1, s2)� (s1, s2) 	��� ������
� ����
����� t� 8.K@9

+�����	 �'� 4������ .E ���� ����	 ���� 8.K=9 �	 ����
��� �� 8.K@9� 
��
���� �� �	 
		���� ��
� ��� �
�� 
���		���� x(., ω), T (ω)� J(s, y, ωj) �	 ������
C1 �� 
 ������������ �� (s, x(s, ωj)), s ∈ (0, T (ωj)) � ���� ��� 
 �����
���
������ �� �����	 σj

k(ω
j), k = 1, 2, ...� σj

k(ω
j) �������	� 
� �����#���������	

�� �
�� τj, �
�� ��������� �� �
�� Vj � �

����,� �, +�����	� �% 

� �' C�� (x(t, ω), u(t, ω), w(t, V, ω), T (ω)) ��

� 
�����
�� 
���		���� %�
������� ,� 8.K=9 �� 8.K@9� ��� �
�� ω� ����� � �
�	� 
 �����
��� ������ �� �����	 s = βj

n(ωj), n = 1, 2, �� (τj , T (ωj))� &����
�� 
������
���� �����	 �� ���	 	��'� ��� ����� (s, x(s, ωj)) ∈ ∂D(ωj)� 
��
��� 
�� s �� (τj , T (ω))� s /∈ {βj

n(ωj)}n ∪ {σj
k(ω

j)}k� J �	 ���������	�� ����
�������
��� ��
� (s, x(s, ωj))� &�� �
	� �� 8.K=9� �� �����
�������� �� �����
� �	�	 
 	�%����� sn → s� (s, x(s, ωj)) ∈ ∂D(ωj)� (sn, x(sn, ω

j)) ∈ ∂D(ωj)�
���� �� 8.KE9� h0(sn, x(sn, ω

j)) = J(sn, x(sn, ω
j), ωj) = J∗∗(sn, x(sn, ω

j), ωj)�
h0(s, x(s, ω

j)) = J(s, x(s, ωj), ωj = J∗∗(s, x(s, ωj), ωj)� ����� �����
����	
8.KE9 ��� u = u(t±)� ���� ��� ��� �� ���	� �����	� 
	 
 	��	�%����� �� sn

��������	 ���� ����� �� 
���� �� s�' -�!�� ψ(s, ωj) := J(s, x(s, ωj), ωj)

�� ��!�� ψ(s, ω) = ψ(s, ωj) �� s ∈ [τj , τj+1)� ?��� ψ(s, ωj) �	 ���������	 
�
�
�� βj

n(ωj) &	�� 8.KE9'� 
�� �	 ����� C��	����3 ���������	 �� (τj , T (ωj)) ����

AE



�
�(
max{βx(.,.)(1+κg)

j, κh0(1+αf +κf |x(t, ω))|} ≤ βx(.,.)(1+κg)
j ��� 	��� βx(.,.)�

&�� 8@09� 8@E9 �� �����	�
� &=KK.''� >�� s ∈ (τj, τj+1)� ��!�� γ̂(s, y, u, ω) =
Js(s, y, ω) + Jy(s, y, ω)f(s, y, u, ω) +
λ(s, y, u, ω){E[supw∈W J(s, y+g(s, y, V, w, ω), ω, s, V )|s, y, ωj]−J(s, y, ω)} ≤
0� ���� ��� C1�� ���	��� �� J �	 �	�� ���� (s, y) ∈ D(ωj)� �� ���� J = h0

�	 �	��� &4�� ���%�
����� ����� ����	 ��� (s, y) ∈ Q(ω)� ������	 ���� 8.K.9�
8J=9�' 2�������� γ(s, ω) := {(d/dt)E[ψ(t, ω)|s, ω]}t=s+ =
[(d/dt)E[J(t, x(t;ω), ω)|s, ω]t=s+ = γ̂(s, x(s+, ω), u(s+, ω), ω) ≤ 0 ���� ��
[0, T (ω)]� &���� �������� γ(s, ω) �	 ��!���'� :���� γ∗(s, ω) �� (x(., ω), u(., ω), T (ω))
�	 ����
��� �� (x∗(., ω), u∗(., ω), T ∗(ω))� 4���� �� �
��� γ∗(s, ω) = 0 ����� ��
8J=9�8J09 
�� 8JE9� ?��� <��
�( =/ ����� �����	 ��
�Eh0(T (ω), x(T (ω), ω)) =

EJ(T (ω)−, x(T (ω)−, ω) = Eψ(T (ω)−, ω) = ψ(0, ω0) + E
∫ T (ω)

0
γ(t, ω)dt ≤

ψ(0, ω0) = J(0, x0, ω0) = J(0, x0, ω0) + E
∫ T ∗(ω)

0
γ∗(t, ω) =

EJ(T ∗(ω)−, x∗(T (ω−, ω), ω) = Eh0(T
∗(ω), x∗(T ∗(ω), ω))

��	
�� �1 �� a ≤ T (ω) ≤ b �	 
 	������� ����� 
�� �� φ �	 ����������� ��
x� &��� ���� �
	� �� ���� �� ���	����'� ���� 8J/9 ����	 ��� b ����
��� �� T (ω)�

����, �, ��	
�� �1 <���!�� φ(t, ω) �� �%�
� φ(T (ω), ω) ���� t > T (ω)�
4��� φ �	 	���� ���
������
���� � 
�� γ(t, ω) = 0 ��� t > T (ω)� ����� 8J/9
����	 ��� ��� ����!��� φ� �� ����	 
	 ��
���� �� ��� ���
�(�

�� ��� �� � ������� �� �	 
		���� ��
� λ �	 ����������� �� x 
�� u� ��
�
π �	 ����������� �� x� 
�� ��
� g = g(t, x, Vj, τj , j)� 4�� �������� M �	 ���
!��� �� [86∗∗]� R���� 
� �����		��� ������ �� 
		�������	 
�� ������ �� ���
�������� �� �
�� ��������� ���� �� ��#-� ������

�� &�		�������	 �� Ĥ 
�� û'
C�� φk(t, x, p, ω

j), k = 0, ..., k∗j + 2� �� C1���������	 �� (t, x, p) �� ����� ����
	��	 Q∗(ωj)� j = 1, 2, ...� ��� �
�� ωj� �������	� 
�� �����#���������	 ��
�
�� τi, �
�� ��������� �� �
�� Vi, τi < t� �		��� ��
� ��� 
�� (t, x, p) ∈
Q∗(ωj), φk(t, x, p, ω

j) = 0 ��� 
� ��	� ��� k� �		��� ��
� û(t, x, p, ωj) �����	
��� �
 ���� ������� Ĥ(t, x, p, ωj) �� u → H(t, x, u, p, ωj)� ��� (t, x, p) ��
Q∗(ωj)� �		��� ��
� Ĥ(t, x, p, ωj) �	 C0 × C2 × C2 �� {(t, x, p) ∈ Q∗(ωj) :
φk(t, x, p, ω

j) �= 0 ��� 
�� k} 
�� ��
� û(t, x, p, ωj) �	 C0 × C1 × C1 �����
�		��� 
�	� ��
� ��� �
�� ωj� (t, x, p) → û(t, x, p, ωj) �
	 
 C0 × C1 × C1�
� ���	��� �� 
� ���� 	�� ����
����� ��A� ��� 
�� 	�� A �� ��� ���� ∩iΦ

i�
Φi = {(t, x, p) ∈ Q∗(ωj) : φi(t, x, p, ω

j) > 0}� �� Φi = {(t, x, p) ∈ Q∗(ωj) :
φi(t, x, p, ω

j) < 0}� &��� ��������� �� ��� ���%�
���� 	��� �
� ������ �� i'�

A@



,� &� �	����� �� ��
�
�����	��� %�
������	� 
�� 
		�������	 ��
��� ����
����'
�		��� ��
� 
 ���������� �� 	��	 D0(ωj) ⊂ [τj , T2) × R

n� ���
������ ���� ��
[τj , T2)×R

n� 
�� 
 ���������� �� 	�������	 x(t; s, y, ωj)� p(t; s, y, ωj), z(t; s, y, ωj),
���� �����	������� 	������� ����	 T (s, y, ωj) ∈ (max{s, T1}, T2] �
�� ����
������ 	
��	����� 
	 ��������	 �� t �� (s, T (s, y, ωj))� ��� �%�
����	
ẋ = f(t, x, û(t, x, p, ωj), ωj),
ṗ = −pfx(t, x, û(t, x, p, ω

j), ωj) + λ(t, ωj)p− λ(t, ωj)Mx(t, x, ω
j)�

ż = λ(t, ωj)z − λ(t, ωj)M(t, x, ωj)�
z(T (s, y, ωj); s, y, ωj) = h0(T (s, y, ωj), x(T (s, y, ωj); s, y, ωj))� x(t; s, y, ωj) 	�
���
��� 
� (s, y, ωj)� ��� 
�� j� 
�� ωj� ��� 
�� (s, y) ∈ D0(ωj)� 4�� 	��	
D0(ωj) 
�� 
		���� �� 	
��	�� ��� ���������	 ��
� ��� 
�� 
���		���� x(., ω)�
(s, x(s, ωj)) ∈ D0(ωj) ��� 
�� s < T1� 
�� ��
�� ��� 
�� (s, y) ∈ D0(ωj)�
T (s, y, ωj) = sup{t′ : (t, x(t; s, y, ωj)) ∈ D0(ωj) ��� 
�� t ∈ [s, t′]} > s� &����
��� 	�� �	 ���������'

�� �	 
		����� ��� (s, y) ∈ D0(ωj)� ��
� x(t; s, y, ωj)� p(t; s, y, ωj) 	
��	�
!�	 ��� ������
� ���������	 8A09 
�� ��� ��
�	���	
���� ��������� [86∗] ��� T
����
��� �� T (s, y, ωj) 
�� ���� Λi(k, s, y, ω

j)� i = n′ + 1, ..., n′′ ���������	�
�		���� ������������ ��� ���	�	����� ��������� [86∗∗∗] &��� t < T (s, y, ωj), (s, y) ∈

D0(ωj)'� �		��� ��
� (s, y) → (x(t; s, y, ωj), p(t; s, y, ωj), T (s, y, ωj)) 	
��	�
!�	 ��� ��������� ��$������
������ ���������	� �		��� ��
� ��� 
�� ����� ωj,
��� 
�� (s, y) ∈ D0(ωj), ��

t ∈ (s, T (s, y, ωj)) 
�� φk(t, x(t; s, y, ω
j), p(t; s, y, ωj), ωj) = 0, ����

φkt + φkx(∂/∂t)x(t
±; s, y, ωj) + φkp(∂/∂t)p(t

±; s, y, ωj) �= 0� 8.KA9�

��� �
���
� �����
����	 φkt, φkx 
�� φkp ����� ��
��
��� 
� (t, x(t; s, y, ωj)�
p(t; s, y, ωj), ωj). &4�� � ���		��� �� ��� ���� 	��� �� ��� 1����%�
����1 ��
8.KA9 �	 
		���� �� �� ������ > 0� ��� ���� ��� ����� 
�� ���� ������ ��
< 0 ��� ���� �����	�' �		��� ��
� (t, x(t; s, y, ωj), p(t; s, y, ωj)) ������	 ��
Q∗(ωj)� ��� 
�� t ∈ (s, T (s, y, ωj))� 
�� (s, y) ∈ D0(ωj)� C�� D1(ωj) :=
{(s, y) ∈ D0(ωj) : φk(s, y, p(s; s, y), ω

j) = 0 ��� 	��� k = 1, ..., k∗j + 2}�
Ds,y,ωj := {t ∈ (s, T (s, y, ωj)) : φk(t, x(t; s, y, ω

j), p(t; s, y, ωj), ωj) = 0 ���
	��� k = 1, ..., k∗j + 2}� 
�� D2(ωj) :=
{(s, y) ∈ D0(ωj) : φk(T (s, y, ωj), x(T (s, y, ωj); s, y, ωj), p(T (s, y, ωj); s, y, ωj), ωj) =
0 ��� 	��� k = 1, ..., k∗j + 2} 
�� 
		��� ��
� ��� 
�� (s, y) ∈ D0(ωj) \
(D1(ωj) ∪D2(ωj)), s > τj� ��� 
�� t /∈ Ds,y,ωj , s < t < T (s, y, ωj)� (s′, y′) →
(x(t; s′, y′, ωj), p(t; s′, y′, ωj), T (s′, y′, ωj)) �	 C1 ��� 
�� (s′, y′) �� 
 ���������
���� Nt,s,y,ωj �� (s, y)�

AB



5� &4�� ���		��� �� 1�
��� ����	1 �� ��� 
���		���� 	�������	'
-�!�� Φk,ωj := {(s, y) ∈ D0(ωj) : φk(s, y, p(s; s, y), ω

j) = 0}� 
�� 
		���
��
� Φk∗

j +1,ωj ����
��	 ∂{(s, y) ∈ D0(ωj) : T (s, y, ωj) > T1}� 
�� ��
�

Φk∗
j +2,ωj ����
��	 ∂{(s, y) ∈ D0(ωj) : T (s, y, ωj) < T2}� ,� 
		��������

φk∗
j +1 
�� φk∗

j +2 
�� ����������� �� p� -�!�� Φk∗+2+i,ωj := {(s, y) ∈ Q(ωj) :

φi(T (s, y, ωj), x(T (s, y, ωj); s, y, ωj), p(T (s, y, ωj); s, y, ωj), ωj) = 0}� �		���
��
� ��� 
�� 
���		���� �
�� x(., ω), T (ω)� ��� 
�� k = 1, ..., 2k∗ + 2� ��� 
��
s < T (ω), s > τj 	��� ��
� (s, x(s, ωj)) ������	 �� Φk,ωj , ����� � �	�	 
 ����
��� ε > 0, (s′, x(s′, ωj)) /∈ Φk,ωj ��� s′ ∈ (s, s+ ε)� >��
���� 
		��� ��
� 8.K@9
�	 	
��	!�� ��� D(ωj) := D0(ωj) ∩Q(ωj)�

-� &�		�������	 �� ��� �
��� ��������	 J'
�		��� ��
� ��� ��������� ��������� �	 	
��	!��� 4�� ���%�
���� J(s, y, ω) :=
z(s; s, y, ω) > h0(s, y) ����	 ��� 
�� (s, y) ∈ D(ωj), s ≥ T1� �		��� 
�	�
��
� 8.K.9 
�� 8.KE9 ����� �		���� ��� �
�� 
���		���� x(., ω), T (ω)� ��
�
|J(t, x(t, ωj), ωj| ≤ αJ + κJ |x(t, ωj)|, t ∈ (τj , T (w)] ∩ {t : (t, x(t)) ∈ D0(ω)},

�� ��
� t→ J(t, x(t, ωj), ωj) �	 C��	����3 ���������	 �� (τj , T (ω)) ∩ (s′, s′′)�
���� �
�( κ̂J (1+κg)

j � ��� 
�� ������
� (s′, s′′) ��� ����� (s, x(s, ωj)) ∈ D0(ωj)
���� s ∈ (s′, s′′)� αJ , κJ , κ̂J ����
�	 ��������� �� x(., ω), T (ω)� �		��� ��
�
M(s, y, ωj) := E[supw J(s, y + g(s, y, V, w, ωj), ωj, s, V )|s, ωj] �	 C0 × C2 ��
D0(ωj) \ (D1(ωj) ∪ D2(ωj))� 
�� ��
� ��� 
�� (s, y) ∈ D0(ωj) \ (D1(ωj) ∪
D2(ωj))� M(s, y, ωj) �
	 
 C0 × C2�� ���	��� �� 
� ���� 	�� 
����� ��� 	��
{(t, x(t; s, y, ωj)) : t ∈ [a, b]}� ��� 
�� ������
� [a, b] ⊂ [0, T (s, y, ωj)) ��� �����
(a, b)∩Ds,y,ωj = ∅� �		��� 
�	� ��
� supt∈[s,T (s,y,ωj))\Q

s,y,ωj
|M(t, x(t; s, y, ωj), ωj)|�

supt∈[s,T (s,y,ωj))\Q
s,y,ωj

|Mx(t, x(t; s, y, ω
j), ωj)| 
��

supt∈[s,T (s,y,ωj))\Q
s,y,ωj

|Mxx(t, x(t; s, y, ω
j), ωj)| 
�� ���
��� ������� ��D0(ωj)\

(D1(ωj) ∪D2(ωj))�

+�����	 �- ���*���
� ��
�����
 ,�� ��
�
��������� 6�
������� �
�		��� ��
� ��#-� 
���� 
�� 	
��	!��� �		���� ������������ ��
� ŵ(t, x, v, ωj)
����	 �
 ���� �� J(t, x + g(t, x, v, w, ωj), ωj, t, v) ��� (t, x) ∈ D0(ωj)� �	�
	���� ��������� ��
� η∗(T (s, y, ωj), ωj) = 0 �� T (s, y, ωj) ∈ (max{s, T1}, T2), (s, y) ∈
D0(ωj), ����� η∗(T, ωj) := η(T, x(T ; s, y, ωj), p(T ; s, y, ωj), ωj)� η(T, x, p, ωj) :=

Ĥ(T, x, p, ωj)+h0T (T, x)+λ(T, ωj){E[supw J(T, x+g(T, x, V, w, ωj), ωj, T, V )|T, ωj]−
h0(T, x)} �

-�!�� T (s, y, ωj) = s �� (s, y) ∈ Q(ωj)\D(ωj) 
�� ��!�� x(t, ω) = x(t, 0, x0, ω0)�

AA



��� t ∈ [0, τ1] ∩ [0, T (0, x0, ω0)]� 
�� �� ���������� �����
����
x(t, ω) = x(t, τk, x(τk, ω) + g(τk, x(τk, ω), w(τk, x(τk, ω), vk, ω

k−1), ωk−1))� ���
t ∈ (τk, τk+1]∩[0, T (τk, x(τk, ω)+g(τk, x(τk, ω), ŵ(τk, x(τk, ω), vk, ω

k−1), ωk−1))]�
�		���� !�
���� ��
� w̃(t, v, ωj) := ŵ(t, x(t;ω), v, ωj) 	
��	!�	 ��� 	�
��
��
��%��������	 �� 	��� �������	 ��	������ 
����� -�!�� ũ(t, ωj) = û(t, x(t;ω), p(t;ω), ωj)�
T̃ (t, ω) := T (t, x(t, ω), ωj) �� t ∈ (τj , τj+1]� 4��� ũ(t, ω), w̃(t, v, ω), T̃ (t, ω) �	

� �����
� ������� �

����, �, +�����	 �-" >�� 	���������� �� ��� ������ 
 ������� �	 ����
	������ �� ����� ��� ������� w ���	 ��� 
���
�� C�� (s, y) ∈ D0(ω

j) :=
D0(ωj) \ (D1(ωj) ∪ D2(ωj))� 5���	� 
 t ���	� �� T (s, y, ωj)� 	��� ��
�
[t, T (s, y, ωj)) ⊂ �Ds,y,ωj � <��
�� ��
�� ��� Y = Z = (s, y)� z(t; s, y, ωj) =

ψ(t, Z, Y ) :=
∫ T (Z,ωj)

t
λ(ρ, ωj)e

∫ t
ρ

λ(ξ,ωj)dξM(ρ, x(ρ;Y, ωj), ωj)dρ+

h0(T (Z, ωj), x(T (Z, ωj), Y, ωj))e
∫ t

T (Z) λ(ρ,ωj )dρ. -�$������
���� ���� ��	���� ��
Z �����	 ψZ(t, Z, Y ) =

λ(T (Z, ωj), ωj)M(T (Z, ωj), x(T (Z, ωj), Y, ωj), ωj))e
∫ t

T (Z,ωj)
λ(ρ,ωj)dρ

T ′

+ h0t(T (Z, ωj), x(T (Z, ωj), Y, ωj)))e
∫ t
T (Z,ωj )

λ(ρ,ωj)dρ
T ′ +

h0x(T (Z, ωj), x(T (Z, ωj), Y, ωj))ẋ(T (Z, ωj), Y, ωj))e
∫ t

T (Z,ωj)
λ(ρ,ωj)dρ

T ′ −
λ(T (Z, ωj), ωj)h0(T (Z, ωj), x(T (Z, ωj), Y, ωj))e

∫ t
T (Z,ωj)

λ(ρ,ωj)dρ
T ′. &?��� ��
� ���

���
� ���������		 ��M,Mx 
��Mxx �����	 ��
� x(t; s, y, ω
j) 
�� xy(t; s, y, ω

j)

�� ���
��� �������� ��
� ψ(t, Z, Y ) 
�� ��
� ��� �����
����	 ���� ��	���� ��
Z # 
�� �
��� �� ���� ��	���� �� Y # �
� �� �
����
��� �� ��� �
���� �����
&>���
��� ����� 	
� Y � ��
���	� ��� ������
� �� ��!������ [t, T (Z, ωj)) 
�	�
��
���	� 
	 Y = Z'�'

?��� (gk,j(T (Z, ωj), x(T (Z, ωj), ωj))i = x̂i ��� Λi(k, Z, ω
j) > 0� i = n′ +

1, ..., n′′� 
�� 
�	� ��� i ≤ n′� 4��	� 	����
� �� ��
� �
	 ���
���� �� ��� �����
�� C���
 0� ��� �%�
���� �� �
�� ����	 
�	� ��� 
�� Z ′ ���	� �� Z� 	� � &	���� ���
(s, y) = Z = Y '�
p(T (Z, ω), Z, ωj)(d/dZ)x(T (Z, ωj), Z, ωj) =
h0x(T (Z, ωj), x(T (Z, ωj), Y, ωj))(d/dZ)x(T (Z, ωj), Z, ωj)� ����
p(T (Z, ω), Z, ωj)[ẋ(T (Z, ωj), Y, ωj)T ′ + xY (T (Z, ωj), Y, ωj)] =
h0x(T (Z, ωj), x(T (Z, ωj), Y, ωj))[ẋ(T (Z, ωj), Y, ωj)T ′+xY (T (Z, ωj), Y, ωj)]� >��
t = T (Z, ωj)� ����
���� h0xẋT

′ �� ��� � ���		��� ��� ψZ �� pẋT ′+pxY −h0xxY �
&�� ���� �	� 
 	�����
�� ���
����'� �����	 ψZ = pxY + η∗T ′−h0xxY � *�����
��� t = T (Z, ωj)� ψZ(T (Z, ωj), Z, Y ) =
p(T (Z, ωj), Z, ωj)xY (T (Z, ωj), Y, ωj) −
h0x(T (Z, ωj), x(T (Z, ωj), Y, ωj))xY (T (Z, ωj), Y, ωj) 
� �����	 (s, y) ��� �����

AJ



T (s, y, ωj) ∈ (T1, T2)� �� ��� C1��������� �� T (s, y, ωj) 
�� ��� �
�� ��
� ����
η∗ = 0� 4�� �%�
���� (0 =)ψZ(T (Z, ωj), Z, Y ) =
p(T (Z, ωj), Z, ωj)xY (T (Z, ωj), Y, ωj) −
h0x(x(T (Z, ωj), Y, ωj))xY (T (Z, ωj), Y ωj) ��������� ����	 
� �����	 (s, y) ���
����� ����� � �	� 
 �
�� 
����� (s, y) �� ����� T (s, y, ωj) �	 ���	�
�� �%�
�
�� T1 �� T2� 	���� ���� T ′ = 0� ��� �����	 (s, y) �� D0(ω

j) � �����	 ���
�� ���	� ��� ����	 �� ���
������ ����� ψY (T (Z, ω), Z, Y ) = h0xxY � ����
[(d/dY )z(t;Y, ωj)]t=T (Z,ωj) = ψZ+ψY = [p(t;Y, ωj)xY (t;Y, ωj)]t=T (Z,ωj).4����

	 �� ��� �����	 �� C���
 0� C���
 A� �	��� ��� ��
�	����
���� �� ��� �����
�� C���
 @� wt = 0, ŵt = 0� �����
w(t, s, y) = [zy(t; s, y, ω

j) − p(t; s, y, ωj)xy(t; s, y, ω
j)]e

∫ t
T −λ(ρ,ωj)dρ,

ŵ(t) = [zs(t; s, y, ω
j) − p(t; s, y, ωj)xs(t; s, y, ω

j)]e
∫ t
T
−λ(ρ,ωj)dρ, T = T (Z, ωj)�

&Z ! ��'� 	� w(t, s, y) = 0, ŵ(t, s, y) = 0� �� �
��� J(s, y, ωj) = z(s; s, y, ωj)
�	 C1 
�� 	
��	!�	 ��� *+,��%�
���� �� D0(ωj) \ (D1(ωj) ∪ D2(ωj))� 4����
��������� 4������ .B ������	 ���� 4������ .@� &	�� 
�	� C���
 J'�

>���
���

?>@� 4�� ����
������ �� ��� �� ���� ����	 �� (t, t+ ∆t) �	

1 − exp(
∫ t+∆t

t
λ(s, ωk)ds) ≈ λ(t+, ωk)∆t� 7���� ��
� ��� ���� τk+1 �
	 ���

������ �� (t, t+∆t)� ��� ����
������ ��� ������� ����	 �	 1−exp(
∫ t+∆t

τk+1
λ(s, ωk+1)ds)�

4�� � ������ �
��� �� φ ��	������ ���� ���	� ����	� ����� ��
� ��� �� ����
�� ���� ������ �	 �������� 4��	 ������	 ���� 8@E9� 8@09 �� �����	�
� &=KK.'

�� ��� � �	����� �� ��� ���	�
��	 αφ, κφ� ����������� ��� �
	� �� ��� �� ����
����	 ��
�	 �� 
 	����� ����� �����

?<@ ,� 8@09�@E9 �� �����	�
� &=KK.'� ��� 	���K ′ ����������� �� i� |φ(τi, x(τ
±
i , ω), ω)| ≤

αx(.,.)+ κx(.,.)K
′(1 + κg)

i ≤ κ̃(1 + κg)
i� ����� κ̃ = αx(.,.) + κx(.,.)K

′� 7���� 
��
������
� [s, s′]� ����� ��� 	��� K�
��8��� �� ���� ����	 �� [s, s′]|τj < s, τj+1 ≥ s] ≤ K|s′ − s|�
��� �� ��� 
		�������	 �� λ(.)� 7���� ��
� τj+1, ..., τk ������	 �� (s, s′)�
|φ(s′, x(s′, ω), ω)−φ(s, x(s, ω), ω)| ≤ κ̂x(.,.)(1+κg)

j|τj −s|+
∑

j≤i<k κ̂x(.,.)(1+

κg)
i|τi+1−τi)|+κ̂x(.,.)(1+κg)

k|s′−τk|+
∑

j≤i≤k |φ(τi, x(τ
+
i , ω), ω)−φ(τi, x(τ

−
i , ω), ω)| ≤

2κ̂x(.,.)(1 + κg)
kT + 2κ̃x(.,.)(1 + κg)

k =: Λk� ?���
∑

k Pr[τj+1, ..., τk ������	
�� (s, s′)|τj < s� τj+1 ≥ s]Λk =: ξ < ∞� 2�������� E[|φ(s′, x(s′, ω), ω) −
φ(s, x(s, ω), ω)||τj < s, τj+1 ≥ s] ≤ Pr[��� �� ���� ����	 �� [s, s′]|τj <
s, τj+1 ≥ s]ξ + Pr[τj+1 /∈ [s, s′]|τj < s, τj+1 ≥ s]κ̂x(.,.)(1 + κg)

j |s′ − s| ≤
K(s′ − s)ξ + κ̂x(.,.)(1 + κg)

j|s′ − s|.
?��� ��
� ��� C��	����3 ��������� �� φ ������	 ���� ��� ��������� ������

A/



����	" φ1(s, x(s, ω), ω) ≤ αx(.,.) +κx(.,.)|x(s, ω)|�φ2(s, x(s, ω), ω) ≤ κ̄x(.,.)� &
	�
8@09�8@E9 �� �����	�
� &=KK.'� (d/ds)φ = φ1 + φ2ẋ� 
�� 8./9�'

=�		
 �2� C�� φi(t, v), i = 1, ..., i∗� �� C1 � C�� Φi
+ := {(t, v) : φi(t, v) > 0}�

��� Φi
− := {(t, v) : φi(t, v) < 0}� C�� A �� ��� ���������� �� 	��	 A :=

Φ1 ∩ Φ2.... ∩ Φi∗ � ����� �
�� Φi �	 Φi
+ �� Φi

−� &������� 
 ����	 	��� �� 

���	 	��� �����	� �
� ������ �� i'� �		��� ��
� ��� 
�� ����� (t, v)� ��� 
�
��	� ��� i� φi(t, v) = 0� �		��� ��
� h(t, v) �	 
 ����� �������� 	��� ��
��
��� �
�� A �� A� h(t, v)|A �
	 
� � ���	��� hA(t, v) �� ��A ��
� �	 C0 × C1�
�		��� ��
�� ��� 
�� A �� A� �� φi(t, v) = 0� ���� φit +φivh

A(t, v) > 0 ��� ����
A = (∩j �=iΦ

j) ∩ Φi
− 
�� A = (∩j �=iΦ

j) ∩ Φi
+� �� ��� ����	��� 	����� ���%�
����

����	 ��� ���	� ��� 	��	 A �

:���� z = (s, w) 
�� ���	���� ��� �%�
����

v̇ = h(t, v), v(s) = w. [108]

4��� ��� ��������� ������	���	 ����" �		��� ��
�� ��� 
�� ����� z = ẑ =
(ŝ, ŵ) ��������� �� 	��� A �� A� ��� 	������� v(t, ẑ) � �	�	 �� [ŝ, T ]� 4��� ���
z = (s, w) ���	� �� ẑ� ��� 	������� v(t, z) �� 8.KJ9 � �	�	 �� [ŝ, T ]� 
��� ��� t /∈
{t : φi(t, v(t, ẑ)) = 0, ��� 	��� i}, t > ŝ� ��
� ẑ� z → v(t, z) �	 ���������	�� ����
�������
���� >�� 	��� t� (∂/∂w)v(t, ŝ, ŵ) �	 ����������� �� ��� �%�
���� �� 8.KJ9
	
��	!�	 	�
��
�� ����
� ������ ���������	� 	
� |h(t, 0)|, |hv(t, v)| ≤ a(t)�
&�������� hv � �	�	'� a(t) ���������	� ���� ��� 
�� �����
� ����� z = (s, w)� 

	������� v(t, z) � �	�	 �� 
�� ����� ������
� [s, T ]� �

����, C�� ẑ = (ŝ, ŵ) �� 
 ����� ����� �� 	��� 	�� A �� A� :� 	�
�� ����
	���� ���� ��� �
	� �� ��� 	����� �������� φ� 
�� ���� ��� 1���		��� �����1
t = t(ẑ) �� (ŝ, T )� ����� φ(t, v(t, ẑ)) = 0� ��� �����
� �
	� ����� 
 �����
�
� ���	���� 4��	� 
		��� ��
� ẑ = (ŝ, ŵ) ������	 �� ��� �� ��� 	��	 A ��
A = {(t, y) : φ(t, y) < 0}, {(t, y) : φ(t, y) > 0}}� 4��� (t′′, v(t′′, ẑ)) ������	
�� ��� ����� 	�� A′ ∈ A ��� t′′ > t(ẑ)� �� ��� �����
������
����� ����������
C�� hA �� 
 C0 × C1�� ���	��� �� h|A �� 
� ���� 	�� �
���� ��
� ��A� C��
vA(t, z) �� ��� 	������� �� v̇ = hA(t, v), v(s) = w� ��� z ���	� �� ẑ� �� �
� ��

		���� ��
� vA(t, z) �	 ��!��� �� 	��� ������
� [a, b], a < ŝ, b > t(ẑ)� 
��
��� 	������� ������	 ���������	�� �� (s, w) ��
� ẑ� s ∈ [a, b]� >�� z ��
� ẑ�
��� t(z) �� ��� !�	� ���� vA(t, z) ���	 ��� 	���
�� S = {(t, x);φ(t, x) = 0}� ,�
��� �����
������
� 
����
�� �� vA(t, ẑ) �� ��� 	���
�� S� t(z) �	 ���	� �� t(ẑ)�

�� vA(t(z), z) �	 ���	� �� v(t(ẑ), ẑ)� �� �
��� �� ��� ����
������
����� ������
����	� t(z) �	 C1 ��� z ���	� �� ẑ� ?��� (t, v(t, ẑ)) ������	 �� A′ ��� t > t(ẑ).
C�� hA′

�� 
 C0
± × C1�� ���	��� �� h|A′ �� 
� ���� 	�� �
���� ��
� ��A′� C��

vA′
(t, z′) �� ��� ���%�� 	������� �� v̇ = hA′

(t, v), v(s′) = w′� ��� z′ = (s′, w′)

JK



���	� �� z̃ = (t(ẑ), v(t(ẑ), ẑ)� &>�� 	��� z� ��� 	������� ���	 � �	� �� 
� ���
����
� [a′, b′], a′ < t(ẑ), b′ > T �' 2�������� vA′

(t, z′) �	 ���������	 �� z′ ��
�
z̃� �� �
������
�� vA′

(t, z′) � �	�	 ��� z′ = z′(z) = (t(z), vA(t(z), z))� z ���	�
�� ẑ� 
�� �� ��� �����
������
� ���
����� ���� S� (t, vA′

(t, z′(z)) ������	
�� A′� ��� t > t(z)� t ���	� �� t(z)� �� �
��� ��� z ���	� �� ẑ� (t, vA′

(t, z′(z))
������	 �� A′ ��� 
�� t ∈ (t(z), T ]� 
�� vA′

(t, z′(z)) �	 C1 �� z ��
� ẑ ��� 	��� t�
-�!�� v(t, z) = vA(t, z)� ��� t ∈ (a, t(z)], v(t, z) = vA′

(t, t(z), vA(t(z), z)), ���
t > t(z)� ����� �	 
 ���%�� 	������� �� 8.KJ9� &��� �� ��� � ���	��� ��������'�
C1 �� z ��
� ẑ� <����	��� ����� ��� 
�� t̄ > t(ẑ)� ����� �	 
 ���%�� 	����
���� v̄(t′; z′′)� z′′ = (t, w), z′′ ��
� z̄ = (t̄, v(t̄; ẑ))� ��!��� ��� t′ �� 
� ������
�
[a′′, b′′]� a′′ < ŝ, b′′ > t̄� ����� C1 �� z′′ ��
� z̄� ?��� w = v̄(t, t̄, v(t̄, (t, w))�
����� ��
�	 ��
� I = v̄3v3� ���� ��� �����
���� v3 �	 ���������� ��� (t, w) ���	�
�� ẑ�

!��������

!������� � ��� ��� ��		������� �� 
 	����� ���� �� � 
���� .� ���� ���
	��
� �
��� ax(T ) 
�� ax(T )2/2� ����� ��� �������	 
	 �
� 
	 ��		�����
&*���" ?�� x(t; s, y, 1), x(t; s, y, 0) ������	 x(t; s, y, 2)� x(t; s, y, 1) ���� ����
�� ��� �
	� �� ax(T )2/2� �� �
�� 
� � ������ ������
 ��� p(t; s, y, 1)� 
	 ẋ = p�

�� ẋ(t; s, y, 1) �	 (����� 4�� ��
��� ����� ��(� �� ��� a = 2�' -��	 �� ��
���
��� �����
� ������� �� � 
���� .� �� ��	��
� �� 
 ���� ����� �� 
		��� ��
�
��� ���� �	 
 	����
	��� �
��
��� V � ���� !���� � ����
���� H

!������� � 5��	���� ��� �������	� ���������	��� ������� �
 E[
∫ T

0

√
udt+

x(T )]� ẋ = x− u� u ∈ R 
�� x(τ+)− x(τ−) = x(τ−)� 4�� ����	 �
� �����
���� �����	��� λ� ����� ��� ��������

!������� " 5��	���� ��� �������	� ���������	��� ��������
 E[
∫ T

0
−(u2/2)dt+

x(T )]� 	������ �� ẋ = u� x(0) = 0� u ∈ R� 
�� x(τ+) − x(τ−) = −(x(τ−))2�
� 	����� ���� �
� ����� ���� �����	��� λ� ����� ��� �������� &*���" 4�
!�� x(t; s, y, 0) ��� (s, y) = (0, 0)� ���	����� 
 	����� ����� �%�
���� ��� ���	
��������'�

!������� % ����� ��� �������	� ���������	��� �������
maxE{∫ 1

0
ln udt +x(1)} dx/dt = −u,∈ u ∈ (0,∞) � x0 = 2,

����� x(t) �
� ���� ���
��	 
� ��	� N ����	� 
�� ��� ����	 ���� ��� 	
��
�����	��� λ� �� ��� ���� ����	 τ, ��� 	�
�� ��
���	 
�������� ��

J.



x(τ+) − x(τ−) = x(τ−).


� >��� ��� �����
� �������	 u(t; s, y, j) ��� j = N,N − 1, N − 2�

�� 4�� �� !�� &
 ��	�������� ��' ��� �����
� �������	 u(t; s, y, N − k) ���
�����
� k = 1, 2, ...

����	
�� 7����
���� u(t, j) = 1/p(t, j)� &?������ p ��� u ������ �� ��� 	�
���
��� ����� (t, x)'� ?��� p(t, N) = 1� 5��	���� ṗ(t, N − 1) := λp − λ2�
���������� p(t) = 2 − eλ(t−1)� &���
�� p(1) = 1'� ?� �� ṗ(t, N − 2) :=
λp− λ2(−eλ(t−1) + 2) 	�� p(t, N − 2) = 4− 3eλ(t−1) − 2eλ(t−1)(t− 1)� :������
p(t, N−k) = ak +ak,0e

λ(t−1) +eλ(t−1)ak,1(t−1)+ ...eλ(t−1)ak,k−1(t−1)k−1� ���
�
	��� �
����
��	 p(t, N−(k+1))� 
�� ����� ��� ��$������ �%�
����	 ��� ��� ���
�F�����	� �� �
��� ak+1 = 2ak, ak,0 = 1−2ak, 
�� ��� i > 0, ak+1,i = 2ak,i−1/i�

!������� ' 5��	���� ��� ������� max
∫ T

0
uγdt+ax(T )� ẋ = dx−u� x(0) = c�

0 < γ < 1� :��� �����	��� λ� x �
� � �������� 
 	����� ���
��	 ���� �� 	�3�
b� >��� x(t; s, y, 1) 
�� ��� �� ������ 
 	����� ����� �%�
���� ����������� ���
	������� x(t; 0, c, 0)� &���������
����" x �	 ��
���� ����� ����	 ������	� �
���
���	 dx� u �	 ���	�������� �� 	�
��� ���� 
�� �
� !��� 
� ��� !��� �����
	���
��� ��
��� �� b�' -��� ��� ���� ax(T ) 
�� ��	��
� ��%���� x(T ) ≥ 0� 
��
�� ��� 	
�� �� ���	 �
	��'

!������� - max
∫ 2

0
xdt� ẋ = u ∈ [−1, 1]� x(0) = 0� x(2) ≤ 1� ����� x �
�

�
�� 
 	����� ���
�� ���� �� ��� ����� ���� �����	��� λ� *���" �	 ���� 
	
�� ���� �
	 ��������� �� �
�� �� ����
�� ���� ��� ���	��
��� x(2) ≤ 0� ����
����	� x(2) ≤ 1 �
� �� ����
���� 
	 
 ���� �
� ����� 
�����
�� ���	� �� t = 2�

����	
�� �� �� 	�
�� �� (s, y)� ��� 
�����
������
������ �������� p(t; s, y, 1) =
(3 + s− y)/2− t� (u = −1 �� (σ′, 2)� ����� σ′ = 3 + s− y)'� ,����� 
 �����
�� ���� 	��( ��� 	������� x(t) = x(t; 0, 0, 0)� ?��� p(t) = p(t; 0, 0, 0) 	
��	!�	
ṗ(t) = −1 − λp(t, t, x(t) + 1, 1) + λp = −1 − λ(3 − x(t) − 1 − t)/2 + λp� 	�

p(t) = heλt + 1/λ− eλt
∫ 2

t
λe−λz[(3 − x(z) − 1 − z)/2]dz� ����� h 
 ���	�
��

	��� ��
� ≤ heλ2 + 1/λ = p(2) ≤ 0� &	� h < 0'� ?��� x(z) ≤ 2 − z� &x(z)
�
���� ���� 
���� 
 ���� ������� &K�=' ���� 	���� −1� ����� �� 2−z'� *�����
(3−x(z)−1−z)/2 ≥ (3−(2−z)−1−z)/2 = 0� �	 p(2) ≤ 0� ��� ��$������
�
�%�
���� ��� p ����	 ��
� p(t) 	�
�	 �����	����� ���� ����� �
�(�
��	� 
��
�� �
�� ṗ(t) 	�
�	 ���
����� �	 p(t) �	 	������� �����
	���� u = 1 ��� t < ρ�
u = −1 ��� t > ρ� 
	��� x(0) = 0� x(2) = 0 �� ��	� �
�� ρ = 1� 4��
	������� �	 ��
	��
��� ������ ����������� �� λ�

J=



!������� . �����
[
∫ 1/2

0
(1 − u)dt+ (x(1/2))2/2] ẋ = u ∈ [0, 1]� x(0) = 1/4� x(1/2) �����

����� 
 	����� ���� ���
��	 ���� �� ��� 	�
�� x �
� ����� ���� �����	���
λ = 2� &*���" ?��� ��
� 
 	����� ����� ��� u ������ ��� ���� ���� �� �����
�� 
� ��	���
��� �%�
�����'

!������� / ����� ��� �����
� 	������� �������
maxE[

∫ T

0
(x− t)dt], ẋ = 0, x(1) = 1, T ∈ [0, 2]� ���� x �
� �
�� ��� ����

���� ���
��	 ���� �����	��� λ�

��,���
���

5�	�
� ��C�S� <
������� 5���-�� -����� >� &=KKK'� �����
� 	������� ����
���������	 ������� �� �������	� ���������	��� 2
�(�� �����		�	� �	�
���	
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